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A MESSAGE FROM THE AUTHORS

Pre-Algebra With Pizzazz! is a series of enrichment books designed to provide practice
with skills and concepts taught in pre-algebra classes.

The authors believe that mastery of math skills and concepts requires good teaching and
also a great deal of practice. Our goal is to provide puzzle activities that make this prac-

tice more effective. We have tried to build into these activities certain characteristics that
increase the effectiveness of practice:

1. Motivating Goal for the Student. Each puzzle has a goal that is motivating to stu-
dents. Students work problems in order to discover the punch line of a joke or riddle,
decode a humorous poem or one-liner, create an interesting picture, etc. Thus, the
solution is a built-in reward to the student when he or she completes the puzzle. In
addition, the variety and novelty of procedures for solving puzzles help capture and
maintain student interest.

2. Knowledge of Results. Various devices are used in the puzzles to tell students
whether or not their answers are correct. In most of the puzzles, feedback occurs
immediately after the student works each exercise. For example, if a particular answer
is not in the code or scrambled answer list, the student knows it is incorrect. The stu-
dent can then try again or ask for help. Additional feedback occurs when the student
achieves a puzzle solution that is appropriate. We have found that students greatly
appreciate and benefit from this immediate knowledge of results.

3. Focus on a Single, Clear Objective. Though review puzzles are included which
involve multiple objectives, most of the puzzles focus on single objectives. The skills
and concepts required for each puzzle are limited so that students with different levels
of ability, though possibly requiring differing amounts of preliminary instruction, can
experience success. In some puzzles, the exercises are sequenced so that students
can discover a pattern, generalization, or method for solving a different type of exer-
cise. Our goal is for all students to feel successful when doing mathematics.

In addition to these efforts to make the puzzles highly effective, we have tried to make
Pre-Algebra With Pizzazz! easy to use. Two lists of objectives—a summary list and a
complete list—and the specific puzzles that provide practice for each objective are given
on pages v—xix. The major objectives of most pre-algebra textbooks are included within
this series. We have tried to arrange the puzzles on a given topic so that each puzzle
builds on skills and concepts previously covered. Nearly all Pre-Algebra With Pizzazz!
puzzles require only one page. Finally, because the puzzles are self-correcting, they help
eliminate the task of correcting assignments.

We hope you enjoy using Pre-Algebra With Pizzazz! as much as we enjoyed writing it.

Steve and Janis Marcy
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Suggestions for Using Pre-Algebra With Pizzazz!

Pre-Algebra With Pizzazz! puzzles can serve a variety of purposes. They are suitable for
classwork or homework practice following introduction of a new skill or concept. They are
ideal for an individualized program, as students can work independently on puzzles selected
to meet their specific needs. Finally, the'puzzles can be a valuable addition to a math lab.

1. Reproduction. Pre-Algebra With Pizzazz! pages may be removed from the binder and
used as blackline masters. The pages are especially accessible and easy to use.

2. Directions. Directions for each puzzle are simple and concise. Most students will have no
difficulty getting started on most of the puzzles, though you may occasionally want to work
through the first problem with your students, showing where the answers are to go, etc. An
overhead transparency of a puzzle may facilitate discussion, especially for puzzles that
include geometric figures. Students sometimes get excited and call out the solution, when
they solve a puzzle, so you may want to caution your class about this before they begin
working.

3. Objectives. Two lists of objectives—a summary list and a complete list (expressed in terms
of learner behaviors)—and the specific puzzles that provide practice for each objective are
given on pages v-xix. These objectives may be helpful in planning or in writing test items.

4. Showing Work. Though some exercises can be done mentally, many require paper-and-
pencil (or calculator) computations. If you require the use of paper and pencil, you may
wish to have students hand in their scratch paper for each puzzle with the work for each
problem identified. If students use calculators, you may want them to hand in a record of
computations performed. Requiring students to show their work can help in diagnosing indi-
vidual strengths and weaknesses.

Other Books by Steve and Janis Marcy published by Creative Publications:

Middle School Math With Pizzazz! Book A  Operations with whole numbers, basic facts,
place value, and numeration

Middle School Math With Pizzazz! Book B Decimals, operations, applications, and
problem-solving strategies

Middle School Math With Pizzazz! Book C  Fraction concepts and operations, number
theory, and relating fractions and decimals

Middle School Math With Pizzazz! Book D Measurement, geometry, area, perimeter,
angles, square roots, and right triangles

Middle School Math With Pizzazz! Book E Percent, probability, ratio and proportion,
statistics, integers, and equations

Algebra With Pizzazz! Practice activities for first-year algebra
students
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PART AA
SUMMARY TABLE OF OBJECTIVES

1. Concept of Positive and Negative Numbers........... 1-5

2. Integers
Addintegers. . . .o oo i 6-11
Subtractintegers . . .. ... e 12-14
Add and subtractintegers . ............ ... 1517
Multiply integers. . ... ... o i 18-20
Add. subtract. and multiply integers . . . ................. 2
Divide integers. . . . ..ot 22-23
Add. subtract. multiply. and divide integers, , . ......... 24- 25

3. Fractions
Find equivalent fractions .. ....................... 2
Addfractions . .. ... ... 28
Subtract fractions. . . . ..o oo 31
Add and subtract fractions . . . . ... . e 32-35
Multiply fractions . .................. e 36- 38
Findreciprocals. . . ..o oo v i 39
Divide fraCtions . .+« v v v v it i e e e e e 40-41
Add, subtract. multiply. and divide fractions ........... 42- 43

4, Decimals

Express a fractionas adecimal - - - .. .. oo 44
Add and subtractdecimals. - -« -« oo 45-47
Multiply decimals . . . . . .o oo i . 48-49
Add, subtract. and multiply decimals . . ................. 50
Multiply and divide decimals by powers of 10............. al
Divide decimals « -+« v v v v it e 52-53
Add, subtract. multiply. and divide decimals . .......... 54- 55
5. Properties of Operations
Apply propertiesof zeroandone - -+« ... oL 56- 57
Apply the commutative and associative properties - - . . . . . .. 58
Apply the distributive property. . - -« oo oo v i oo 37.59-60
B. Test Of GENIUS « + « + + v v v vt vt v it i i s s a e 61
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PART AA
COMPLETE TABLE OF OBJECTIVES

The student will be able to:

1. Locate a point on the numberline ................... 1-2
2. ldentify numbers greater or less than a given number . .. ... 3
3. Use arrow diagrams to represent numbers. .. .......... 4-5
4. Add negative integers - -« - oo 6
5. Determine addition equation represented by
arrow diagram .................................. 7-8
6. Add positive and negative integers. . . ... ... ... ... 9-11
7.Subtractintegers « -« - e 12-14
8. Add and subtractintegers .............. ... ... 15-17
9. Multiply a positive integer times a negative integer. . ...... 18
10. Multiply positive and negative integers. ............. 19-20
11. Add. subtract. and multiply integers .. . . .......... ... ... 21
12. Divide integers. . .« oo v 22-23
13. Perform all four operations with integers. . ........... 24-25
14. Reduce a fraction to lowestterms . ................... 26
15. Find a fraction with a given numerator or
denominator equivalent to a given fraction. . ............ 27
16. Add rational numbers named by fractions
with a common denominator . ....................... 28
17. Add rational numbers named by fractions
with unlike denominators . . . . ......... .o i 29
18. Add rational numbers named by mixed numerals. . ....... 30
19. Subtract rational numbers named by fractions
and mixed nUMErals . .........uiinnn e 31
20. Add and subtract rational numbers named by integers.
fractions. and mixednumerals . . .................. 32-35
21. Multiply rational numbers named by integers and fractions. . 36
22. Multiply rational numbers named by integers
andmixednumerals . .........u i 37
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23.

24,
25.
26.

27.

28.
29,
30.
31.

32.

33.

34.

35.
36.
37.

38.

Multiply rational numbers named by integers. fractions.

and mixednumerals . ...... ... . i 38
Find the reciprocal of a fraction or mixed numeral . .. ..... 39
Divide rational numbers named by integers and fractions. . . 40
Divide rational numbers named by integers. fractions.

and mixednumerals . .......... ... . i 41
Perform all four operations with rational numbers named

by integers. fractions. and mixed numerals. . ......... 42-43
Express a fractionasadecimal . . .................... 44
Add and subtract rational numbers in decimal form. . . . . 45-47

Multiply rational numbers in decimal form. . .......... 48-49
Add. subtract. and multiply rational numbers

indecimal form .. ........ . 50

Multiply and divide rational numbers in decimal form

by powers of 10. . ... .o v it 51
Divide rational numbers in decimalform. . ........... 52-53
Perform all four operations with rational numbers

indecimalform ........ ... .. ... .. . .. ... 54-55
Solve equations using the properties of zero ............ 56
Solve equations using the propertiesof one. ............ 57

Apply the commutative and/or associative properties to
determine whether or not two expressions are equivalent. . . 58

Apply the distributive property to solve equations
orproblems . ..... ... ... 37. 59-60
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PART BB
SUMMARY TABLE OF OBJECTIVES

1. Exponents

Evaluate an expression containing an exponent. . . .. . .. 62-64

Operate withpowersof 10. .. ..................... 65-67
2. Decimals

Express a number in expanded notation as a decimal . .. . .. 68

Express a fractionasadecimal ................. 69, 71-73

Roundoffadecimal. .. ......... ... ... . ..., 70

Express a repeating decimal as a fraction ,, ., ............. 74

3. Scientific Notation

Write a number in scientific notation. . . .............. 75-77
Operate with numbers in scientific notation. . . ......... 78-79
Use scientific notation in estimation. . .................. 80
4. Introducing Irrational Numbers . . ................. 81-82

5. Ratio. Proportion. and Percent

Express a ratio as a fractionin lowestterms ............. 83
Solve a proportion or a problem using a proportion. . . . .. 84-86
Translate a word expressionto apercent. . .............. 87
Express a percentas afraction .................... 88-89
Express a fractionas apercent ................. 90. 92-93
Estimate a percentof anumber.................. .. ... 91
Expressapercentasadecimal..................... .. 94
Find apercentof anumber ....................... 95-99
Find what percent one number is of another. ........ 100-102
Find a number given a percent of the number . ... ... 103-104
Perform all of the above three operations. .. ........ 105-108

6. Probability

Find the probability of an event: -+« «+ oo vviv it 109-114
Evaluate an expression containing factorial symbols. - - - - . . 115
Find the number of permutations or combinations- - - - - 116-117
7.TeStOf GENIUS =+ v v rr v 118
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PART BB
COMPLETE TABLE OF OBJECTIVES

The student will be able to:
1. Evaluate an expression containing a positive exponent . . ., 62
2. Evaluate an expression containing a negative exponent 63-64
3. Multiply powers of 10+« « oo oo 65
4. Divide powersof 10 . . ... .. . 66
5. Multiply and divide powers of 10 -+ - ... ool 67
6. Express as a decimal a number given in expanded notation. 68
7. Write a decimal for a fraction or mixed numeral that has
a power of 10 in the denominator- - - - -« . ... .. oL 69
8. RouNd Off @ deCIMal: « -+ = = = e et ettt et e i, 70
9. Express a fraction as a decimal rounded off to
the nearestthousandth . . . ... ..o i, 71
10. Express a fraction as arepeating decimal .. ............ 72
11. Express a fraction as amixed decimal . . . . ............. 73
12. Express a repeating decimal as a fraction - ... .......... 74
13. Represent a given decimal numeral in
scientific notation. and conversely . ................ 75-77
14. Multiply numbers in scientific notation . ................ 78
15. Divide numbers in scientific notation .. ................ 79
16. Use scientific notation to estimate a product or quotient - . . . 80
17. Determine whether a decimal names a rational or

18

anirrationalnumber. . ... ... . 81

. Demonstrate comprehension of basic concepts and
vocabulary related to the set of real numbers. . .......... 82
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19.
20.
21.
22.
23.
24,
25.

26.
27l
28.

29,

30.

31.

32.

33.

34.

35.

36.

37.

Express a ratio as a fraction in lowestterms ............ 83
Solve aproportion . « .« v 84
Solve problems using proportions. . . ............... 85-86
Translate a numerical or word expression to a percent, , . . . 87
Express a percentas afraction ................... 88-89
Express a fractionasapercent ., .............. 90, 92-93
Select the best estimate for the percent equivalent of

a fraction or for a percentof anumber................. 91
Expressa percentasadecimal...................... 94
Findapercentof anumber ...................... 95-96
Find the cost of a discounted item given the original price.
percent discount. and percentsalestax................ 97
Find the interest on a loan given the principal.

interestrate. andtime . .......... . i 98
Solve problems involving percents less than 1%

orgreaterthan 100%. . . . . ..ot vttt e 99
Find what percent one number is of another. . ... ... 100-101
Find the percent increase or decrease in a variable . . . . . . 102
Find a number given a percent of the number. . .. ... 103-104

Find a percent of a number; find what percent one number
is of another; or find a number given
apercentof thenumber.......... ..ot 105-108

Give the probability of an outcome in a simple
probability experiment . . .. ... 109

Find the probability that either of two mutually exclusive
events will occur in one trial of an experiment. . . .. ...... 110

Find the probability that the union or intersection of
two events will occur in one trial of an experiment. . .. .. .. 111
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38.

39.

40.
41.

42.

Find the probability of an event when the outcomes are
ordered pairs (e.g., two coins, two dice) ........... 112-113
Find the probability of an outcome resulting from

repeated trials of an experiment. . . .................. 114
Evaluate an expression containing factorial symbols. . . . . . 115
Find the number of permutations of n things

takenratatime. .. ... e 116
Find the number of combinations of n things

takenrat atime. -+ vt v v v vttt st s e e e 117
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PART CC
SUMMARY TABLE OF OBJECTIVES

1. Geometric Figures
Demonstrate knowledge of angles and angle

relationships. .. ........ .. ... .. . oL 119-124
Namepolygons .......... ... ..., 125-126
Demonstrate knowledge of circles and parts of circles 127-128
Identify congruent figures or parts of figures . . . ... ... 129-131
Select the theorem that proves two triangles are congruent 132
Apply knowledge of similar triangles. .. ................ 133

2. Measurement
Measure a line segment witharuler. .. ................ 134
Convert units of length from one metric unit to another 135-137
Find the perimeterof afigure . .. ................. 138-142
Give the number of significant digits in a measurement . ... 143
Determine the greatest possible error of a measurement . . . 144
Roundameasurement. ... .............. ... ... 145
Find the areaof afigure........................ 146-152
Find the volume or surface areaofasold .......... 153-157

3.8SquareRoots . .......... ... ... ... 158-161

4. Pythagorean Property
Find the hypotenuse of a right triangle given

the othertwosides. . ............... ... ... ... 162, 164
Determine whether or not a triangle is a right triangle. . . . . . 163
Find any side of a right triangle given the other

twosides . ....... ... 165-166

5. Trigonometric Ratios . . . . ..................... 167-170

6. Statistics
Find the range, mean, median, or mode

forasetofdata............................ 171-172
Interpret and construct graphs of data . ............ 173-178
7.TestofGenius .............. ... ... ... ... 179
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PART CC
COMPLETE TABLE OF OBJECTIVES

The student will be able to:

1. Demonstrate knowledge of the basic vocabulary
relatedtoangles .............. ... ... .. .. . . .. . .. 119
2. Apply knowledge of related angles and sum of angle
measures of a triangle to determine the measures of angles
ina geometricfigure. . ........................ 120-121
3. Measure an angle with a protractor ... ............ ... 122

4. |dentify angles formed when parallel lines are cut by a

transversal and determine the measures of these angles
given the measures of related angles . . .. ......... 123-124

. Select names that are appropriate for a given quadrilateral 125

6. Demonstrate knowledge of the basic vocabulary

relatedto polygons . ... ... ... ... . . . . ... . . . . . ... 126

. Demonstrate knowledge of the basic vocabulary

relatedtocircles. ... ...... ... .. .. . . . 127-128

8. Pair congruent figures by observing their shapes and sizes 129

11.

12.
13.

14.
15.

16.
17.

. Identify corresponding parts of congruent triangles . . . 130—131
10.

Give the theorem (side-side-side, side-angle-side, or
angle-side-angle) that proves two triangles are congruent 132

Apply knowledge of similar triangles to find the length of

anunknownside . ...... ... ... L. 133
Measure a line segment with a ruler (metric units) .. ... .. 134
Convert a measure of length from one metric unit

toanother ... ... ... ... 135-137
Find the perimeter of a polygon ... .......... 138, 140, 150
Find the length of a side of a polygon given

related measures . ......... ... .. ... 139
Find the circumference of acircle. .. ................. 141

Find the perimeter of a figure composed of line segments
andsemicircles . ......... ... . e 142
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18.
19.
20.
21.
22,

23.
24,

25.

26.
27.
28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

Give the number of significant digits in a measurement . . . 143

Determine the greatest possible error of a measurement . . 144
Round a measurement to a specified place ............ 145
Count the number of square units in the area of a figure. . . 146

Find the area of a parallelogram or figure

composed of parallelograms. . . ................. 147-148
Find the areaof atriangle ..................... 149-150
Find the area of a circle or figure composed of

rectangles, circles, or semicircles . ... ............ 151-152
Find the volume of a rectangular solid or figure

composed of rectangularsolids ................. 153-154
Find the volume ofaprism......................... 155
Find the volume of apyramid. ...................... 156
Find the volume or surface area of a cylinder, cone,

orsphere. . ... e e 157
Demonstrate understanding of the meaning of square root 158

Estimate the positive or negative square root of a number
by naming two consecutive integers between which
therootlies ........ ... .. 159

Use a square root table to find the approximate

square root of a number or find a number given its

approximate square root . .......... .. i 160
Demonstrate understanding of concepts related to

square roots and irrational numbers. . ................ 161
Find the length of the hypotenuse of a right triangle

given the length of its othertwo sides. .. ... ... .. .. 162, 164
Determine whether or not three given numbers are

possible measures of the sides of a right triangle . . . .. ... 163
Find the length of any side of a right triangle given

the length of its othertwosides ................. 165-166
Give the sine, cosine, and tangent for an acute angle

of a right triangle given the length of its sides. . ......... 167
Interpret a table of trigonometric ratios. .. ............. 168
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38.

39.

40.
41,
42,

43.
44,
45,

Use a table of trigonometric ratios to find the length
ofasideofarighttriangle .. ....................... 169
Use a table of trigonometric ratios to find the measure

of an angle of arighttriangle . ... ................... 170
Find the range orthe mean of asetofdata .. .......... 171
Find the median or the mode of asetofdata........... 172
Construct a histogram for a set of data and find the

percent of scores within each interval. .. .. ............ 173
Interpret a line-segmentgraph . ................. 174-175
Interpretacirclegraph. . ......... ... ... ... ..., 176

Construct a circle graph illustrating a table of data ... 177-178
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PART DD
SUMMARY TABLE OF OBJECTIVES

1. Variables and Expressions

Simplify a numerical expression. .. ................... 180
Simplify a variable expression by combining

liketerms . ... ... ... . . 181, 184-185
Evaluate a simple expression .. .............. 182-183, 186
Simplify an expression containing parentheses. .. 187-188, 190
Evaluate an expression containing parentheses.......... 189
Simplify an expression containing exponents . ....... 191-193
Evaluate an expression containing exponents. . ...... 194-195
Evaluateaformula............... ... ....... e 196

2. Equations
Determine if a given value is a solution of an

opensentence........... ...t 197-198
Solve an equation requiringonestep . . ............ 199-205
Solve an equation requiringtwo steps .. ........... 206209
Solve an equation that contains parentheses . ....... 210-211
Solve an equation that has the variable in

bothmembers .. ......... ... ... ... ... ... 212-213

3. Problem Solving
Translate an English phrase into algebraicterms . ... ... .. 214
Solve a simple one-number word problem .. ........ 215-216
Solve a two-number word problem . . . . ............ 217-218
Solve a word problem that requires a more
complexequation. . .............. ... .. ..... 219-221
4. Inequalities
Graph the solution set of a simple inequality ............ 222
Solve aninequality. . ............ ... . 223-225
Find the union or intersection oftwo sets . .. ........ 226228
Graph the solution set of a compound inequality ......... 229
5. Functions and Graphing
Graphorderedpairs. . .............. .. ... 230-232
Find ordered pairs satisfying a function, and graph

thefunction . ......... ... ... .. ... ... ... 233-237
Determine if a given ordered pair is a solution of

asentenceintwovariables .. ..................... 238
Solve an equation for yintermsof x . ................. 239
Graphalinearequation............................ 240
Solve a system of linear equations by graphing . ......... 241
Graph a linearinequality. . .. .................... 242-243

6.TestofGenius ...........................ccou... 244
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PART DD
COMPLETE TABLE OF OBJECTIVES

The student will be able to:

1. Simplify a numerical expression that contains

groupingsymbols. . . .. ... ... 180
2. Simplify a variable expression by combining
llketerms . ........ . .. . ... 181, 184-185
3. Evaluate a simple expression given a whole number
value foreachvariable. .. ......................... 182
4. Evaluate a simple expression given an integer value
foreachvariable ............................ 183, 186
5. Simplify an expression that contains parentheses
(all positiveterms) . . ... ... ... . 187
6. Simplify an expression that contains parentheses
(positive and negativeterms) . . . ............ .. ..., .. 188
7. Evaluate an expression that contains parentheses,
given a value forthe variable . ..................... 189
8. Simplify an expression that involves the subtraction
ofapolynomial ...... ... ... .. .. ... 190
9. Simplify an expression that contains exponents
by combining liketerms . .. ... ... .. oL 191
10. Multiply monomials .. ............. ... ... ... ... .. 192
11. Find apowerof amonomial. . . ..................... 193
12. Evaluate an expression that contains exponents,
given a value foreach variable. . . ............... 194-195
13. Evaluate a formula given a value for each variable. . . . . .. 196
14. Determine if a given value is a solution of an
opensentenCe. .. ...... ... 197
15. Select the solution of an equation from a
givenreplacementset .............. ... ... 198
16. Solve an equation using addition . .. ............. 199-200

17. Solve an equation using multiplication (integral coefficients) 201

18. Solve an equation using multiplication
(unit fraction coefficients) . .. ............ ... o oL 202

19. Review of the three objectivesabove. ... ............. 203
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20.
21.

22,

23,
24,
25,

26.
27.

28.

29,

30.

31.

32.
33.
34.
35.

36.

37.

38.

39.

Solve an equation using multiplication ............ 204-205
Solve an equation using both addition and multiplication
(integral coefficients) ......................... 206-207

Solve an equation using both addition and multiplication
(integral or fractional coefficients) . .. .. .. e 208-209

....... 210-211
Solve an equation that has the variable in both members . . 212
Solve an equation that contains parentheses and

Solve an equation that contains parentheses

that has the variable in both members .............. .. 213
Translate an English phrase into algebraicterms .. .. .. .. 214
Solve a word problem that involves one number, which
translates into a simple equation .............. .. 215-216
Solve a word problem that involves two or three

numbers, which translates into a simple equation . . .. 217-218
Solve a word problem that translates into an equation

which has the variable in both members. . ............. 219
Solve a word problem that translates into an equation

which contains parentheses and/or which has the

variable inbothmembers. . ... ..................... 220
Solve a word problem that involves the perimeter
ofarectangleortriangle .......................... 221

Identify the graph of the solution set of a simple inequality 222
Solve an inequality using either addition or multiplication . . 223
Solve an inequality using both addition and multiplication . . 224

Solve an inequality that contains parentheses and
that has the variable in bothmembers . ... ............ 225

Find the union or intersection of two sets given the
elementsofeachset............ ... ... ... ... .... 226

Identify the graph of the union of two sets expressed
asinequalities ... ...... ... .. ... . . 227

Identify the graph of the intersection of two sets
expressed as inequalities. . .. ...... ... ... ... ..., 228

Identify the graph of the solution set of a
compoundinequality ................ ... .. ... ... 229
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40.

41.

42,

43.
44.

45.
46.
47.

48.

Graph ordered pairs on a rectangular

coordinatesystem . .......... ... ... ... ....... 230-232
Find ordered pairs that satisfy a linear function

and graphthefunction........................ 233-234
Find ordered pairs that satisfy a quadratic function

and graph the function .. ...................... 235-236

Find ordered pairs that satisfy more complex functions. . . . 237
Determine if a given ordered pair is a solution

of asentenceintwovariables ...................... 238
Solve an equation for yintermsof x . ................ 239
Graph a linear equation in two variables. . .. ........... 240
Solve a system of linear equations in two variables

bygraphing . ... ... ... 241
Graph a linear inequality in two variables . .. ....... 242-243
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- FIND THE MESSAGE -

TO FIND THE HIDDEN MESSAGE, FOLLOW THESE DIRECTIONS:

Each row going across has 7 rectangles. Only 3 of them contain a number
that meets the requirement for that row. Circle these 3 numbers in each row.

Over each number you have circled, notice the small number and letter.
The small number tells you where to put the letter in the row of boxes
at the bottom of the page. You will spell out a five-word message.
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WHAT DID THE SNOWPLOW
SAY ABOUT THE BLIZZARD?

Each arrow below represents a number. Find the number in the boxes at the bottom of
the page and write the corresponding letter above it. When you finish, you will know
the plane truth!
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When daes 2 BARBERSHOP QUARTET have 18 legs

TO ANSWER THIS QUESTION:

1. Identify the number represented by each arrow in the 8 exercises on
the left.

2. Determine the number that goes in each lettered box in the table on
the right.

After doing each exercise, find your answer at the bottom of the page and

write the corresponding letter above it.
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DECODE DESJIEN  pacE?
DIRECTIONS:

Each arrow diagram on page 2 represents a number sentence. Find the
number sentence for any of these diagrams in the answer columns below.
Notice the CIRCLE DESIGN next to the answer.

Find the CIRCLE DESIGN of your answer in the code at the bottom of the
page. Each time it appears, write the letter of the arrow diagram above it.

KEEP WORKING AND YOU WILL DECODE A “SONG FOR SAIL!”

O 6+7=-1 @Q20+5=-15() ~10+20=10
40 +40=0 (O) 3+5=2 (O) 60+ 40 =20
10+4=6 [O)6+8=2 (@ 3+3-0
25 + 25 =0 () 30 + 50 = 20(0) 10 + 25 = 15
2+6="4 (Q 5+7=2 ©5+-1=4
4+2=2 () 8+-12=-4 (O 6+4="2

TITLE: A SONG FOR SAIL
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+ SUM UP +

Do any exercise below and find your answer in the code key. Notice the letter
above it. Print this letter in the box at the bottom of the page that contains the
number of the exercise. Keep working and you will create a special message.

CODE KEY
w|G|H]|D|L|S|A[E|O]|Y]|I|U|T|C|M|R|P|N
-18|-15}-13|-10}-8]-7]-6|-4|-3-1| 0| 2| 3| 4| 5| 7| 8| 14|17
A1) 8+2= 47 2+ 9= 33 8+ 1=
2) 6 +8= 149 -9 + 4 = 34 3+ 6=
3) 5+ 9= 19 -7 +3= B9 2+7-=
@ -9+1= @0 3+4= B3 5+ 1=
B5) 3+-1= @) ~7+ 8= BD ~1+4=
6 -1+5= @) 4+ 8= @9 4+-7=
-3+6= @) 6+9= B9 4 +6=
(8) 9+—2= @4 10 +3 = @09 9 + 6 =
(9 3+3= @5 6+ 7= @) 7+-20=
40 5+ 9= @6 ~9+6= @2 -15+8 =
A1) -7+ 3= @) “3+5= @3 7+ 3=
42 8 + 8 = @9 2+ 5= @9 -1 +8-=
13 -1+ -6 = 29 ~7+9-= @9 3+ 9=
149 20+ 7 = B0 8+ 5= @6 ~1+9=
19 9 +-9= B) “1+-2= @7 8 +—12 =
46 -7 +1 = 8) 8+9= @8 3+ -4 =
11213]4]5|6}17|8]|9|10[11|12|13]14]15}16]17]18]19]20]21|22|23]|24

N

5|26|27]28|29]30|31]32|33|34|35]|36|37|38]|39|40]|41]42]|43]44]45|46{47]48
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HOW'S BUSINESS?

SOLDIER: “Mineis

3037 -2 8 -37 22-87 59 8 -78-87 —47 —2

BOXER: “Mineis

STEAK
SAUCE R

MAKER: “Mineis
=19 0 2 "2 59 257 722 -2 ~186 5978 2

MATH "
TEACHER: “Mineis .

“78 26 0 378 8 0 ~2249-9320783 59

846 161 ~78 "2 -2 ~186

EACH PERSON ABOVE IS ANSWERING THE QUESTION, “HOW’S
BUSINESS?” TO DECODE THEIR ANSWERS:

Do any exercise below and find your answer in the code above. Each
time the answer appears in the code, write the letter of that exercise
above it. Keep working until you have decoded all four responses.

(1) 10+-32= (F) -85+ 48 =
B -15+41= (P) -16+-77 =
% -39 + ~44 = (L) 63+ 98 =

27 + 86 = (1) -105+ 113 =
(M) 61 +-12 = (0) -50 + 50 =
(K) 75+ 28 = (Y) 737 + -923 =
(B) 37 + 41 = (N) 285 + 198 =
(D) 165 + 92 = (C) -457 + -389 =
(W) 54+-73 = (R) 95+ 93 =
(4) 83 +-53= -95+93=
(U) -48 + 85 =
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Why did the BICYCLE go to a PSYCHIATRIST ?

TO ANSWER THIS QUESTION, FOLLOW THESE DIRECTIONS:

Add the four numbers touching any letter below and write the sum next to
the appropriate letter. Then find your answer in the code at the bottom of
the page. Each time the answer appears in the code, write the corresponding
letter above it. Keep working and you will decode the answer to the question.

CODED
ANSWER: 174 —-115 —103 -113 76 —108 22 -108 34 -291

34 216 149 174 —-108 -113 34 —-62 —25 216 166 34 —291 —23 —69
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What Did the Mama Cow Say to the Baby Cow?

TO ANSWER THIS QUESTION, FOLLOW THESE DIRECTIONS:

Draw a straight line connecting each exercise with its correct answer. Each
line will cross a number and a letter. The number tells you where to put the
letter in the row of boxes at the bottom of the page.

2 N I T I Y NS
15 - =6 u m 9
15-6 = (2 (4) O
15--6 = 1) (T) = 53
15-6 (15) O . 120
8330 = . 21
-83 — -30 = ® (1) @ . 53
30 - 83 = @ @ @ s 24
I e @,
78 — 78 m m 95
60 ——60 = (1) @® (E) ® = 113
47 — 77 m m 95
~47 — 77 = ®® @® x —124
1943 = . 9
-36 — —18 = \D © . 27
55 —-740 = m 30
40— 55 = @ @ m ~15
40 — 55 m @) © x -18
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DAFFYNITION DE

ODER

TWIN:
“980 ~7 5181 476 ~7 534 19 542 73 ~115 476 ~382
CARROT
JUICE:
254 476 19 542 534 ~129 ~7 ~980 607
MALE
SURFER:
60 476 ‘7 '129 633 542 19 ‘444

TO DECODE THESE THREE DAFFYNITIONS FOLLOW THESE ’

DIRECTIONS

"129 476 19 589

Jooge oo sletesds oﬁ,o
s

Work any problem below and find your answer in the code. Each time  :
the answer appears in the code, write the letter of that problem above |t

KEEP WORKING AND YOU WILL DECODE DEFINE PRINT

78 + 37
—562 — 45 =
~81 — 7623
762 + 129 =
17 — 399 =
~808 + 219 =
445 — ~89 =
356 + ~800 =
490 + 7490 =
671 — 925 =

I

Temperature in Tahiti: 27°C.
Temperature in Siberia: ~33°C.
What is the difference in these
temperatures?

@g@@@@@@@@@@

—°C
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Horatio Hornswoggle was born:
57 B.C.

Horatio Hornswoggle died:

16 A.D.

How old was Horatio when

he died? years

Bank account balance: $357.
Check written for: $486.
What was the new balance? . J
Altitude of mountain climber:

4572 meters.

Altitude of submarine

commander: ~609 meters.

What is the difference in these

i 2
altitudes” meters

The Roman Republic was
established: 509 B.C.

The Roman Empire fell 985
years later.

In what year did the Empire fall?
Altitude of scuba diver:

~12 meters.

Altitude of shark: “31 meters.
What is the difference in these

altitudes? meters

Temperature at 8:00 A.M.: ~15°C.
Temperature rose 8°C during the
next hour. What was the

temperature at 9:00 AM.? _____°C
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Why did the ant run across the cracker box?

Do any exercise below and find your answer in the corresponding answer column. The
letter of the exercise goes in the box that contains the number of the answer. Keep
working and you will discover the answer to the title question.

@15+ 7 = @97 ¢ [@15+3) +14= ~1
A8 — -21 = 8)-27 * [E)(-10+5)(2) = (4)3
[D](3) (-9) = 2950 o [H(3-4)+7= 10 -55
[H]-24 « 4 = 13 -8 e [D](-9-6) +~4 = (7) 30
[E]-9 + 13 = 256 e [0](-30 --22)-6 = 12 -58
[0](-2) (-25) = 36 -5 :@(20-:-4)-—11: 34) 100
[L]-50 — 30 = (5)29 o [E](28 --10) -7 = 30 9
G]-56 + -8 = (8)-80 o [1](-13 +—12) (-4) = (31) 31
[E]32 + -37 = (3)-22 ¢ [L](4-76) +-8= (21)-48
O..C.O0.0...0..0...:......O.Q.Q......O......
[1]-5-20 = (9)12 ¢ [El(6+17)—20 = (18) 14
[T]30 +—2 = A1) -100 & [A](-64 + 2) + -2 = (20) 2
[A]-9 ——19 = @) 77 3 [Bl(-5- 6)-—87 = 16)-9
[N]-7--11 = 26)-14 ® [T](-40 + ~50) + 9 = 35 —12
[0-7 +-11 = @9 -15 ¢ R](-13--2) +-12 = (6)-87
[S]-60 + -5 = OZE @(42—-7)——6= @7 75
T]12 — 36 = (33 26 * [D](-5 - ~30) (3) = 15 72
@2%- = 19-18 o [LJ(12+-18) +-15= 29 -10
LI=5 - 17) 10 o [T)(-8--8) - 8= 19 16
0000000000 O0C0COIOOOGOOOOFOCOCOCOCGOOCOOOCOC
112]3[45[6[|7[8]9[10[11]12[13]|14[15 16 17 |18
SEIRE X E R Y PEXE IR LY
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Wihat did the. /™

B30V VOLCANO say to

the GlRL W@i@AN@ 7

TO DISCOVER THE ROMANTIC WORDS OF THE BOY VOLCANO:

Do any exercise below and find your answer at the bottom of the
page. Shade in the letter above each correct answer.

WHEN YOU FINISH, THE BOY VOLCANO'S WORDS WILL REMAIN!

o/ T T

(XXX X=X

—178 + 345 =
—403 — 177 =
(7397)(8) =
—2632

_7 -
690 + —255 =
800 — 7499 =
(756)(790) =
-7080

0
-83 + 24 + —19 =

—2094 — 67 =
(F12)(712)("12) =

4956

-84
“15+ 19 + 726 + 11 =
232 — ~508 =

—9)(6)("7)(8) =

EREEEREEE®E
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JUMBLED JIGSAWY ”‘

DIRECTIONS:

This puzzle provides practice in reducing fractions. First cut out the 25 square
puzzle pieces below. Then arrange the pieces so that each fraction that can be
reduced is next to its equivalent fraction in lowest terms.

When the pieces are properly arranged, the letters inside the pieces will form a
special message!

2 D 5 7 & -3 \ 7
1 > -28 ° -10] 3 12 1 19 20 | 1 14
< |Al 30 Gls | A 3 | 5|7 |El 35
12 257 5 24 g 80 9
14 Y 60 54 ¥ 90 21
1 ™ 3 6 2 &
2 2 4 7 3
-5 -3 3 -4 -10f-14 24 f 2
5 IS| 78 Ll 5|5 Tl Ylsols I
25 g 30 —14 S 21 )
40 35 16 10 36 X
3 ), 6 < 7 -4 &
— I.”ii r— "4 —m——— X
5 ! 44 ! 3] -5 1 2 8 °
- -3 1 - 5 |- s 2
+ INl sl 22| 7 IRl 20| 5 [El 7815 N
“14 & 15 6 -5
35 ¥ 18 20 1 2
4 LA\ 1 A 4 < il
9 3 3 EER, 1
3 -1 -351 7 8 -40 -4
0 IS 7 |D 50 |76 S| 13 ;..W 56 E 28
—27 21 7 12 $
36 <A 4 D\ 45 ¥ 16 Z D
Ry AN i -5 8
1 4 ; 15 8 8 9
- - 9 |7 7 1 1 g |1 15
16M 12G'1€1oo42TW'é€’§'W§6
———8— 3 j—@ P, o . Q _2__8_.
1 A 24 55 Sl P 80 h
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XX DOUBLE CROSS XX

1. What do you get when you cross A HUNTING DOG WITH A TELEPHONE?

18 24 100 12 30 24 12 30 18 30 10 3 30 12
2. What do you get when you cross A MOTORCYCLE WITH A JOKE BOOK?

7 41 45 67 5 7 418 1 7 1 -7 3 1 A7 1
3

7 29 -7 -1 -7 17 -7 11 -7 17 -1 17 7T

18 48 18 20 18 24 18 24 18 24 18 24 18
3. What do you get when you cross FIVE PIGS AND FIVE DEER?

13 5 -89 -13 1 19 9

24 12 0 15 18 6 20

G 0 0 0 0 00 06 0 b & oo .o .o .0 0.0 0 0.0 0 & 0 0 0 0 0 0 0 0 0 0 0 0 00 000 0.0,
L) 00.“.“.“‘“.“.“.“.“.“.“.“.N‘“.“.“.Q0.“‘M.“’“.“.”.“.“.“.“.“.O 0.“.“.“‘“.“.0 0’“.“.“’“.“.“.0‘0.“.01

% TO DECODE THE ANSWERS TO THESE THREE QUESTIONS: )
:: Do any exercise below and find your answer in the code. Each time the answer :
& appears in the code, write the letter of that exercise above it. )
.§. ggEP WOCRgYONSGSIAND YOU WILL DISCOVER WHAT YOU GET FROM EACH .
”oe UBLE ! L
oiuzﬂzw:“:»:oozuto0:“:“:00:»:“?0:00;“:“:“:0Q:“:u:oo:“:u:u:“:w:“:“’“:u?o:“:n:“:u:“:“:“:Qo:“:“:nzoo:
— O o — — L 0 bl -
%""‘ ;“-— 0§0 0§0 %"l— %: o 0§0 @ g-'-:i—g:
:§: & & :§:
4 1 _ O 1, 7_ DS 3, 73 _
@ g E - .0 0§0 ® Z + -é - 020 020 -5- 5 -
L <4 030 0§0 0§0 :
@71+7-  FEWU+iz- PE(D3+-
— = s _ £ = s = 42 =
3 8 P 15 5 $ b 10 © 100
IR DR
-4 3 S & @ -1, -5 S & @ 3,13
-+ == $ s —_— - = 'x b4 —_ —_— =
)73+ A AP $ 300
-1, -2 e 4 ® 2, ~1_ TE @ 1, 5_
@ 5+ 3 ozo o:o §+'-I-6— 0” 0:0 §+6—
0§0 Q§. 0:0 0§0
C) 5,77_ o 4 | 1 o "1, 72
-+ == .:. .:. @ - - ,2 .t @ - ==
6 12 TN et g G R
3 0§0 0§¢ 0§0 0§0
- 5_ 1 7
bt + ~Y — L > e *0 9.0 @ - —
@ 4 6 030 050 oio 0§0 4 + 10
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SUM CODE

Do any exercise below and find your answer in the answer columns. Notice the
number in front of the answer. Each time this number appears in the code, write
the letter of the exercise above it. Keep working and you will decode the message.

1 1 ) 1 : ANSWERS
S13+2= (N)4Z+-95= K 14 [10] o
—n2 , —42_ -3, 42 _ P
Og+1E= Wegei- m[2]-55 1] 5
AWl +-21- e -
042 3 @ 32+ 5-9-— : 3 _72% 12 41%
3l4-53= 8 2 _ ]
@ 6 5 @6ﬁ+2§— : 4 ‘6% 13 —1%
-83+13 = 5, —
@ 27 '10 ®56+ 5§= - -51-5-é 14 ‘3%
m
71478 = -4 53 _ n
@747 (H)3g+23= =(6 o [15] —472
-0l ol 3, -02_ ™
@ 16 3 ®8§+ 935= ml7]0 16 —7277)
6§+—41= -yl — 7_ : -nl3 1
m
m

(D) 13+55%= (B)73+73=

5 —q 1
9125 [18] 9%

17-7°4-17+1-15-3-14-11-7-4:1617-1-4-16-13:4-5:9:2:14-10-5:6

13+10-14+1317:10+1- 7-4:18:17-3-14-4+17-8+11-4-1 - 17-9:9- 13-2-16

15-3+18+13+18:2:9-12:17-10-1+18+17-517-7-17:1-4:7-4:17-1-7-4-17-1

.4. ')
EEEEEEEEEEEEEEEEEEEEEE
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What doceeeeeaaces
Jairdressers do ?

Do the exercises below. Circle the answers and their letters. Then
rearrange the circled letters in each grid to make a word. Write the words
in order in the boxes at the bottom of the page.

WHEN YOU FINISH YOU WILL KNOW WHAT HAIRDRESSERS DO!

® ~41 | R -6] 3

91 41 = Qp1_q1_ E 43 |R61|Y 23

* 2 ° A 1L|p -4l T ol

@63—‘24— @41 13 12 2 20

i~ 5" 8§ ' S -5§ H ‘6% | 8%

- 7 |+ —11 8

@‘65—‘8%= @7%_152 L 9976 T 1§ U 11-5

R-91 E ZI/p -8l

@32 ——52= Q123 E i 3

57 Y6 57 “5= A 92 L 2% C 12

®y_o7_ ® _—_ T —42 E ~65; |P 65

6 8 6 3 O -41 A -6l | U -4

3 8 5

. - 3 —4 6

®_3;~1§_= ®4ég__-_g= F =35 T 732 B 42

— 111 7 7

i 10 A‘4£ U 55 N—3;_g

' - T 27 7 7

‘6%—"6-3: 8%—7?-1= S 'z R plA &

—q4 1 5 31

® | 15 E S |D 73
32— 42 5 5
2 6
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FRACTION
ATTRACTION

O e o e R

\% Do the exercises below. Find your answers in the rectangle at the %
/\ﬁ/ bottom of the page. Cross out each box containing a correct answer. §
¥ When you finish, there will be 9 boxes not crossed out. Print the letters
% inthese boxes in the bottom row of boxes. R
%‘ A HIDDEN MESSAGE WILL APPEAR! %
S R N R B R B R R e e R o
2 | —q1 _ 1 _»2 _ 1 1_a7_
1 2§+ 15 7 4Z 25—- 3 12 69
2 56 25 8 78 +44 1 69
—1 -3 _ 5 _a7_ 15/-13 +51 =
3 2§+ 25 9 16 35— 5 14+56
.1_—..5.= é_ - Z: 16 —41-——— g_—:
4 99 = 10 I+ 78 5 65
3 11 _ 5,2 __ 17 M, g1 _
5 5Z+115 11 4§ 3 T 52
—Z—— &: - 1 - é_: 18 —6+61=
6 5 45 12 33 + 316 5

T S e e B o e o S A A

¢ CAR | PET | RAC [KET [ERS| KID [OGS | TOP | SWI
-9]3_; 613 | 1 |4l |4B |8l [ 5] | 7B -9;—;
TH [ NGT ] ALL UMD IRE | STA | SHA | LLO| VEAR
2 5% [ 8% | % | %% | w| Y5 | Te0 | % | %% B
C_l1J1T SWE| ETI [SFA | LLT [OST | ALL | IME INgG
2 = | 8% | °m | S% | | S| % | %0 | ' g

I e A R S A R

SNV NSNS ) L)

K%
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MAZE PHRASE page1

Do the problems below and on page 2. Find your answers in the maze on
page 2. SHADE IN each room containing a correct answer.

Then find a path to the Treasure that goes only through rooms you have NOT
shaded in. The words in those rooms will form an a-mazing message!

1 The temperature at 6:00 P.M. in Frostfrozen, Antarctica was =37 °C.

If the temperature dropped 8-;- °C during the next hour, what
was the temperature at 7:00 P.M.?

January 1. During January, Cash wrote checks for the following

Cash Orcheck had a balance of $867 in his checking account on
2 amounts: $98, $456, $29, and $381. What was his balance at the

end of January?

Joe Terrific gained 986 yards during football season. Ziggy Fumble
lost 118 yards during the season. What was the difference in

their yardage gains?

: Mar. —5,800
for the 4 month period? Apr. =30.000

A submarine was cruising at ~132 meters. It then climbed to ~ 64—

meters. What was the difference between its original altitude 2

and its later altitude?

14 floors, up 19 floors, down 25 floors. What was the net change in
position of the elevator?

Astronauts Milky and Way boarded their spacecraft 4% hours

1
before launch. They ate lunch 23 hours after launch. How
many hours passed between boarding time and lunch time?

The Buzzards football team made the following gains on four

plays: 9 yards, =11 yards,'2—§yards, 6% yards. What was the

net change in position of the Buzzards as a result of the four plays ?
On Monday, the temperature in Iceberg, North Pole was "19 °C.

On Tuesday, it rose 26 12 °C. On Wednesday, it dropped 33

What was the temperature on Wednesday?

During a week, the stock of M.A.T.H. Corporation had the
following daily changes in price: Monday, up 4 points; Tuesday,
down 6 points; Wednesday, up 312 points; Thursday, up 1%
points; Friday, down 2 ofa point. What was the net change in
price of the stock for ~ the week?

P fi
The net profit for 4 months of Calculess Company Jan. 334 500
is shown in the table. What was the net profit Feb. 15,600
I : An elevator traveled in this way: up 18 floors, down 6 floors, down 1

PRE-ALGEBRA WITH PI1ZZAZZ!
© Creative Publications 33



What is the distance x in the figure
at the right? i

’
38§ cm

A cross-country skier started skiing at the 2000 meter level of a
mountain. His altitude changed during the next four hours as
follows: 1st hour, up 47 meters; 2nd hour, down 269 meters; 3rd
hour, down 109 meters; 4th hour, up 54 meters. What was his
altitude after the 4th hour?

L 1
One of two brothers was scuba diving at ‘95 meters. The other

brother was flying in a helicopter at 298 meters. What was the
difference in the two brothers’ altitudes?

ot < TREASURE
-8 —$86 I 221 cm I 12 yd
KNOW I T I IS ABOUT
1206 yd -11 yd —$97

—45°C
OFTEN

+2% pt
PIE

y ly 304, m 673 m

NEVER SAW THAT THINK EAT
—4 I +21 pt —475°C 1634 m I $23,600

THEY CAN BELIEVE NOT DO

1
1
¥
1

697 m 21 yd 1723 m 73 hr
STONE IN STATUES @ TEACHERS

—22°C
BECAUSE

.I.
.|.
.|.

307; m ~56 °C 309; m 22 hr
MONSTERSgg WORKING @ MANY SHOP

1104 yd
FIGHT

;
;
1

oo

21 —1% cm hr

FIREMEN w "‘ o
ENTER

WRITE THE MESSAGE HERE:
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What did the DENTIST say to the GOLFER?

SOME OF THE EXERCISES ON THIS PAGE HAVE THE SAME ANSWER. IN
FACT, THERE ARE ONLY 6 DIFFERENT ANSWERS FOR ALL 17 EXERCISES.
THESE 6 ANSWERS ARE PRINTED AT THE BOTTOM OF THE PAGE.

TO ANSWER THE TITLE QUESTION:

Do any exercise and find the answer at the bottom of the page. Write the
letter of that exercise in ANY ONE of the boxes directly under its answer.

When you finish all the exercises, rearrange the letters in each group to
make a word. Write the words in the BOTTOM row of boxes.

25 , 21 _
9 10

oIN  ©l;
|

»

Il

I

6]

N )

olw

|

|
(@)
1IN
I

@ 14 @ 5

S I 2 - @ ]-1 U .3_ =
@ 335 2 22
® 1 @ 3

7 3 9 4
® i ® B

21 20 1 10

7 .-10= OEa:
@ 3 10 12 5
U HBHB B R R
e 2 § 3 2 3 —31 5
YY) ~ - —_— — -
g 3 % 4 15 3 6 ¢
;;;::300‘001.00;501.00:00... oioogoo.oo.oo oo,o}‘oo’oo,ooo:g
e 0@ . . . M ® . M : [ 11
oo+ SRS SN S SRR S T I P oo
3‘113350030600&060030500 cdecoccosnoceche oo;oo:ooosge::

riiss REARRANGE EACH GROUP OF LETTERS TO MAKE A WORD g8

:::::30.0.ooogocooooooo;o eegecccpoceegocscprccce 52222
00 0@ : : : : : Y . . . Y : LTTH
(17 ] ° LY * . : ° < : : M e

it : o $ i : S T
it

I R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R N LN
.....................................................................................
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BOOKS ‘NEVER ‘WRITTEN

Insect Pests by

87789292 627676641369

Air Express by
, 9344 359422 547884769090 78 15 77 64

Run for Your Lives by

9088498892 934484783515

= =
ABOVE ARE THE TITLES OF THREE “BOOKS NEVER WRITTEN.”

TO DECODE THE NAMES OF THEIR AUTHORS, FOLLOW

THESE DIRECTIONS:

Use the DISTRIBUTIVE PROPERTY to do any exercise below.
Find each circled answer in the code. Each time the answer
appears, write the letter of that exercise above it. Keep working
and you will decode the names of all three authors. Write on!

. 7—- =
16 55__+__Q
7 . _ _

2l .24= + =

O
40-28=_+_=()

T There are 10 millimeters
3 in 1 centimeter. How
10 - 2_1_:_ + = many m|II|meters are

there in 8= centlmeters’?O

‘IT‘
I
QUOKACONC)

How many hours are
there in 3— days?

|+
|
O
©

Zorna baked 7:—3 dozen

O
8- 9§=__+__=O © cookies. How many O
)

cookies did she bake?

How many seconds are

15 . 3g= + =O there in 1— minutes?

j@@@@@@@@@@@@
]
O

/m\
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A BURNING QUESTION

Why did Ray Friar need to get an approval from
Councilman Hugh before he could open a flower shop?

TO FIND THE ANSWER:

Do any exercise below and find your answer in the code at the bottom of
the page. Each time the answer appears in the code, write the letter of that
exercise above it. Keep working and you will discover the moral of the story.

@ 36 T

—

9 11 72 715
0 ]

14935720 3 720 =1 10

10 2 218 21 10 3

_, 3 33 8 35 6
7 5 8§ 26 2
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What did the 800Ib MONSTER
say 10 the 4001b MONSTER ??

TO DISCOVER THE WORDS OF THE 800 POUND MONSTER:

Do each exercise and find the answer at the bottom of the page. Shade in
the letter above each correct answer. When you finish, the monster’s words
will remain!

4 10:15 14 8

5] 1;+732= 15 (3%) (;—2)=

6] 73 -—-4i= 16] 3%+ 2=

7 (—13) (—2%): 17] 8L+4;=

8 5§+-11£= 18 (g) (1%) (-12):
9 '§+61§= 19 4%+§§=
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Why did the TERMITE like expensive hotels ?

Do each exercise below and find the answer in the rectangle at the bottom

of the page. Cross out each box containing a correct answer. When you
finish, there will be 8 boxes not crossed out. Print the letters in these
boxes in the bottom row of boxes.

THE ANSWER TO THE TITLE QUESTION WILL APPEAR!

or she play in all?

minutes§
23

gaHonsE

A 3 gallon gas can contains 190
gaHon How much more gas can
be poured in?

4 A kilometer is about 8 mile. How 42

many kilometers are in 23 miles? i :

m:

5 A rectangular plot of land is 11 :
miles wide by 2— miles long. What

is its area? -:

sq. mi.:

6 Stock sold at 23L at the start of :

trading. It was up 3% points at the
end of trading. What was the price :
at the end of trading? $_:

1A recipe calls for 3% cups of flour. 7 cut 2— yards of material from a
I;Iow much flour is needed to make : piece 5-—yards long. How much
5 the recipe? _CW materlal |§ left? yards
2 A team member played S%minutes 8 A bottle of TNT Tonic contains 101
during the first period, 22 minutes : ounces and sells for 98¢. What is
durlng the second perlod and the cost per ounce? -
10 minutes during the third :
perlod How many minutes did he : 9 /éteam played 42 games and won
: = of them. How many games

11

12 A rocket’s speed is 2—%— miles per

were lost?

10 UFO Industries makes 3 of the
world’s widgets. IOU Corporation
makes % of the world’s widgets.
DDT Enterprises makes % . What
fraction is made by other
companies?

A math textbook is 12 inches
thick. How many of these books
will fit on a 33-inch shelf?

second. How fast is this in miles
per hour?

3‘

ME { AT i HE : RE{ AS i HA i VE { DA | TE ! SU
42 i 41 i8700i 24 §273 271 '8400 ol |27 26
SERNEEE=SaTE o OODEAT e
7 4 5 @ 1 7 i 1 ¢ »3 5 & 1 .
171 3 18-é§'9§ §1§12 8 i 2% i 2 i3 i T
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Why is SPACE TRAVEL like a CHALKBOARD ?

TO ANSWER THIS QUESTION, FOLLOW THESE DIRECTIONS:

Draw a straight line connecting each exercise with its correct answer.
Each line will cross a number and a letter. The number tells you where
to put the letter in the row of boxes at the bottom of the page.

64+32 6 ® 64
59--130 @& @) © ®-44
85+21@ ® 6.9

~14.8 —"5.6 ® ®16.25
3.7+ 707 @ @ @ @ ® 9.6
804-013e (@) ) ® R -1z
74+05 ® @ ©9.4

14-26 o (5) © 72

106 + 9.1 @ @ @ o114

Wi @ e gy

3-470 © ® -0.95

@ ®

12.5 +3.75 @ @ °*5
085 0.1 ¢ (3 0 °-17
02+727 ® ® eor

-17—-184 o ®-197
1o1+09e & M o707
1234 [5]6] 788 [t0[1]12]13]1a 156
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GHAIN GODE ‘
O<4-0<0-09000600006000<009000000060<900900
THESE ARE CALLED CHAIN PROBLEMS. DO THE STEPS
IN ORDER FROM LEFT TO RIGHT FOR EACH PROBLEM.

Do any exercise below and find your answer in the code at the bottom of the
page. Each time the answer appears in the code, write the letter from the end of
that exercise above the answer. Keep working and you will decode the message.

TAKE 24.8»ADD -8.7p= SUBTRACT 13 = =

TAKE ~5.08 SUBTRACT ~0.068 p=-ADD 16.3 = =

TAKE 15 p==ADD —2.7p=ADD 0.04p= ADD ~12.3 = =

TAKE 8.9 SUBTRACT ~0.75 SUBTRACT 18 = =

TAKE 7171 = ADD —0.007 p=1SUBTRACT 4.9 = =

TAKE 0.47p SUBTRACT 0.008 = ADD -9 = =0
TAKE 68.707 p= ADD —99.999 P={ADD 32.592 = = A
TAKE —.04p={ SUBTRACT~3 p=| SUBTRACT 25.003 | = =M
TAKE 7 p—SUBTRACT 14.1® ADD 23.471 = = K
TAKE -431.9 P=| ADD—43.19 P=| SUBTRACT 4.319 | = = R
TAKE ~0.01 | ADD 0.1 [m{ ADD~1 pm{ ADD 10 = =T
TAKE 17.8 p={SUBTRACT ~4.006 | SUBTRACT 22 | = =L
TAKE—37p= ADD46.98 P= SUBTRACT —0.02 = = E

~479.409 10 1.3 ~0.194 10 ~—26.15 9.09 1.3 9.09 10
—22.043 10 0.04 11.288 1.3 ~22.007 10 9.09 ~8.538
0.04 ~8.538 3.1 1.3 ~0.194 ~8.538 9.09

16.371
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What has 12 HUMPS and lives at the NQRTH POLE ?
¥ XK %K K T0 ANSWER THIS QUESTION: 3K 3K k X%

¥ Some of these exercises have a number and

* some have a letter. Find two exercises, one with

a number and one with a letter, that have the
SAME ANSWER. The number tells you where
X to put the letter in the row of boxes at the

bottom of the page.

x KEEP WORKING AND YOU WILL DISCOVER
¥ THE ANSWER TO THE TITLE QUESTION.

EE*@* >(ko>|§)( -0.4) = ii (-0.04)(-0.3) =
% (2) (6)(0.002) = x(8) (-0.1)(2) =
i@ (0.01)(120) = *(E) (0.05)(0.004)
i%(ow(oow *(0) (-0.8)(0.3) =
* (70.04)(6) = x (70.6)(0.2) =
* (8) (24)(70.01) = z (240)(-0.1) =
* (7) (8)(-0.008) = *(X) (~60)(-0.02) =
* (8) (0.002)(12) = (L) 405 =
x (9) (-0.06)(400)= %) (20)(0.1) =

* (10) (0.4)(5) = *(T) (0.1)(-0.24) =
i@( .005)(0.04) = * (70.6)(70.04) =
* @( 00)(0.001) = x (0.2)(1.2) =
% (13) (-10)(-0.02) = *(L) (0.1)(-0.012) =
X

X %k %k 3k

*
*
*
*
X

% 3k 5k 3k sk 5k 5k sk sk 5k sk sk 5k sk sk 5k sk sk sk 5k sk %k 5k k k

Nk
*

3 4 5

6

7

8

9 10 11

12

2

1
%k 3k >k 3k 3k 3k 3k %k %k >k >k >k >k >k k %k >k %k %k %k %k k %k k
2

13
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How did the ANGEL lose bis job ?

Work any pro_blem‘ belo_w and find your answer in the answer column. Notice the
letter next to it. Print this letter in each box at the bottom of the page that contains

the

number of the exercise.

KEEP WORKING AND YOU WILL DISCOVER THE ANSWER TO THE TITLE QUESTION.

@
@

& @ ©

O,

@

~13.5 + 275
4.8 - 7.5

Absolute zero, the coldest possible temperature,
is ~273.2°C. Dry ice becomes a gas at =78.5°C.
How many degrees above absolute zero is this?

The U.S. Navy submarine Trieste Il reached a record
altitude of =10.9 kilometers on January 23, 1960.

A Russian MIG-25 jet reached a record altitude of
36.3 kilometers on July 25, 1973. What is the
difference in these two altitudes?

The highest priced diamond ever sold at auction
weighed 69.42 carats and sold for $1,050,000. A
carat is equal to 0.2 grams. What was the weight of
this diamond in grams?

In the 3 days after Jimmy Carter was elected
President of the United States, the Dow Jones stock
average had the following daily changes:
Wednesday, ~9.56 points; Thursday, ¥*3.91 points;
Friday, =17.37 points. What was the net change for
the three days?

The 1937 Detroit football team holds the National
Football League record for fewest penalties in a
season. They received 19 penalties and gained an
average ~7.3 yards per penalty. How many yards did
they gain in all as a result of the penalties?

The highest recorded temperature in the world was
at Azizia, Libya, on September 13, 1922. The
temperature was 58.0°C. The lowest temperature,
—88.3°C, was recorded at the Soviet Antarctic
station Vostok on August 24, 1960. What is the
difference in these two temperatures?
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@) (0.7) (—28.1)
(-65) (—0.005)

>| [w] [m] [O] (@] €] [<] [T] [»0] [=] [B] [m] [9] [Z] [T [] [

HENNENNNNEEENEEN

~147.7 yds
13.884 g
~19.67
~18.77
~138.7 yds
~16.25
—21.12 pts
194.7°C
154.3°C
146.3°C
48.8 km
2.7

47.2 km
0.725
—23.02 pts
15.984 ¢
0.325




When Do Super Heroes Use Decimals?
2 LD D (DD D D LD D CD D (D D D D D

TO ANSWER THIS QUESTION:

Draw a straight line connecting each exercise with its correct answer. Each line
will cross a number and a letter. The number tells you where to put the letter in
the row of boxes at the bottom of the page.

0 00 O S g5 O O SO 5 O O SO O O I O O

4.8 x 100

0.48 x 10,000 ¢
480 + 10

4.8 + 1000 ¢

48 x 1000 ¢
0.0048 x 10 &
48,000 + 10,000
48 =+ 100

0.48 x 1,000,000 ¢ @

27.5 x 1000 ¢

2.75 +100
0.00275 =10
2.75 x 100,000 ¢
0.0275 x 100
2750 + 1,000,000 ¢
27,500 + 1000 ¢
0.275 x 10,000 ¢
27.5x10 ¢

®

@
@
OO

@®@

® & ¢ 6 O ¢ O o o

®» ©eHm
19 ® @

* ¢ O 6 ¢ 6 o

4.8
0.0048
480
2.75
275
4800
0.000275
0.00275
0.048
27,500
2750

48

0.48
0.0275
27.5
275,000
48,000
480,000

1[2]3]4]5]6s

9 |10} 11

13

—_
(9)

12

16| 17|18
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Why is an ELEPHANT big, gray, and wrinkled ?
TO ANSWER THIS QUESTION:

Do the exercises below. Find your answers in the answer column. Notice the
number in front of the answer. Each time this number appears in the code,
write the letter of the exercise above it. Keep working and you will decode
the answer to the question. ‘

ANSWERS

~43.7 + 9.06 =
-2.005 — 19.19 =
(~8.6)(~0.07) =
—36.75 - 5 =
-0.937 + ~16.5 =

4 — 20.95 =
(98)(-0.44) =
-53.36 + ~0.8 =

75 + —9.606 =
~14.88 — —20.88 =
(~4308.1)(0.01) =
0.24054.+ 0.006 =
-0.49 + 49 — 4.9 =
15.1 — —9.133 + ~60 =
(-0.8)(17)(-0.02) =
203.75 ~ =01 =

PO O OO O O O O O OO OO O D PP PP PP

L A A A A A A A A A A A A A A e e 4 o e e o o o e o e o o o o o a g e g g g g PV N S VYV T V. V.V VVVVIVVVVVVVVVVVVV

PO PP OO OV OO PPN

A%%BVEEDR 6267381815677 1K583167891210
154121067354 15101689129 1413 616 12
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FOR THE SUPER MATH DETECTIVE

SMYSTERY QUESTION :

How can you be sure to wake up every morning with a smile?

— A . R X e e B — e

THE ANSWER TO THIS QUESTION IS WRITTEN IN i
CODE AT THE BOTTOM OF THE PAGE. USE THE ||
!
I"

CLUES GIVEN BELOW TO CRACK THE CODE
AND FIND THE ANSWER.

- § <t <

- @ <l ~<ililii-- § ol - @ <l § < <S> § < <l e @ il

R =697 + “41.75 S=TXWXY

P = (78.5)(70.04) T=R+W

L=R XN O=-17.9-0.104
E=W-0 M=G -+ N

U=P x| W = (0.005)(~86)

| =~0.5648 + 0.008 G=0+Y
A=R+0+G H=E-G
N="19 + 19.1 Y =-0.028 +- 0.7

| ¢ - § - § - - § - § <SR- - - O~ - § < § <~ § <

CODED ANSWER
“1.118 2795 17.574 17.574 0.34 7043 ~70.6 765 ~432.526
460.046 ~—432.526 460.046 0.1 4501 17.574 2795 ~70.6 0.1

—0.04 —18.004 —24.004 2795 4501 —18.004 —24.004 —65 —432.526
o —— —— 0 —— —— ¢ 0 —— 0 ——— ——— —— —— —— —— > ——— ¢ o)
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(L
o

ZERO

~14|@ 1[5 69
- : | - -
95 7 37 5 29
-08 =4 ~35,7\ 48 -15 17
20 0 8 || 58 92 46 ?'B -12% 78 70
=75 ~59 -3 -61 67 -25
~51 - ~45 = 53
-2 |3 33 |+ 40

DIRECTIONS: Solve each equation below and find the answer in the rectangle
above. Shade in each area containing a correct answer.
WHEN YOU FINISH, YOU WILL HAVE A PICTURE
TITLED “ZEROQO.” CAN YOU FIGURE OUT WHY???
67 + 0=A =15 (H —g)=60 P — (737 +0)="51
= H= P=
“11 - 0=B | — ~45=0 92 — Q=0
-8 (0 — 5)=C -78 + J=0 17 - R - 17="-17
— - _ _ 0 -
6(7+D): 42 ‘33+K+7_7 (_8.5)+S_ 75
0\ — 92— O\ —— — _ 0 —
(_ 2=E L+(__5 = 14 9+ T (g)_44
((4+8-0)+ F="29|M + -6 + _0_1)=-9 37 - U=0
3(0—"-16)=G (0__'72)—-69=N 95 -V — ~6=6

*MUCH ADO ABOUT NOTHING

PRE-ALGEBRA WITH PIZZAZZ!
56 © Creative Publications



ALL FOR ONE

1. WHAT DO YOU CALL A STOLEN SAUSAGE?
ANSWER:

45 1 761 0 9 84 84 9 =8 “73 9 ~9 78 745

2. WHAT HAPPENED TO THE HIORSE WHO ATE ELECTRIC CABLES?
ANSWER. |

1 61 =6 ~61 ~8 45 1 ~-28 14 6 —9 2 -61

3. WHAT WAS THE TOW TRUCK DOING AT THE CAR RACE?
ANSWER: |

98 746 9 9 “9 8 73 728 5 728 84 45 7 ~8 ~61

TO DECODE THE ANSWERS‘ TO THESE THREE IMPORTANT QUESTIONS:

Solve the equations below. Find the solutions in the code. Each time the
solution appears, write the letter in that equation above it. Keep working
and you will decode all three answers.

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIlIIIIIIII|IlI|III|LIIIIllIIIIlIIIIIIIIIIIIIIIIlIIlIIIIIIIlIlIIIII__I_IIIIIIIII!IIIIII_IIIIIIIllIl!IIIIIlIIIIIIIIIIIIIII|IIIIIIIE
—28+1=A “IxY="14 & Ix{="1
A= Y= :
EIIIIIIIIIIIIIIllIIIIIIIIIII|I|IIIIIII|IIIIlllllIIIIIIIIIII§III|IIIIIIII§I!IIlII|IllIIIIIIIIIIIIIIIIIIIIIIIIIIIIlllIIll§lIIIIIIIIIIIII:IIIIIIIIII|IIIIIIIIIIIIIIIIIIIIIII|I|IIIIlg
K+1="45 Gx~1=73 éx.‘g!=1
K= G= W=

4 - T 4 - III|l|IIII_I.IIIIIIIIIIIIIgIIIIIllllllIIIII|IIIIl|IIIII|'
T+-1="45 f+7=R 98(3) =98
T= R

gllIIllIIlllllllflIIIIlIIIlIIIlllIII|IIIIIIlIIlIIlIIIIIIIIEIII|IIIIIII[IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII(III

NN
HunEnn

InnunnnsnNNnnnNnne
NN

U BT

AN g

innnnnnnsensnRnnnennnnNenna

20 13 _ 13,43 ('ﬂ) (8_4)=-
T T T3 tgz=M i) (s)=™
S=

O=

CH T IO R TR R T

M=

IlIIIIllIIleIIIIIIIIIIIlIIII|IIIllI||I|IIIIIIIIIIIIIIIIII

L AU

U C O L

29 | 117 _ P17 _- (L) (22)=-
5717 st 7= =9) 52 1

ININNNNNNNNn RN

| P=

llllIllllllllllllllllllllll!IIIIIIIll|Illlllllllllllllll§|llllllllllilllI|IIIIIIIII|IIIlIIIIIIIIIIIIIIIIIIIIIIIIII
- 19 LY _
= L —

IIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIllllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIlIIIIIIIIIIIIIIIIIIII|IIIIIIIIIIIIIIIIIIIlIIiIIIIIIllllIIIIIlI!IIIII|IlllIIIIIII|IIIIIIIIIIIII!IIIIIIE

mmpprnsnEnnsannnn
AN A E LT R I

finnurnnnEnnERNnnnENNINNENNNNN
IR
(00
w
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GET THE MESSAGE

DIRECTIONS:

Next to these
equations are two
columns of letters,
one marked TRUE
and the other marked
FALSE. Circle the
appropriate letter

next to each equation.

When you finish,
print the letters you
circled in the row of
boxes at the bottom
of the page. FIRST
print those from the
TRUE column, THEN
print those from the
FALSE column.

A MESSAGE WILL
APPEAR!

48 + 96 = 96 + 48

TRUE FALSE

48 — 96 = 96 — 48

48 X 96 = 96 X 48

48 + 96 = 96 + 48

57 x (19 x 30) = 57 X (30 X 19)

<|Z2|[0|>»

(41 + 85) + 72 = (85 + 41) + 72

93 + (40 — 7) = 93 + (7 — 40)

(15 + 97) + 64 = 15 + (97 + 64)

25 X (59 x 36) = (25 x 59) X 36

100 + (50 + 25) = (100 + 50) + 25

(47 — 24) — 11 =47 — (24 — 11)

(80+4)+69 = 80+ (4 - 69)

45 + (78 + 8) = 45 + (8 + 78)

27 + (29 + 94) = (27 + 29) + 94

33 X (64 + 20) = (33 X 64) + 20

(64 — 48) + 16 = 64 — (48 =+ 16)

(48 = 24) x 12 = 48 x (24 + 12)

(48-24)+-12 = 48-(12-24)

>lCcimimim|I|>|rlo9jlvoim|2Z

48 + (24 + 12) = 12 + (48 + 24)

o

FIRST PRINT THE LETTERS FROM THE “TRUE” COLUMN, THEN THOSE
FROM THE “FALSE” COLUMN:

LITITTTTITTTTITTTITT]
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A | Y b ‘ ),

DIRECTIONS:

Figure outwhat number must replace any letter in these equations so that

each equationillustrates the DISTRIBUTIVE PROPERTY.
in the box at the end of each row.

Then, find your answer in the code at the bottom of the page. Each time
the answer appears in the code, write the letter in that equation above it.

KEEP WORKING AND YOU WILL DECODE THE LINE.

Write your answer

‘4(2+8) (4 X 2)+ (74 X N) = B
5(C7+5 =(15%xY)+ (15 x5) Y =
‘34(10+ —3) = (734 x 10) + (734 X A) =
7(6+75)=(7xG)+(7x75) G =
59 (12 + 9) = (59 x 12) + (L X 9) L =
208 +1)=(C x =8) + (20 x 1) C =
“17 (74 + 75) = (717 X 74) + (S X 7H) S =
(6 X 43) + (6 X 19) = 6 (43 + H) H=
(77 X 28) + (77 X 75) = "7 (28 + R) R =
(8x74)+ (8x18)=8(l + 18) —
(76 X 13) + (76 X 30) = 76 (W + 30) W =
(19 X =8) + (19 X 52) = P (78 + 52) =
(98 X 72) + (98 X "11) =E (72 + ~11) =
(50 X 6) + (731 X 50) =T (6 + —31) T =

T TITLE: CURRENT EVENT = =)

98 59 98 20 50 75 -4 20 -4 50 -7 -4 -—17

13 -3 50 50 -17 19 -3 -19 -19 98 8 -4 8 =6
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= (L2 X 61-) + (LL X £2) +
= (26 X Gp_) + (6E- X 2G-) +

6S- X L.
8 X 2G-

= (gv- x 62) + (62 X 81—
(L9- X 0G-) + (98 x 29_

( )

(¥ )
= (g x ov-) + (y2 x €1) + (y2 x G9_) = (61 x €¢) + (6} X £p—
= (8¢ x 08-) + (08- X €¥) + ( )

= (G1- X 86-) + (5G- x 86-) + (GI- x 86-) (8- x 06-) + (L&~ X 06-
= (99- X €€) + (99- X g/-) + (99- X 6¥) = (g X L1-) + (49 X L1-
= (I X G2) + (e- x GZ) + (8 X GZ) = (L6 x G2) + (e¥ x G2

)
)
)
61 X 08- = (19 x 66) + (19 x 8G)
)
)
)

"9[111 8Y1 8p023ap ||IMm NOA pue Bupjiom

doay| "}l 8A0QE 9S1019XD 1BY] JO 19119} 9Y] 31lUM ‘Bp0o 8y} ul sueadde
JoMmsue ay)] awl} yoe3 "91l} papood ay} ul Jamsue JnoAk pulj uayy
"MO|9q 8s1019xa Aue op 0} A1HIdOHd JAILNGIYLSIA 341 8sn

‘3HN10Id SIHL 40 31111 3H1 3d023d Ol

0€€8 0008- 0€€8 ¢lve- cltve- 0 LZ- 089- 099- O 802¢- Ov.iv- 0O

061- 0€€8 £L.G6 0SOV O¥.i¥- 089- 089- 80cc- 8022~ 00G¢C

L1556 089- Gevl 00G¢ 0008- Z/Z- 0EE8 0008- 0EE8 Clve- Clvd- 0 LL-

-37111 d3d02

~ $odN3Rd SIWL 4O S[AlL U3 & JRUM
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TEST of GENIUS

1. How many triangles can you
count in this picture?

2.Herman Horsetrader bought a

horse for $600 and then sold

it for $700. The next day he
bought it back for $800 and
then sold it for $900. How
much money did Herman make
"altogether?

3. How many brothers and sisters

are there in a family in which
each boy has as many sisters
as brothers but each girl has
twice as many brothers as
sisters?

Which of the four figures below
should go in the empty box

0 e ]

5. Suppose a man offered to work

for 30 days at the following
salary: 1 cent for the first day,

2 cents for the second day,

4 cents for the third day, and

so on, doubling each day.
Would this salary be too much
or too little for 30 days of work?

=3

&

S AL,

AR

ARARY,

vy
%

2%

R

A

)

6.

9.

A

BCD G J

How many different 4-letter
license plates can be made
using only the letters M, A, T,
and H? All four letters must be
used on each plate.

It has been established that

1 of 4 men committed a crime.
Following are the statements
made by each suspect:

Harry: Barry did it.
Barry: Jerry did it.

Larry: ldidn'tdoit.
Jerry: Barry lied when he
said | did it.

If ONLY ONE STATEMENT IS
TRUE, who is the criminal?

Draw 2 straight lines across
this clock face to divide it into
3 parts so that the numbers in
each part add to 26.

The pattern below includes
every letter of the alphabet
except Z. Would Z go on the
top or bottom row? Why?

EF HI KLMN T VWXY
OPQRS U

8 or9 -- Superstar Genius
6 or7 -- Star Genius
4 or5 -- Genius
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How Did the Light Dress Up for the Costume Party

Write a fraction (or 1) for each power.

For each set of exercises, there is one 813 |5(1014|1]719]|6)2
extra answer. Write the letter of this
answer in the corresponding box at
the right.
1 7-2 Answers 6 10-1 Answers
> ®s O 207 @Qm ® o
2 Oz ® 100° ®mne  © Tomom
2 | 10 7| 27
“° @u O @ 5% Qw0 O
2 @ 75,000 15 MW O
3 | 15 8 | g2
5° ®p ® 10° © = © w
2° @ 52 * @ 10000 ® T
4 | 5 9| 7
* @ O 152 @z Oaw
22 ®f% ® & 01 @
O | 6 10| 132
10007 D10 @ o3 > @u O
2 O O " ®% O
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- Find the Message

Each row across has 5 rectangles. Only 3 of them contain TRUE equations. Circle these.
3 equations in each row.

Notice the number and letter above each equation you have circled. The number tells
you where to put the letter in the boxes at the bottom of the page. You will spell out a
six-word message.

17-R 10-A
1

1073 =0.001 | 102 = —

100

10-U
1072 =0.01

1074 = 10%=

10,000
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Why Did The Farmer Open A Bakery?

TO ANSWER THIS QUESTION: Express each product below as a single power of 10 or 8.
Draw a straight line connecting each exercise with its answer. Each line will cross a
number and a letter. The number tells you where to put the letter in the row of boxes at

the bottom of the page.

OIOIOIOIIOIOIOIOAOIOIEAOIOAOLOLOAOOLONE)

10*- 103
1074.1072
108.1072
8—4 . 87
8—1 . 8—2
g°.87°
10%-10
1072-10°
107°-10°
882
8—7 . 8—5
g—°.g
10%.10°
1078-.10
10%.107°
8.8
8.8

84 . 83

@ ©

o
® D1

N

@

183

m g 12
% i
a1
O m 108
u 8_1
n 8_7
- 10—7
m10°°

§1234

12
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Daffynition Decoder

1. HAUNTED HOUSE:

101 104 103 10* 102 10 100 10°® 1078 107" 107 107 104
2. SUIT OF ARMOR:
107 10™ 10° 10718 10 107 1078 107° 10° 107*
3. CENTIMETER:
109 10* 108 10" 107 105 10" 10% 107" 102 102 1077 108 104
[y rr rr 1y 1t ¢y 11 11 *¢* J1¢r 71¢ J‘;¢; ¥°r¢ Jyr vy Jrr yr ry rr ry ‘t7¢; %¥%y J;;y ©;y; J;yY Q7% JZX J]
! TO DECODE THESE THREE DAFFYNITIONS: '
! Write any expression below as a single power of 10. Each time your answer appears in !
§ the code, write the letter of that exercise above it. (]
i KEEP WORKING AND YOU WILL DECODE THREE DE-FUN-ITIONS. i
COEDIEDIGHIGHIEIG I I ICDIT IG I I I I I I It IGRIGhIGhIG I o oI oI oIaD ¢
1072-10°% = . < 11 _
© 4 e ® 100 100,000
® 10741077 =
1,000,000,000 =
® 1505 1%° - @ 1
100,000 1000
1
@10+ — =
100 ® 103 - 1 _
@ 1 1 10,000
10 100
1 W 10%-1078 =
® 1,000,000 @ 10% _
9 7 107°
@ 10° = 10’ = 1
-10, _1 _
# 10 = 108 = ® 10 1000
10_2_ 1
02 ® 1000 5=
1 ) 1
- 1000 = —_—
© 10,000 ® 10°
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< = (,_0F X 1) + (g_0kx2) + (,_0L X G) + (01 X ) (®

= (g_01 X 6) + (;_0F X 9) + (;0} X 2) @

= (,_0L x ¥) + (01 X S) @

= (,_01 X ) + (g_0l x 2) + (,_0} X 8) + (,0} X ¥) ®
= (g_0F X 1) + (3201 x 2) + (01 x &) + (01 x 2) ()
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Why Are Elephants Poor Dancers?

Round each number below as indicated. Circle the letter of each correct answer. Then
rearrange the circled letters in each grid to make a word. Write the words in order in the
boxes at the bottom of the page.

WHEN YOU FINISH, YOU WILL KNOW WHY ELEPHANTS ARE SUCH POOR DANCERS!

0.37 to the nearest tenth L 0.3 M 76.08
—2.474 to the nearest hundredth O 5.9001 E 0.4
76.0835 to the nearest thousandth H —2.47 S —2.48
5.90019 to the nearest ten thousandth Y 59002 | T 76.084
|
—4.0822 to the nearest tenth P 98.501 E —4.1
98.500296 to the nearest thousandth | 7.79 A 7.80
—0.7608 to the nearest hundredth D ~4.08 H 98.500
7.796 to the nearest hundredth V -0.76 L —0.761
1
55.95 to the nearest tenth N 0.7477 E —0.049
—0.0499 to the nearest thousandth O 56.0 W 0.7476
0.747608 to the nearest ten thousandth H 55.9 T —0.050
8.999 to the nearest hundredth L 1.00 F —60.009
—39.95 to the nearest tenth T —40.0 | 8.99
—60.00905 to the nearest thousandth E 9.00 M —39.0
0.9971 to the nearest hundredth B —60.01 A 0.90
... |
75.180763 to the nearest hundredth F 10.0 T —60.000
=59.9999 to the nearest thousandth L 75.19 Y 75.2
9.9955 to the nearest hundredth G —59.999 | E 10.00

9.9955 to the nearest tenth E 75.18 S 9.90
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What Is The Difference Between
A Buffalo And A Birthday Cake?

S S S S I S S

THE ANSWER TO THIS IMPORTANT QUESTION IS WRITTEN IN CODE AT THE
BOTTOM OF THE PAGE. TO DECODE:

Find the decimal name for any fraction below. Round the decimal to the nearest
THOUSANDTH (unless the decimal terminates at or before the thousandths place).
Each time your answer appears in the code, write the letter of that exercise above
it. Keep working and you will discover the answer to the title question.

) 3 © 15 32
4 _ 8 _ L
® 7 - 9 ® 20
7 _ 4 _ 2 _
© 12 ® 11 3
11 _ 7 4 _
® 16 ® 100 5
3_ 5 _ 6795 _
® 8 \J 6 10,000
© 2 © 99 ® 4
p Togo Toro Toro Tao Taro Tore Tora Toro T oo Toro Toro Toro TatoToroTeroToo ToroToro oo Yool e
coded answer
0.75 0.07 0.333 0.8 0.833 0.583 0.596
0.8 0.333 0.8 0.667 0.75 0.8 0.07 0.667 0.867 0.583 0.889

0.07 0.75 0.583 0.680 0.8 0.375 0.75 0.8 0.667 0.8

0.688 0.75 0.8 0.05 0.594 0.667 0.688 0.75 0.867 0.07 0.833

?
0.5 0.07 0.571 0.8 0.364 0.667 0.583 0.07 0.680
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FAMOUS DIETERS’ SLOGAN

Name each fraction below as a mixed decimal numeral in hundredths. For example,

1 _ gaal
3= 0.333.

Find your answers in the rectangle. Cross out the boxes that contain the answers. When you
finish, there will be 12 boxes not crossed out. Print the letters from these boxes in the boxes
at the bottom of the page. A hidden message will appear!

2 _ ® -

3 15
@1 @ 2=
8 3
® 7= ® 20 _
12 32
@'1__ @16

®

DO

oT
'
3.625

7=
27

19
8

3_
8

1948

(0]

1
0.125

0o0
1 25
0.875 ]0.255>

ET OP
5 2
0.905 | 0.165

Al NT
4 8
0.255- 1 0.885

(e 23 _
3
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Converting Decimals, Fractionally

1. “I TORE HIS VALENTINE IN TWO,” Cleopatra said

wls

8 14 11 11 8 136 14 10 2 16 8
3

333 11 9 45 333 99 11 1

2. “IF 1 ONLY HAD A BRAIN,"’ said the Scarecrow

w|

428 2 16 2 2 1 S 2 8 136 8
17 33 711 9 5 3 6 333 5 33 99 33

o|

3. “MY HORSE WON'T STOP,” Wild Bill said

4 7 18 12 11
9 T8 99 4% T g 9

Wl

4. "ACCIDENTS WILL HAPPEN,” said Captain Hook

J 1 n s 14 2 8 136 8 11
45 333 11 5 33 99 33 9

18 45
THESE FOUR STATEMENTS WERE NOT MERELY “SAID.” EACH WAS SAID IN A CERTAIN
WAY.TO FIND OUT HOW EACH STATEMENT WAS SAID, FOLLOW THESE DIRECTIONS:

Name any repeating decimal numeral below as a fraction in lowest terms. Then find this
fraction in the code. Each time it appears in the code, write the letter of that exercise
above it. Keep working and you will discover how each statement was said.

(RIS

@ 1.3= ® 1.37= @ 0.13= @ 0.24 =
0.9 = ®) 0.018 = © 0.38= @ 0.240 =
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WHY COULDN’T ORGO KEEP HIS WATERBED A SECRET?

S DTN ONGE SO NP PSS NSRS NG

TO ANSWER THIS IMPORTANT QUESTION:
Express any number in the left column in SCIENTIFIC NOTATION. Find your answer in
the right column and draw a straight line connecting the two numbers. Each line will

cross a number and a letter. The number tells you where to put the letter in the row of

boxes at the bottom of the page.

7000m m7x10’
7,000,000 m B 7 % 10-5
708 @ m7x10%
700,000m @ m7 >>: 102
70,000,000,000 W @ @ m 7 x 103
700m m7 x 1072
70,000,000 @ @ @ m7x102
5
oo © .
0.000007m & ® G 00 m 7 x 10
0.007m 7 x 107©
0.00000007 m @ @ @ : 7 i 108
0.7m Q m7x107 1
o @ G O - i
. n @ m7x10'
0.0007 m @ @ m7x 10"
0.000000000007 m m7x1077
0.0000000007 W m7x10*
112345678910 n12[13[14]15T16]17]18
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What Has Long Hair And Purple Feet?

Express the number in each statement below in scientific notation. Select your answer
from the two choices given. Write the letter of the correct choice in each box at the
bottom of the page that contains the statement number.

1

The mean distance from the surface of the earth to the surface of the moon is

376,000 kilometers. (E) 376 % 105 (R) 3.76 X 104

The tallest structure in the world is the Warszawa Radio Mast in Plock, Poland,
completed in May 1974. It measures 650 meters in height.

(S) 6.5 x 102 (A) 65 x 102

The heaviest bell in the world is the Tsar Kolokol, cast in 1733 in Moscow,
U.S.S.R. It weighs 196,000 kilograms.

(1) 1.96 x 10°  (H)1.96 x 10°

One light-year, the distance traveled by light in one year, is 9,460,000,000,000
kilometers.
(T)9.46 x 10'%  (0)9.46 x 102

Sirius A (the Dog Star) is the brightest star visible in the heavens. It has a mass of
46,500,000,000,000,000,000,000,000,000,000 kilograms.

(D)4.65 x 103°  (K)4.65x 10°

The nearest star beyond our sun is the very faint Proxima Centauri, which is
40,300,000,000,000 kilometers from the earth.

(T)4.03 x 10" (S)4.03 x 10"

The smallest known insects are the “‘hairy-winged” beetles of the
Trichopterygidae family. They measure only 0.02 centimeters in length.

(B)2 x 1073 (M)2 x 1072

The wavelength of yellow light is 0.000058 centimeters.
(A)5.8 x 10™° (U)5.8 x 10™*

B 0 - & &N 24 e | N

The wavelength of one type of X-ray is 0.0000000128 centimeters.
(N)1.28 x 1078 (L)1.28 x 10710

i
[ — ]

The smallest identified virus is the potato spindle tuber virus, which has a
diameter of less than 0.000002 centimeters.

(1) 2 x 107 (U)2 x 1075

— 9
[ 9

One of the least stable atomic particles is the rho prime meson, which
has a lifetime of 0.0000000000000000000000016 seconds.

(L) 1.6 x 107%*  (P)1.6 x 10723

P
N

The mass of an electron is 0.0000000000000000000000000009 grams.
(F)9 x 10726 (W)9 x 10728

8(11/10|4 |96 (3|8|6|7|8[5|1(2(10/6[2|4(12]|9 [12[10][9 |1
L OINIT TMAK|-|S|I|T|S|O|W|N | IN|E
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IRRATIONAL

GET THE MESSAGE

Decide whether each of these
decimals represents a rational
number or an irrational
number. Circle the letter.in the
appropriate column next to
each decimal.

When you finish, print the
circled letters in the row of
boxes at the bottom of the
page. FIRST print those from
the column marked ‘‘Rational,”
THEN print those from the
column marked “‘Irrational.”

A MESSAGE WILL APPEAR!

0.135135135135. . .
0.6

| —2.24224222422224222224, . .
-0.292929292929. . .
-0.06006000600006. . .
0.7105386266520861. . .
3.40764076407640764076. . .
-155.23333333. . .
0.616611666111666611116. . .
-0.142857142857142857. . .
~74.7584630674348297. . .
6.125
0.7866666666. . .
-73.00025252525. . .
40.864301019654885385 . . .
| 9.707121221222122221. . .
200.0096009600960096. . .
0.112123123412345. . .
17.70027485281086486350. . .
8.0
-0.9999199991199991119. . .
3 1 41 59265358979323846

JNVAVAUAVAUAUAUAAVAVAUSUAA PO
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What Was the Crow Doing on the Telephone Wire?

Circle the letter of the phrase which best completes each statement below. Write this
letter in each box at the bottom of the page that contains the statement number.

A decimal in which the sme sequence of digits repeats _again and again is
called a(n) (O) repeating decimal (P) irrational number

S

Every repeating decimal represents a (n)

2 (F) irrational number  (G) rational number
3 An irrational number is a number that is represented by a ‘ _
(U) repeating decimal (E) nonrepeating decimal
4 Every rational number can be represented either by a repeating decimal
or by a (R) nonrepeating decimal (K) terminating decimal
5 A number that can be represented by a fraction is a(n)
(T) rational number (N) irrational number
6 An integer is a(n)
(D) irrational number (W) rational number
7 Between any two rational numbers there is a(n)
rational number integer
(1) rational b (A) int
8 The union of the set of rational numbers and the set of irrational numbers is
called the (D) set of real numbers (B) set of integers
9

Every repeating or nonrepeating decimal represents a
(L) real number (H) rational number

A real number that is not a rational number is a(n)
(P) repeating decimal (M) irrational number

1 A real number that can be represented by a nonrepeating decimal is a(n)
(R) rational number (S) irrational number

2 Every point on the number line can be named by a(n)
(F) irrational number  (N) real number

13 Between any two points on the number line, there is a(n)
(H) empty set (C) point

Every repeating or nonrepeating decimal numeral determines
(A) one point on the number line
(U) two points on the number line
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Solve any proportion below and find your answer in the code at the bottom

Each time the answer appears in the code, write the letter in that proportion above the answer. Keep
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What Should You Say p
When You Meet An Angel e

Work each problem and find your answers at the bottom of the page. Shade in the
letter above each correct answer. When you finish, you will know what to say!

1 If 2 cubic feet of sand weigh 90 pounds, how much do 5 cubic feet of

sand weigh? ANSWER: pounds

If there are 560 calories in 8 ounces of meat, how many calories

are in 3 ounces of meat? calories
If pencils sell at 6 for 59¢, how many pencils can be bought for $2.95? pencils
4 A car travels 350 miles on 20 gallons of gasoline. How many gallons will be
used to travel 875 miles under the same conditions? gallons
The ratio of oil to vinegar in a certain salad dressing is 8 : 5. How much
oil must be blended with 7 liters of vinegar for that recipe? liters
6 The ratio of the weight of an object on Jupiter to its weight on Earth
is 8 to 3. How much would a 100 pound person weigh on Jupiter? pounds
7 If 1 gallon of paint covers 450 square feet, how many gallons are
needed to paint a room with 675 square feet of wall surface? gallons
- —
8 If it takes 4 ounces of insecticide to make 27 gallons of garden spray,
how much spray can be made with 6 ounces of insecticide? gallons
9 A flagpole casts a shadow 32 feet long. If a man 6 feet tall casts a shadow
8 feet long at the same time and location, how tall is the flagpole? feet
1 -
473 cans of water must be added to a can of lemonade concentrate to
10 make 64 ounces of lemonade. How many cans of water are needed to
make 96 ounces of lemonade? cans

11 Bronze is an alloy of copper and tin. If a certain type of bronze requires 0.3

kilogram of tin per 1.0 kilogram of copper, how much tin must be combined with
50 kilograms of copper? kilograms

12 At a certain college, the ratio of men to women is 5 to 4. If there are 2800

men, how many women are there? women
1
13 A cookie recipe which calls for 3% cups of flour makes 5 dozen cookies.
How much flour is needed to make 3 dozen cookies? cups
3.6 grams of salt will dissolve in 10 grams of water. How many grams of salt
will dissolve in 1000 grams of water? grams
WERF|(I(GIH[T@W| I | T|H @B[A[L|L][O|T]|sS
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TEST OF KNOWLEDGE

1. WHAT LIES AT THE BOTTOM OF THE OCEAN AND SHIVERS?
ANSWER:

3 1 1
20 200 50

2 5 1 38 282 5 2 1
3 2 2 2 25 4 3

2. WHAT DO YOU CALL AN OVERWEIGHT LION?
ANSWER:

2 67 1 1 3 1 3 1 1 1 9 1

5 100 50 100 10 200 4 2 300 50 25 50

3. WHAT IS THE BEST WAY TO TALK TO A MONSTER?
ANSWER:

1

1 3 3
25 2 200"

1 3 2.3 1 1
3 10 25 5 20 200 - 5 50

Mlw

EEELEEEEEEECEEEEEEEEEEEEEELEEEEEEEEEEEEEEEEEEEEEEEEEEEEEELELE !

A TEST OF KNOWLEDGE IS GIVEN ABOVE. THE ANSWER TO EACH QUESTION IS
WRITTEN IN CODE UNDER THE QUESTION. TO DECODE:

Express any percent below as a fraction in lowest terms. Each time this fraction appears
in the code, write the letter of that exercise above it.

KEEP WORKING AND YOU WILL DISCOVER THE ANSWER TO EACH QUESTION.

D 30% =
@ 40% =
® 1% =

@ 150% =

W 125% =

® 33%%:
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What Do You Call The Situation When Your Parachute Doesn’t Open?

Each quotient is given as it would appear on an 8-digit hand calculator. Use this
information to express any fraction below as a percent rounded to the nearest tenth of
a percent. Find your answer in the answer columns and notice the letter next to it. Write
this letter in each box at the bottom of the page that contains the exercise number.

KEEP WORKING AND YOU WILL DISCOVER THE ANSWER TO THE TITLE QUESTION.

1 S R BN I o A TooZe sl el
= 0.9166666 = %
®13% i ®113.9%
D87.0% i 59.4%
% 0.7% % % 0.1%
08% i 385.9%
= 0.4074074 =_°/o 91.8% @ 40.8%
i ®Wa1.7% i ®0.2%

16000

—

a4
o Nl

= 059375 = %

RN

@
@
®
@ g = 00825 =__ % i @63% i ©114.0%
: ®2693% : ©407%
® 2 -o08695652=__ % ; Ue25% : Os6.9%
: ®269.4% § ® 133.4%
® L =0.0123456 = % ® 133.3% ® 1.2%
81 i ®o05% i B®s503% i
@ 4 —13333333= % | Doe% | ®sseo% |
3 ) —_— : oo sfnedaalente tualesteite .;..:..;..:..;..;..;..:.‘:..'..;..:.-i::u'u:. 50 630 30 %0 o0 20 0% oZ00%0 £30 %0 o3 30000 630 430 o3 .::
-j-g- — 1.1395348 = %
® 27052- — 2.6933333 = %
% = 3.859375 = %

1 _ o
a —— = 0.007874 %

11 _ 6
@m = 0.0055 %

17 _ _ o
@3 Toagy = 000186 =__ %

1013972124581118121131362812'
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Why Do Lovers Go To Horror Movies?

TO ANSWER THIS QUESTION:

Draw a straight line connecting each exercise with its correct answer. Each line will cross a
number and a letter. The number tells you where to put the letter in the row of boxes at the

bottom of the page.

88% of 15 W m 0.2392
4% 0f5.98 ® m 35
9% 0f0.2 m \E ® m 3.885
100% of 35 ® ® ®® m 262.5
150% of 35 ™ m 5.04
19
105% of 3.7 W ® ® m 0625
0.4% of 800 m ® m 132
37.5% 0f 8 M m 0.019
871% of 300 m @ @ ® © um3
180% of 9000 m 7y ® © m 06
200% of 49.5 m @ ® © " 99.5
168% of 3 m ® m 0.65
0.12% of 500 | ® m 16,200
1000% of 9.95 @ ® m 525
%% of 0.9 m Q ® ® m 0.00625
130% of 0.5 m © m 0.0625
2%% of 25 m ® ® m 32
19 of 2.5 m ®B o) m 99
0.01% of 625 m m 0.00675

1 2 3 4 5 6 7 8 ol |12]|13|]14|15]|16 |17 |18 | 19
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HE SAID IT TO HIS SISTERS,

HE SAID IT TO HIS BROTHERS.
WHAT DID THE WITTY RAINDROP
EXCLAIM TO ALL THE OTHERS?

DIRECTIONS:

Use the information given in the chart to figure out the missing values, each of which
is indicated by a letter. Round the values to the nearest cent. Find each answer in the
code and write the corresponding letter above it.

ARTICLE | ORIGINAL | PERCENT SALE PERCENT TOTAL
ONSALE | PRICE DISCOUNT PRICE SALES TAX | AMOUNT
D H
WATCH $50 10% 6%
E Y
CALCULATOR| $45 25% 4%
BICYCLE $110 20% u 5% N
TYPEWRITER| $99.00 15% w 6% S
TENNIS M R
Teaee | $59.90 | 10% 4%
TURNTABLE| $88.50 30% A 5%% P
CAMERA | 78 33l |- 4% T
CASSETTE| ¢g4.95 | 40% |° 5% |©

THE WITTY RAINDROP SAID:

$54.34 $84.15 $50.97 $89.20 $53.52 $50.97 $53.91 $65.36 $61.95 $92.40 $35.1C
$61.95 $92.40 $45 $54.34 $47.70 $56.07 $33.75 $33.75 $89.20

$61.95 $53.52 $52 $50.97 $88 $45
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HEXAGON CODE

Figure out the interest on any loan described below. Find your answer
in the answer column and notice the design next to it. Each time this O $36.75
design appears in the coded message, write the letter of the exercise
above it. Keep working and you will decode the message. O $4.50
® $500 for 1 year at 12% per year C\ 6140
@) $350 for 1 year at 10%% per year
< > 22

®) $975 for 1 year at 9% per year $225
(™ $700 for 2 years at 10% per year > $21
© $1000 for 2% years at 8% per year \ > $87.75
(D $375 for 3 years at 12% per year < > $19.50
© $800 for 4% years at 6:1[% per year C §135
@ $150 for 3 months at 1% per month

1 < \ $25.35
@ $600 for 6 months at 15 % per month
© $520 for 5 months at %% per month ) $54
N) $845 for 1—;" months at 2% per month :) $60
® $1200 for 3% months at %% per month \ > $27.30
$182 for 10 months at 1—;*% per month < $200

CRYPTIC MESSAGE

QOO CLOCUD
O oOvCNHDCOLD
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Percents: Under 1—Over 100

Work any problem below and find your answer at the bottom of the page. Write the letter
of the problem above it. Keep working and you will discover a message.

A certain grass seed is guaranteed to contain no more than 0.15% weed
seed. What is the greatest amount of weed seed expected in a 450 gram box?
ANSWER: grams

In the presidential election of 1888, only 0.8% of the popular votes
separated the two candidates, Harrison and Cleveland. If 11,000,000 votes

were cast, how many votes separated the candidates?
ANSWER:

A steel rod expands 0.11% of its length when its temperature is increased
100°C. How much longer will a 75 centimeter steel rod become with this
increase in temperature? ANSWER: centimeters

A certain fabric is guaranteed to shrink no more than 0.5 % when washed.
What is the maximum amount of shrinkage expected for a piece 0.5
meters long? ANSWER: meters

votes

An ore is 0.65% pure gold. How many grams of gold are there in 10,000
grams of ore? ANSWER: grams

A credit union lends money to its members at an interest rate of 0.75% per
month. What is the interest charge each month on a loan of $3500?
ANSWER: $

he profits of Burger Bonanza in a recent year were 125% of the profits in
the previous year. If the profits in the previous year were $7000, what were

the profits the next year? ANSWER: §

| In 1901 the Olds company built 425 cars. The next year, using mass
production methods, the company built 600% of those built in 1901. How
many cars did the company build in 1902? ANSWER: cars

| After 10 years, the price of a certain house was 205% of its original price.
If the house originally sold for $30,000, what did it sell for 10 years later?
ANSWER: $

Orgo borrowed $1700 to buy a used car. He had to pay back 133% of what
he had borrowed. How much did he have to pay back?
ANSWER: $

The human population of the world in the year 2000 is expected to be 160%
of the population in 1975. If the population in 1975 was 4.01 billion, what is
the population expected in 20007? ANSWER: billion

The amount of money spent on education in the United States in 1977 was
650% of the amount spent in 1950. If $7.2 billion was spent in 1950, how
much was spent in 19777 ANSWER: $ billion

V! P
YNV LIA
0/ R RSN D

&
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cUYSTERY . JUIESSAGE

Work each problem and find your answers in the rectangle. Cross out each box that -
contains a correct answer. When you finish, there will be 8 boxes not crossed out. Print the
letters from these boxes in the boxes at the bottom of the page. The mystery message

will appear.

© , @@ ' ‘ C 9

@ 13 = % of 16 _ @ First year profits of a business were
@ o $900. Second year profits were $1200.
5= /o Of 12 What percent of the first year profits
® 11 = % of 8 were the second year profits?
—_— (o)
@ Toutof 45 = /o @ Men outnumber women in 5 out of the
@ 7 out of 32 = % 50 states. In what percent of the states
@ o do women outnumber men?
5outof 6 = Yo
% of 250 = 750 The team won 16 games, lost 6 games,
_ and tied 2 games. What percent of the
% of 51 = 85 games did they win?
% of 42 = 34

@ The price of an item before tax was $48.
The sales tax was $2.16. What percent

‘ Of 15 problems on a test, 13 were tax was charged?

correct. What percent were correct?

The player was at bat 200 times and

@ Barbara made 58 out of 75 free throws. made 61 hits. What percent were hits?

What percent did she make?

© sCECCcCceCceceER

SO Kl LA | BA | LL | ME | SS | KE
20, Toy 2o 130 0% 2 1 1o
29 302/ 1665/0 314/0 90% 413/o 42% 43/0

AT EA | RS | KN [OW | IT | ST | EA
I 2 To To To ) 1o
21 8% 86 3/o 78 4/0 175% 773 % | 81 4/o 300% | 42 4/0
MA DD | ON | OU | TI CH | GH | NG
200, | 145% | 83l%s | 2019 | 6622 | 13739 | 81204 | 13312,
8021 145% 833/0 208/° 663 1372/ 813/ 1333/
!
C@ ® CEECEEE S@E@©I)
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Did You Hear About...

DIRECTIONS: Do any exercise below. Find your answer in the
answer column and notice the word next to it. Write this word
in the box that has the same letter as that problem.

KEEP WORKING AND YOU WILL HEAR ABOUT SOMEBODY
WHO STOLE AWAY.
ENEEENEENNEEEENEENNEEEEEENENER

@ The price of a hamburger at McBeef’s increased from 50¢
to 60¢. What was the percent increase?

Fink's typing speed increased from 40 words per minute
to 45 words per minute. What was the percent increase?

© The number of crimes committed in Blinkville decreased
from 10 crimes in May to only 4 crimes in June. What
was the percent decrease?

@ The number of students attending Scholarly High School
dropped from 1500 to 1300. What was the percent
decrease?

® A baby weighed 7.2 pounds at birth and 9.0 pounds at
the age of one month. What was the percent increase?

® During a sale, a 10-speed bike was marked down from $90 to
$70. What was the percent discount?

@ Mr. Shift bought TNT stock at $30 per share and sold it at $45
per share. What was his percent profit?

@ Mr. Shaft bought 10U stock at $45 per share and sold it at $30
per share. What was his percent loss?

@ The estimated population of the world was 1.6 billion in 1900
and 4.0 billion in 1975. What was the percent increase?

@ To conserve energy a factory cut its use of electricity from
12,000 kilowatt-hours per month to 7000 kilowatt-hours per
month. What was the percent decrease?

® Orgo’s salary jumped from $3.20 per hour to $3.40 per hour.
What was his percent raise?

@ The number of subscribers to Playperson magazine rose from
400,000 to 1,300,000. What was the percent increase?
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Cryptic Quiz
1. WHO INVENTED THE FIRST AIRPLANE THAT DIDN'T FLY?
ANSWER:

800 40 400 15 350 30,000 3500 134

25 350 30,000 800 40 400 350 6
2. WHAT HAPPENED TO THE GUY WHO LOST THE PIE-EATING CONTEST?
ANSWER:

40 400 2000 300 50,000 400 3080 3500

6 3080 2000 120 400 3500 400 2275

TO DECODE THE ANSWERS TO THESE TWO QUESTIONS:

Work any problem below and find your answer in the code. Each time the answer
appears, write the letter of that problem above it. Keep working and you will decode
the two answers.

>

® 15% of = 45 ® 2772 = 90% of

@ 560 = 70% of M o0.5%0f =250
® 8% of = 182 W 6.75 = 45% of

® 72 = 180% of ® 225% of = 13.5
@ 150% of = 201 ® 9 = 72% of

@ A salesman earns 5% of his sales as a commission. How meich does
he have to sell to earn $15007?
ANSWER: $

A certain type of fertilizer contains 8% nitrogen. If 2 kilograms of
nitrogen are needed to fertilize a lawn, how many kilograms of

fertilizer are needed? ANSWER: kilograms
@ Profits of Calculess Corporation this year were 140% of profits last
year. If profits this year were $4900, what were profits last year?
1 ANSWER: $____
© An ore is 13 % pure silver. How much ore is needed to obtain 30
kilograms of silver? ANSWER: kilograms

1

@ Safe Side Savings and Loan pays 57 % interest per year on savings.
How much money must be put into an account to earn $21 annually?

® ANSWER: $_____
A scale drawing of an elephant is 1% of actual size. If the drawing is

3.5 centimeters high, what is the actual height of the elephant?

ANSWER: centimeters
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What Do You Call a Knife That Cuts Four

Loaves of Bread at Once?

Work any problem below and find your answer in the answer column. Notice the letter
next to it. This letter goes in each box at the bottom of the page that contains the

problem number.

KEEP WORKING AND YOU WILL DISCOVER THE ANSWER TO THE TITLE QUESTION.

@ A person standing on Mars would weigh 38% of his earth
weight. What is the Mars weight of a person with an earth
weight of 55 kilograms?

@ If a person who weighs 70 kilograms has a brain that weighs
1.4 kilograms, what percent of the person’s body weight
is brain?

@ Students at one school sell magazine subscriptions to raise
money for athletic equipment. The school keeps 20% of sales.
How many dollars’ worth of subscriptions must be sold
to make $15007?

@ A ship model is 0.5% of actual size. If the model is 1 meter long,
what is the actual length of the ship?

@ Escape velocity is the speed necessary to escape the
gravitational pull of a planet. The escape velocity of Earth is
11.3 kilometers per second, while the escape veiocity of Saturn
is 310% of that. What is the escape velocity of Saturn?

@ The body of a person who weighs 50 kilograms consists of 32.5
kilograms of oxygen, 9 kilograms of carbon, 5 kilograms of
hydrogen, and 3.5 kilograms of other elements. What percent
of the person’s body weight is oxygen?

@ Of the babies born in America 51.2% are boys. If 3000 babies
are born in a certain hospital this year, what is the expected
number of boys?

A salesman keeps 8% of his sales as a commission. How much
does he have to sell to earn $20,0007?

@ Mr. D.J. Average bought a stock at $30 per share and sold it
at $37 per share. What percent profit did he make?

® 250 m
© 35.03 kps
M $400,000
© $7500
® 21.4 kg
® 20.9 kg
® $250,000
® 1556
© 2319,

3
M $7000
™ 65%
® 29%
@ 34.23 kps
@ 21%
® 60%

O 200 m
® 1536

—— —

8|7]|13[4[2[9[3[8]7]5[9]1
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How Did the Dinosaur Feel Just Before the Big Math Test?

Work each problem and select the correct answer from the two choices given. Write
the letter of the correct choice in each box at the bottom of the page that contains the
problem number.

A “‘day” on Saturn is 42.6% of a day on earth. How many hours are there in

a day on Saturn? }
(N) 10.224 hours (L) 11.124 hours

In the presidential election of 1860, 39.9% of the voters voted for Abraham
Lincoln and 29.4% of the voters voted for Stephen Douglas. What percent

voted for other candidates?
(K) 32.7% (U) 30.7%

food is 40% meat. How much dog food must Bowser eat in

kilograms of meat?
(E) 3.7 kilograms (A) 3.75 kilograms

Bowser’s dog
order to get 1

1

Tropical Trip punch is made by mixing 4 liters of pineapple juice, 5 liters
of orange juice, and 3 liters of ginger ale. What percent of Tropical Trip is

e juice?
orange jui (W) 41.7% (C) 40.3%

Mr. J. Doe has a taxable income of $3000. If the income tax rate is 16% on
the first $4000 of income, 19% on the next $4000, and 22% on the next
$1000, how much is Mr. Doe’s tax?

(T) $1580 (H) $1620
The human body is 65% oxygen, 18% carbon, 10% hydrogen, 3% nitrogen,
119 calcium, and 1% phosphorus; the rest is other elements. What percent
is‘composed of other elements? () 1.5% L) 4.5%

Magnificent Marble Makers make red marbles, white marbles, and blue
marbles. One week they made 45% red marbles, 17% white marbles, and the
rest blue marbles. If they made 456 blue marbles, how many marbles did

OO0 N | SO |G| =&l N

they make in all? (X) 1200 (F) 1050

Suzi Everthrift spent 20% of her savings, but still had $26. How much money
had Suzi saved originally? (S) $32.50 (R) 31.00
Osgood missed 8 out of 30 problems on a math test. What percent of the
problems did he get correct? (M) 75.6% (V) 73.3%

his brain was only 0.004% of the weight of his body. How much did the
Stegosaurus brain weigh? (E) 0.08 kilograms (I) 0.8 kilograms

Herman Bugkets made 19 field goals in 32 attempts. What was his shooting
percentage* (T) 59.9% (R) 59.4%

PRE-ALGEBRA WITH PIZZAZZ!
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What Did The Girl Rock Say To The Boy Rock?

Find the answer to any question below in the code key. Notice the letter next to it. Print
this letter in the box at the bottom of the page that contains the problem number.
Keep working and you will discover the answer to the title question.

CD If a coin is tossed, what is the probability of getting a head?

CODE KEY
@ If a coin is tossed, what is the probability of getting a tail? 5 R
@ Suppose a coin is tossed 100 times. About how many 12
times would you expect to get heads? _1_ T
Suppose you roll a regular 6-faced die. What is the 2
probability of rolling:
a 67 ® a2 ® a47 30| D
1
@ Suppose you roll a 6-faced die 90 times. About how many 4 |
times would you expect to get a 5?
50 O
Suppose a jar contains 5 red marbles, 4 white marbles,
and 3 blue marbles. If a marble is drawn at random from 2
the jar, what is the probability that it is: 'g B
red? @ white? blue?
15| A
A spinner is pictured at the right. If the arrow is spun, what l 1]
is the probability that the spinner lands on: 3
a L
2? —
5 E
@2 !
3? —
z L

3 s,
an even number?

@a number less than 3?

Suppose the arrow is spun 50 times. About how many times would you
expect the spinner to land on an odd number?

Il45'7131°21"4153 91216681
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Why Are Oysters Greedy?

Find the answer to any question below in the boxes at the bottom of the page. Write the
letter of that question in the box above its correct answer. Keep working and you will
discover the answer to the title question.

Ty G000 000000000000000000000000

Suppose that a card is drawn at random from the 12 cards
shown at the right. What is the probability that the card is:

® striped? Qj @ @

@ shaded?

® white?

® numbered 10?

© either striped or shaded?
® either white or striped? @
® either white or numbered 5?

® either numbered 3 or numbered 9?

2

C00000000000000000000000000000000000000000000000000000000000000000000000000000 00

A spinner is shown at the right. If the arrow is spun, what is the
probability that it will stop on a region that is:

® striped?

© either white or shaded?

® either striped or numbered 77

® either numbered 6 or numbered 3?
® numbered 47

® not numbered 47

® not shaded?

® either striped or shaded or numbered 77

AAAAA 60606666660666666 0006060006060 6606006006060668606006000060000000000800000000000a040
'vvvv VvV yvYVFyVvVVVVFY VYV FYYVYE vvvvrvvvv A A A d bbbl b dll bbbl vvvv"’..".."
D &
®
®
&
L 4
1 [ 3 ([ 1 1 211131 4 | 1 717 13|51 ][9°¢
- - - — — - -— -— - - — - - - - — x
4 110|112 5 56| 6|4 |10 5|3 [10|12| 5 |12 2 |10¢
®
6000000660 06660600060006060006060600006060600606006060660600080000000800000000000000000000080008660
VT VTV P T T P P T T T T P TP P TPV VPP PIPITIPIIPIPIIPIVIPIIVIPIIIPIIVPIIIIPIPIIPIFPIVIIIVIIVIVIP VY Y
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What Is Long And Yellow And Never Rings?

Find the answer to any question below in the boxes at the bottom of the page. Write
the letter of that question in the box above its correct answer. Keep working and you
will discover the answer to the title question.

A spinner is shown at the right. If the arrow is spun, what is the

probability that it will stop on:

® a multiple of 32
a multiple of 22

a multiple of 3 and a multiple of 2?
a multiple of 3 or a multiple of 2?

Suppose that one card is drawn at random from the 12 cards
shown at the right. What is the probability that the card is:

® white?

numbered with a multiple of 3?

@ white and numbered with a multiple of 3?
white or numbered with a multiple of 3?

@ shaded?

numbered with a number less than 10?
shaded and numbered with a number less than 10?
shaded or numbered with a number less than 10?

Pink and Purple Car Company owns the following cars: 1 pink
Ford, 4 pink Chevrolets, 5 purple Fords, and 3 purple Chevrolets.
If one of these cars is chosen at random, what is the probability

that it is:
@aFord? PINK PURPLE
® pink? 1 | B |rForD
pinkandaFord? 4 3 CHEVROLET
pink or a Ford?
i jol a3 11el1Lls
10112112 )1 3 113 ]J10]13] 4 J10] 6 |13 ] 4 ] 2 113 112] 12
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What Did The Electrician Say When His Son Came Home Late?

TO ANSWER THIS QUESTION, FOLLOW THESE INSTRUCTIONS: This puzzle contains
15 blocks of information and questions, called FRAMES. Read the frames in order.

For each frame, select the correct answer from the two choices given. Write the letter of
the correct choice in the box at the bottom of page 2 that contains the frame number.

Suppose you toss two coins at the same time. There is a certain
probability of getting two heads. Or, suppose you roll two dice. There is a
certain probability of getting a total of 7. This puzzle will help you figure out
these probabilities.

First, let's consider tossing coins. How many outcomes are possible
1 if you toss one coin?

() 2outcomes (R) 4 outcomes

The answer to the first frame is, of course, 2 outcomes. If you toss
one coin, you get either a head or a tail. Each of these outcomes is
EQUALLY LIKELY—that is, each will happen about as often as the other.
2 When you toss a coin, the probability of getting a head is 1 out of 2, or:

€) 3 L 5

Suppose you toss a penny and a dime together. How
many EQUALLY LIKELY outcomes are there? You might guess

there are three: 2 heads; 2 tails; 1 head and 1 tail.
This is incorrect. Actually, there are FOUR equally PENNY | DIME
likely outcomes. They are listed at the right. heads |heads
Now, answer the question. How many equally likely tails tails
outcomes are there when you toss a penny and a dime? heads | tails
3 tails heads
(A) 5 (S) 4

One outcome is getting 2 heads. Another outcome is getting 2 tails.
The third outcome is getting penny heads and dime tails. The fourth outcome
is getting penny tails and dime heads.

Since getting two heads is 1 of 4 equally likely outcomes, what is the
probability of getting two heads?

4 0 3 (M)

hel B

€) 1

o=

What is the probability of getting two tails?  (S)

The answer to both questions 4 and 5 is, of course, % . Now, what is the
probability of getting 1 head and 1 tail? Remember, there are TWO WAYS
to do this: penny heads and dime tails; penny tails and dime heads. So
the probability is 2 out of 4, or:

6 €) 1 ©) 3

:
If the probability of getting 1 head and 1 tail is 5 , then if you toss
2 coins together 100 times, about how many times would you expect to get
7 1 head and 1 tail?
(T) 30 (A) 50

PRE-ALGEBRA WITH PI1ZZAZZ!
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Page 2

The method we used for the coin problem has two steps: (1) listing all
equally likely outcomes; and (2) seeing how many of these outcomes are in
the EVENT we are talking about. An EVENT is a certain subset of outcomes,
like getting 1 head and 1 tail. :

Let’s apply this method to dice rolling. How many equally likely
outcomes are there if you roll 1 regular 6-faced die?

(V) 6 (R) 4

Suppose you roll two dice, 1 red
and 1 green. We can make a chart to 11y (12 (13) (1.4) (1,5 (1.6)
see all equally likely outcomes. This 1) @2) (23) (24) (25) (26)
chart is at the right. The first number (3,1) (32) (38.3) (3.4) (35 (3,6)
in each pair is on the red die; the (41) (42) (43) (44) 45) (4.56)
second number is on the green die. (6,1) (5,2) (6,3) (5.4) (55) (5,6)

By counting the number of pairs, (6,1) (62) (63) (6.4) (6,5 (6,6)

you discover how many equally likely
outcomes there are. How many

are there?
(8) 32 (Y) 36

10

Usually when you roll two dice, you are interested in the SUM of the two
numbers you get. For example, red 1 and green 4 adds up to 5. But there are
actually FOUR different ways to get a sum of 5: (red 1, green 4); (red 2,
green 3); (red 3, green 2); (red 4, green 1).

So, of the 36 equally likely outcomes, four of them are sums of 5.

The probability of getting 5 is 4 out of 36, or:

M 3 R)

There is only one way to get a sum of 2. (Both dice have to come up 1.)
So the probability of getting 2 is:

11 T 5
L) 35 H) 35
How many of the 36 outcomes are sums of 10? The probability of

12 getting 10 is: 1 1
F 5 N) =

- o , . 5 7

13 The probability of getting 8 is: (R) 35 (M 38

1
14 The probability of getting 7 is: (F) 7 (W) %

15

The method we used for both the coin problem and the dice problem
has two steps. These two steps are: (1) listing all equally likely outcomes;
and (2) seeing how many of those outcomes are:

(U) in the event we are talking about.
(G) not in the event we are talking about.

14

1|118|219]|6|8|4]|12]3]|15|11]7]|]10]5
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Why Don’t We Wear Paper Clothes?

Find the answer to any question below in the code key. Notice the letter next to it. Print this
letter in the box at the bottom of the page that contains the problem number. Keep working
and you will discover the answer to the title question. CODE KEY

Suppose a coin is tossed 3 times. What is the probability of:

@ getting 3 heads?

@ getting 3 tails?

@ getting ANY particular outcome (such as head, tail, tail)?
Suppose a coin is tossed 4 times. What is the probability of:

@ getting 4 heads?

@ getting any particular outcome?

@ Suppose you toss a coin 4 times and get 4 heads. What is the
probability of getting a head on the 5th toss?

@ Suppose you toss a coin 10 times and get 10 tails. What is the
probability of getting a tail on the 11th toss?

L RVEVRVEVEVEVEVIVRVIVEVEVEVEVEVIVEVEV RV VEVIVAVEVEVEVEVEVEVRVRVEV VS

Suppose a jar contains 3 red marbles and 2 white marbles. If a
marble is drawn at random, what is the probability it is red?

Suppose a jar contains 3 red marbles and 2 white marbles. If one
marble is drawn at random, then replaced, and then another marble
is drawn at random, what is the probability of:

@ drawing a red marble on both draws?
drawing a red marble, then a white marble?
@ drawing a white marble on both draws?
@ drawing a white marble, then a red marble?

L RVEVEVEVRVRVEVEVRVEVIVEVEVEVIVEVRVRVEVEVEVRVRVRVRVRVRVEVEV VA

1

The spmner1at the right is designed so that P(A) = 2 , P(B) =
and P(C) =~ . If the arrow is spun twice, what is the probablllty
of the spinner landing on: A

@ A on both spins?
A, then B?
@ B on both spins? , C B

E10[11[3[8[5]6]1[12[14][4 [ 7[15][13]9 2%
< >

PRE-ALGEBRA WITH PIZZAZZ!
1 1 4 © Creative Publications



0000000000000
e
u=22g iu=is-8-6@
iGic :
== u=i0L L@
i€i9
U-TF @ U= 9@
iciv

u=S5@ u=isiz@

u=ivi€Q

[~
I
o|w

I
~|
®@ & ©

©

=L@
u=is @
L<¢-€

U="T7Z¢cvs @ u=ir@

1~
I
ol

"uonng ayj apooap [|Im nok pue Buiiom deay “uoinjos sy} aAoge uonenba Jey) Jo 18119| 8y S1l4M ‘Uolng
ay) uo sieadde uoiln|os ay} awi} yoeg "uolng ay) Jo Wi 8y} punole uolinjos ayl puij pue 1ybu sy} je uonenbs Aue aAj0g

uolling 3HL UO

:NOLLNng 3H1 3d003Aa O1

115

PRE-ALGEBRA WITH PIZZAZZ!

© Creative Publications



DIRECTIONS:

Figure out the answer to any question below. Then find your
answer in the coded line at the bottom of the page.

Each time the answer appears in the code, write the letter of
that question above it.

KEEP WORKING AND YOU WILL DECODE THE LINE.

How many arrangements of the letters M, A, T, and H are possible if each
letter can be used only once in each arrangement?

Six people are to be seated in a row of six chairs. How many different
seating arrangements are possible?

There are 3 roads connecting Towns A and B, and 4 roads connecting Towns B
and C. How many different routes are there from Town A to Town C?

The GT Dragger offers 5 different engines, 4 different paint jobs, and 2 different
radios. How many different ‘““‘packages” are possible?

How many different batting orders are possible for the 9 men on a baseball
team?

Orgo has 5 pairs of pants, 6 sport shirts, and 3 belts. How many different outfits
can he make using these items?

How many different 2-letter arrangements can be selected from the set
{S,HARK}?

=

=

How many 3-letter arrangements are possible using the 26 letters of the alphabet if
no letter can be used more than once?

If a school offers 9 different subjects, how many different schedules of 5 classes
are possible?

In how many different ways can a president, vice president, and secretary be
elected from a class of 22 students?

;—joy(vdmangl different 4-digit numerals are there? (Hint: zero cannot be used as the
irst digit.

TITLE: BIG DRIPS

362,880 9240 362,880 9240 20 9000 720 24 15,120 9000

9000 24 90 9000 720 12 15,120 40 15,600 15,600 9000 15,120 720
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Combination Code

Figure out the number of COMBINATIONS for any problem below. Find your answer
in the code at the bottom of the page. Each time the answer appears in the code, write
the letter of that problem above it. Keep working and you will decode the message.

B (50 I8 BB 0Q B o0 BIBL o0 B B o0 BB 00 BB 60 S o0 SIS 60 2
® 5 objects taken 3 at a time @7 objects taken 2 at a time
4 objects taken 2 at atime ©s objects taken 5 at a time
6 objects taken 4 at a time OF objects taken 6 at a time

B0 6) I L (00) BN OO IR © O) ST (00 I By 00 SEOIIE 50 SN B 00 ST B (0.0 BTy /0 LB
@ How many committees of 3 members can be formed from 6 people?
@ How many committees of 2 members can be formed from 8 people?

@ A student must work any 4 of the 5 problems on a math quiz. How many
different selections of problems can be made?

@ A basketball team has 8 players. How many different 5-man teams are
possible if each player can play any position?

® Thumba likes to wear 2 rings, one on each thumb. If she has 9 rings to
choose from, how many combinations are possible?

@ Gorgeous Gertrude has 7 boy friends. If she can see only 3 of them on a
weekend, how many different combinations could she see?

© A student may choose to read any 4 books from a list of 8 books. How
many choices does the student have?

® In the year 2525, astronauts Milky and Way are blasting around the solar
system. If they decide to visit 5 of the 9 planets, how many different
selections could they make?

@ Mergatroid has just enough money to buy 2 candy bars. If there are 10
kinds to choose from, how many choices does she have?

TITLE: EVEN ODDS

70-6-56-20-35- 1-56-36-36-15-10-28-70-45-20- 5 -15-21-45-126-15-45-84
|
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Test of Genius

J_

Which of the four figures below
should go in the empty box above?

l_'cgll |

1 3 4

@ Tom, Dick, and Harry work in a
bank. One is the manager, one is the
cashier, and one is the teller.

The teller, who was an only child,
earns the least.

Harry, who married Tom'’s sister,
earns more than the manager.

What position does each man fill?

(@) Two boys weighing 100 pounds each
and a man weighing 200 pounds
wish to cross a river. Their boat will
hold only 200 pounds safely. How can
they cross the river in the boat?

o o o O

A A

ROVER FIDO BOWSER RUFF

You have your choice of one of the
four pets above. You are told that
white squares eat more than white
circles, black squares eat more than
white squares, and black squares
eat less than black circles. Which
pet would be cheapest to feed?

@ Arrange nine dots in such a way that

you have 8 rows with 3 dots in
each row.
@ o [
o ® ° ¢
) o
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@ Try to put the numbers 1 to 12 in the
twelve boxes below so that the

numbers along each side add to 26.

A clock takes 4 seconds to strike

5 o'clock. How long will it take to
strike 10 o’'clock? (Hint: The answer
is not 8 seconds.)

John, Jack, Jim, and Joe all decided
to take up horseback riding. Jim
went twice as many times as Jack,
and John went four more times than
Joe but three less times than Jim. Joe
went 15 times altogether. How many
times did Jack go?

@ Gear X has 12 cogs (teeth) and turns

clockwise at 30 revolutions per
minute. Gear Y has 24 cogs and gear
Z has 6 cogs.

How fast and in which direction does
gear Zturn?

Y

TS TSP
E SCORING KEY ‘
g 8or9 -- Superstar Genius
% 6or7 -- Star Genius

B 4or5 -- Genius

% 3 or less - - Genius of the Future

&\W&%&% =)



Why is a Leaky Faucet Like a Race Horse?

TO ANSWER THE IMPORTANT QUESTION ABOVE:

Complete any statement below with one of the B C
answers given at the bottom of the page. Then write
the letter of the statement above its correct answer.

KEEP WORKING AND YOU WILL DISCOVER
THE ANSWER.

@ The figure formed by two rays with the same endpoint is an

@ The basic unit by which angles are measured is the

@ The intersection of the two sides of an angle is called the angle’s

@ The small box at the vertex of ZAOB indicates that ZAOB
measures

@ An angle with a measure of 90°iscalleda_____ angle.
® PointCisinthe ____ of 2BOD.

@ An angle whose measure is between 90°and 180°isan ________ angle.

@ Two angles whose measures have asum of 90° are angles.

@ £BOC and £BOA are angles.
@ Two angles whose measures have a sum of 180° are angles.
@ An angle whose measure is between 0°and 90°is an______ angle.

@ LAOE and _______ are supplementary angles.
@ £CODand _______ are complementary angles.

@ Two angles having the same measure are said to be
® £COD and £AOE are congruent because they are angles.

® The two rays that form an angle are calledthe ___ of the angle.

DEGREE |
ADJACENT
INTERIOR
VERTICAL
OBTUSE

-
Z
uJ
]
on)
)
=z
o
O

SUPPLEMENTARY
OMPLEMENTARY
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Daffynition Decoder

TO DECODE THESE THREE DAFFYNITIONS, FOLLOW THESE DIRECTIONS:

Figure out the measure of the unknown angle in any exercise. Then find this _
measure in the code. Each time it appears, write the letter of that exercise above it.

KEEP WORKING AND YOU WILL DECODE THE THREE DE-FUN-ITIONS.

RAINCOAT:

40° 80° 132° 35° 95° 90° 48° 66° 90° 36° 48°
PASTEURIZE:

40° 130° 130° 105° 36° 48° 40° 130° 30° 90° 90°

WILL:
36° 95° 90° 36° 95° 55° 33° 50° 90° 36° 66° 36° 31°

\“

®IFms1 =48, THENmz3 = 4

QIFms1 =48, THENmz4 = 3

O IFms6=40°, THENms5 = 141316

®IFms7 =54°, THENm/8 = 15

OIFms7 =59, THENmz6 = 8

OIFms5 =57, THENm/8 = /7 o\12

@IFms3=50° THENmz9=___ 5/ 1°wi

® IFmz12 = 120°, THEN m/3 = /7

® IF m27 = 55° AND m29 = 45°. THEN m~15 =

M IF mz3 = 46° AND m214 = 99°, THEN m28 =

WIFmz9 =29° AND m215 = 85°, THEN m~7 =

®IFms8 =37°AND m23 = 38, THEN m/14 =

© IFm.7 = 40° AND m215 = 90°, THEN m~£12 =

@ IFms3 =35 AND m~16 = 90°, THEN m~8 =

® IFms8 = 40° AND m£12 = 140°, THEN m/15 =
® IFms7 = 55° AND m21 = 50°, THEN m~16 =

PRE-ALGEBRA WITH PIZZAZZ!
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Why Did Orgo Iron His Four-leaf Clover?

statement below. Write this letter in each box at the bottom of

the page that contains the statement number. (The exercises

refer to the figure at the right, where mlin.) A
n

KEEP WORKING AND YOU WILL DISCOVER THE ANSWER TO —<-— 778 —3
THE TITLE QUESTION.

Circle the letter of the phrase that best completes any m 14
3/4 b

Two lines that intersect at right angles are
(L) parallel (N) perpendicular

Two lines in the same plane that never intersect are
(C) parallel (K) perpendicular

A line that intersects two or more lines at different points is a
(E) transversal (A) bisector

In the figure, the angles labeled 1, 2, 7, and 8 are
(B) interior angles (G) exterior angles

The angles labeled 3, 4, 5, and 6 are
(A) interior angles (T) exterior angles

Pairs of angles such as those labeled 1 and 5, or 4 and 8, are
(I) corresponding angles (U) adjacent angles

The angles labeled 3 and 6 are
(K) alternate interior angles (D) alternate exterior angles

The angles labeled 4 and 5 are
(W) alternate interior angles (P) alternate exterior angles

If two parallel lines are cut by a transversal, then corresponding angles are

BREABO®NE®E@M®®M®®

(T) supplementary (R) congruent
If m£1is 125° then m45 is
(S) 60° (H) 125°
Alternate interior angles are
(U) congruent (O) complementary
If m£3is 60° then m4£6 is
(B) 40° (L) 60°
if m£3is 60° thenm £8is
(S) 120° (T) 60°

When two lines in a plane are cut by a transversal, and if corresponding angles are
congruent, then the two lines are
(F) intersecting (P) parallel

—h
f-y
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What is Unusual About The New Surgeon Doll?

Find the answer for any exercise below in the CODE KEY. Notice the letter next to it.
Print this letter in the box at the bottom of the page that contains the exercise number.
Keep working and you will discover the answer to the title question. (Assume that lines
in each figure which do not intersect are parallel.)

CODE KEY
In_the first figure at_the right, find: 135}7/ 40° |N
D ms3 = @Dmss= < e . e
@ ms4= ® ms6 = / 55° | A
@ mL2 = @ mA1 = 4 5 > 65° O
y7 70° | S
| 1 85° [B
| 0 110° [T
In the second figure, find: ~, TR
@mL1 = mL7= ZN 135° |
mLS': @m43= 6$\A 140° P
® ms5 = 2ms2 = ___ | |
#r
In_the third figure, find: bl 40°\"1\2 >
ms4 = ®ms2 =
Dm,s3 = Dms1 =
m4s5 = 125°
- . 34 5

In the fourth figure, find: o \ \Y{SO _

A®ms2 = < 1 2 ”
mA4=
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Getting Into Sha

PRV
§ Figure out the best word to complete any statement below and write it in the boxes
§ next to the statement. One or more of the boxes has a number. This number tells you
§ where to put that letter in the box at the bottom of the page. Keep working and you will

PN PPN

spell out a message. Good luck!

pes

PPN AP LN

§

IV P LI PVL VL LPHLPPN R PL LPVLPAPPLPNLRN

A triangle isa —__ with
three sides.

10

(2 A polygon with four sides

11

isa____.

@A polygon with five sides
isa_— .

@A hexagon is a polygon with
six sides and six .

(®) A polygon with eight sides
isan .

@ A polygon with ten sides
isa_— .

A triangle with no two congruent
sidesisa___triangle.

A triangle (or trapezoid) with
two congruent sides is ____.

@ A polygon with all sides
congruentis .

A triangle with a 90° angle is
a____triangle.

20

15

18

16

13

23

(1 A quadrilateral whose opposite
sides are parallelisa ___.

12

(2 A parallelogram with four right
anglesisa ____.

@A quadrilateral with one pair of
parallel sidesisa .

A parallelogram which is equilateral
isa__ .

@9 A rectangle which is equilateral
isa___.

19

22

17

21

14

112(3|{4|5|/6|7(8|9|10(11|12

13

14

15

16

17

18

19

22

23
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What Can You Wear D
to a Costume Party?

Complete any statement below with one of the answers given

at the bottom of the page. The write the letter of the statement '

above its correct answer. Keep working and you will discover B

the answer to the above question. A

(@) The set of points in a plane at a fixed distance from a given point
is a

(D The points on a circle are all the same distance from the

(S A line segment from the center to any point on a circle is a

® A line segment with both endpoints on a circle, such as
ABisa_______.

@ A chord that passes through the center of a circle is a

(D The length of a radius is________the length of a diameter.
(@ An angle whose vertex is at the center of a circle is
a

® Partofacircleisan_______. 7”3
@ If m 2 DOF is 110°, then m (DF) is______. (/"
®) If m 2 DOF is 110°, then m (FBD) is N,
@ If m ~ BOF is 150°, then m (CE)is_____ .

® If m . BOF is 150°, then m (EAC)is____ .

@ If m ~BOF is 150°, then m (BC) is____.

© If m 2 BOF is 150°, then m (CEB)is____.

@M An arc with a degree measure less than 180°is a

@ An arc with a degree measure more than 180° is a

L) b e o o | - o (7)) o q) —o o (- ._GJ
o (@) = O O == | O o | O © =
@ & o | gl ®|2|c|c|d|o|lm|2|c |2 |ED
™ SV i) =il |o | & |EC
o| £ © o o o |8 |owm
T | .© < &)
g © &
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How Can You Tell When There Are 1001
Pickles Under Your Bed?

Find the answer for any exercise below in the CODE KEY. Notice the letter next to it.
Print this letter in the box at the bottom of the page that contains the exercise number. Keep
working and you will discover the answer to the title question.

KEKBAKBKEHBKBRBNKEXBEABKBHKBKBEAKEKEAKBKEKEXBREXE

In the first figure, find the degree C
measure of: b
@ ,DOE___ ®be_ »
@.,n0E_  ®EAD_ | g CODEKEY
®.coB__ @EA 3550 23°|Y
@8C ACE A 35°|R
KEREXREREKBKEKEKEKEKE T A
D 80°|E
In the second figure, find the degree
measure of: 90°|0
@ scoa__  BEA__ \ 109 L
LCOB_ A/B\E___ C 0O E 1450 T
DB ®be S 180°[
@@“‘ ETE_ 215°(G
- B 260°(C
KEKEKBKBRBRBKEKBHEXD A 270° (U
In the third figure, find the degree /—\ 280°|S
measure of: C— D 293° |1
@,BoA  @pac 325°|N
/DOA __ @AcD
oA @scA

@ @@ e A
KEKBKBKEKBEKEKBEKEKBKBDKBRKBKBRKBXKBAB KB KBKBKEN
10|15|14 (11| 1 |18|21/20| 9 |22| 3 [ 5| 7 |13| 2 [12]| 4 |23|19|24|17[16] 6 | 8
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All the sides and angles are listed for each triangle. Find a pair of CORRESPONDING
PARTS. One will have a number, and the other will have a letter. Write t_he letter in the box
at the bottom of the page that contains the number of the corresponding part.

B AABD = ACBD

@ £A ®BD
@ ,aBD O ,cDB
®.,BpA ® ,c

@ AB ® cb
. ®sp ®BC
®aD © ,DBC
A C AAAAAAAAAAAMAAMALAAMAAAAAAAAAMLALMAMAAMAAAAAAAALAAAALAAAAAAAL
- - AEFG = AHGF AEFI = AHGI
@ @®FH @, ® sHal
® ,eFc © H @, eri ©iH
, ®,FrGE ® 2FGH | @ ,/FE © ,GIH
EF ® FG FE ® GH
AFa ®,6FH | @F ® /H
2Ge ®aGH ®ie ® Gl
E L H AAMAAAAAAAAAAAMAAAAAAAAAAAARAAAAAAAAAAAAAAAAAAAAAAAAAL
AJLM = ANLK AJKO = ANMO
N @ /LKN @ /4 ©oN
/L ® ,L +JKo  ® MO
K M @, .Lms DkKN @ ,kod ® ~NMO
@1 ® N @Ky ® ,MON
© @™ ® LK @9ko @ /N
| MV} ® /N @os DOwN

25| 7 (17| 8 |23|13(28| 1 [18(24( 3 |22(11|14| 6 (20|16 (30| 2 [15(27 (21| 4 |12|26]29 9l1910
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Why Did Mrs. Washington Go Into
George’s Bedroom Early in the Morning?

TO ANSWER THIS QUESTION FOLLOW THESE INSTRUCTIONS:

Two congruent triangles are indicated for each exercise. Assuming you know only that the
marked parts are congruent, circle the theorem that proves the two triangles are congruent.
Write the letter of the correct choice in each box at the bottom of the page that contains the

exercise number.

E F
@ AABC = ADEF @ ABCD = AFEG
@ SSS @ SSS G
@ SAS @ SAS N
® ASA @ ASA B H D %
E
H
@ ACDE = AFGﬁ @ ADEF = AHIG D/O\\F
@ SSS © SSS
® SASC ® SAS
@ ASA s ®ASA G '
G
® AEFG = AEHG _ ® AFGI = AHGI
@ SSS ® SSS |
® SAS , ® SAS . .
@ ASA A @ ASA
J
@ AGHJ = AlJH AHJK = ALJI
© SSS ® SSS | K
© SAS ® SAS
€ ASA G © ASA H L
2(8[7]7 7]8|]2]6|4]3]8

K
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Monster Mysteries
1. HOW CAN YOU STOP A MONSTER FROM BITING HIS.NAILS?

12.5 10 3% 9 4.39 11 125 192 9 10 9% 3.91 4.39 8% 9 3.91
2. HOW CAN YOU TELL WHEN THERE IS A MONSTER IN BED WITH YOU?

2% 6 20 4.39 9 125 8‘]4‘ 35 4.39 11 3.91 5% 10 32‘ 10 12.5 10 3.91

decode the two mystery answers.

TO DECODE THE ANSWERS TO THE TWO QUESTIONS ABOVE:

Find the length of the side indicated in any exercise below. Each time this length
appears in the code, write the letter of that exercise above it. Keep working and you will

A ABC ~A DEF. The lettersa, b, ¢,
d, e, and f represent the lengths of
the sides.

D Finde, ifa =8,d =22,b = 4.
® Findd, iftb = 6,e = 15,a = 8.
® Find a, iff =32,¢ = 12,d = 24.
™ Findc,iff =15,b = 7,e = 3.
® Findf, if c = 2%, d = 24,a = 10,
® Find b, ifc =5,e = 7,f = 9.

© Finda,ifb=11,e =8,d = 6

A RST ~A XYZ. The lettersr, s, t,
X,y, and z represent the lengths of
the sides.

S Y

....
N

R T X Z
s y

® Findt, ifs = 1%,y = 5,2z = 8.
® Findy, ifs =42,r=9,x = 2.
® Findr,ifz =5,x = 25t = 12.
®Findx,ifs =2,r =23,y = 3.4.
W Finds,ifz =3,y =48,t=12.
® Find z, ifr = x, t = 4.39.

O Findt, ify =3,s = 2,z = 1.

@ A flagpole casts a shadow 25 meters long. If

a woman who is 1.6 meters tall casts a

shadow 4 meters long at the same time and

location, the flagpole is  meters tall.

@ A building casts a shadow 37.5 meters long.
If a meter stick casts a shadow 3 meters long
at the same time and location, the building

is meters high.

A ]
1.6m
Y

~—4m—> — 25m —— >
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The Meter is Neater

Express each measurement in meters. Find your answers in the rectangle below. Cross
out each box containing a correct answer. When you finish, there will be 9 boxes

not crossed out. Print the letters from these boxes in the boxes at the bottom of the
page. A hidden message will appear. )

®575cm = m

@ 5.75 km = m

® 4700 dm = m

@ 933 hm = m

® 80,000 mm = m

@ 399.1 dam = m

@ 0.69 km = m 9933 mm = m
0.008 hm = m ({920,050 dam = m
@ 20.05 mm = m @0.02 Km = m
690 cm = m (94366.6 hm = m
@0.47 dam = m @0.5 dm = m
270.2 dm = m (8200,000 cm = m

(WWW_—*-__M—*—_W
INV. |PAR | ADE | TSO | REA |DWR | ITE | LOC | KIN

436,660 | 200 | 2000 80 0.8 20 5750 | 0.00933( 4700
DLE GTI LEA | CKE | EPS | TAR | TSA ILK REF
7.02 93.3 690 575 | 0.575 6.9 7020 | 3991 |436.66
INE DOT | SMA | THI NKS | SLA | PSO| NGS | TER

200.5 | 470 4.7 50 [0.02005|93,300 | 0.05 | 3.991 200,500
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* % % x xWhat is White And Goes Up? x x % x x

TO ANSWER THIS QUESTION:

Fill in the blank in any exercise below. Draw a straight line connecting each exercise with
its correct answer. Each line will cross a number and a letter. The number tells you
where to put the letter in the row of boxes at the bottom of the page.

K K K K K K K K K K K K KK K KK K K K KK K K K KK Kk

85cm=__ _mn “m 8500
0.85km=__ mn m 49
85cm=__ _mman @ @ - m 2770

85000dm=___mm © ® w85
0.85 dam = mm @ @ m 0.0277
850 km = damm (@ ®© (® ® m 49
4900m=___hmnm @. @ m27.7
49 mm = dam = @ m 0.85
49hm=___Kkm m O (A) m 0.49
49 dam = cm m (17) ® ® © m 0.277
49,000 dm=___kmm @ @ @ m 850
49m=___dml@ @ @ m 85,000
277hm=___mn @ m2.77
2770mm=___dm = m 490
2.77 m = dam m ‘® G @@185
0.0277 km = cm m @ ) m 0.0049
27.7dam=___hmn m 49,000
0277cm=____ dmmn m 277
1|/2|3|4|5|6|7|8|9|10[11]|12]13]14|15]16]17]18
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DIRECTIONS:

Figure out the PERIMETER of any polygon described below.
Then find your answer in the code at the bottom of the page.
Each time the answer appears in the code, write the letter

of that problem above it.

KEEP WORKING AND YOU WILL DECODE THE LINE.

@ Triangle with sides measuring 6.3 m, 2.9 m, and 10.5 m

@ Rectangle with sides measuring 9.6 m and 3.8 m

(D Square with side measuring 4.65 m

@ Equilateral triangle with side measuring 15.8 m

~ @ Pentagon with sides measuring 6.0 m, 7.5 m, 142 m, 9.1 m,and 0.9 m

@ Parallelogram with sides measuring 5.32 m and 8.05 m

® Equilateral octagon with side measuring 4.325 m

@ Isosceles triangle with base measuring 12.6 m and legs measuring 7.5 m

© Quadrilateral with sides measuring 9.4 m, 8.0 m, 15.0 m, and 6.8 m

@ Rhombus with side measuring 17.005 m

@ Equilateral decagon with side measuring 13.597 m

® Isosceles trapezoid with bases measuring 2.1 m and 0.6 m, and legs measuring 3.8 m

@ Hexagon with sides measuring 0.2 m,3.7m, 51 m,4.0m,3.0m, and 0.7 m

® Rectangle with sides measuring 17.4 m and 8.0 m

@ Equilateral pentagon with side measuring 10.06 m

| TITLE: HOLE OF FAME

268 m 13597m 346m 503m 508m 19.7m 16.7m 27.6m

392m 197m 16.7m 103 m 37.7m 16.7m 186 m 68.02 m
474 m 2674 m 68.02 m 26.8 m

503 m 37.7 m 50.8 m 50.3m 346m 68.02m
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What Do They Call

the Golden Gate Bridge At 5 P.M.?

Compute the distance x for any figure below and find your answer in the answer
column. Notice the letter next to it. Write this letter in each box at the bottom of the page
that contains the number of that figure. (Assume that all angles that appear to be
right angles are right angles.)

®

@ g @ 17.5 © 2.75
— ¥ — 1
y 4
y 4
@ ® T ™ 172
T 8.2 13.6 10.6 6
X X |
12
| s ©
6 T 15 ® 3.25
2.75 8,5 '
| 38.1
® ® 24
@ o I
21Z ) ® 3.85
) ~0.84 2.7 8.3 @ 4.9
10 | 0.9 i
1 2.85 ® 4.3
32 r 4
1
@ ) " ® 41
7.6 .
13 © 570
l 122 — g1 — ® 5
f — X 3
A 10.3 o7 O
F 8la]e6[10]7]2[11]10]12]|9 (5|4 |1 | 2[11[10][12]|12] 4 7J
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Measuring Around

Figure out the PERIMETER of each polygon and find your answers in the rectangle.
Cross out each box containing a correct answer. When you finish, there will be 7
boxes not crossed out. Print the letters from these boxes in the boxes at the bottom

of the page.

(1) — (2 [3) 9.4 m
3.6 cm 4.09 cm
10 m 6.7 m

23.4'mm 4.95 cm 8.8 m
= mm p = cm p= m

w
(@)
(@)
3
67 mm
1
w ¢€q
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Why Did The Chicken Hit Her Egg
With An Ax?

S Find the CIRCUMFERENCE of each circle with diameter (d) or radius (r) as indicated

S (use 7 = 3.14). Draw a straight line connecting each exercise with its correct answer.

S Each line will cross a number and a letter. The number tells you where to put the letter in
S the row of boxes at the bottom of the page.

d=1cm ] m 21.98cm
reiem = @ O = 31.4cm
d=7cm = ® ® ® m  3925m
r=9cm ] [ 2198 m
d—10em u & ® ©® ® & 238550m
r=50cm m (D ® W 314cm
d=23cm = ® @ L] 3.14 m
r=41cm = @ ®  3.14cm
d=075cmm @ ® s " 5966m
r=95m m @ ® m 31,400 m
d=008m m @ ® " 6.28cm
r=5000m = @ @ B 69.708 m
d=222m = © B 219.8m
r=0625m m ) m 56.52 cm
d=70m = @ ® @ m 7.222cm
r=350m m (2 © m 21,980 m
d=7000m m @ m 25.748 cm
r=05m | B 0.2512m

-
4)]

l1 2|13|4|5|6|7|8]|9(10{11]12]|13]14

16 (17 1zil
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Famous Honolulu Typing School

Figure out the PERIMETER of each figure and find your answers in the rectangle
below. Cross out each box containing a correct answer. When you finish, there will be 3
boxes not crossed out. Print the letters from these boxes in the boxes at the bottom

of the page. (All curves shown are semicircles; use = = 3.14)

THE NAME OF A FAMOUS HONOLULU TYPING SCHOOL WILL APPEAR!

30 m
® [ 8 m—
T -
162
_ + ] 0T o
20 m 9m 3
im u mjp
L]
7m
7.5 m 6m
{ PAL TYP EHO WHA LES SON
{ 771 m 30.84m | 31.85m 31.24m | 80.8m 47.4 m
{ MPE CKA RAT EMA KEY OYO
{26534m | 33.75m | 2826m | 7536m | 77.46m 14.28 m
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What is a GOLFER’S Favorite Number?

Find the GREATEST POSSIBLE ERROR for any measurement below. Circle the correct
answer. Then connect the points given for that answer.

WHEN YOU FINISH, YOU WILL KNOW A GOLFER’S FAVORITE NUMBER!

CONNECT:

0.5m

K—L—X
<0.05 m

52m <GH-U

0.005cm P—Q—DD
9.13¢m  <40005 cm <O—N

0.05mm F—-S—E
67.07mM<5 005 mm <L—K—KK

X—=Y—K

24 km <J—>W

§8kg <0-008kg _CC—D—C

0.05kg  <BB—AA
150.7 cm <8:250fnm <Pz(f§||l5|_
0.065m <ggoa " <CB2O-N
0.80sec <o 38 <P =S

722039 <g3000 7% <1 X

o o ®
e EE
AA BB CC DD
() () ® ° FFe
N O P Q R S
) e o e o °®
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0.5cm

4.7 x 10 cm <5hem

5000 km

6
6.2 X 10° km <50,000 km

-2 0.00005 m
7.34 X 107" M <5'5005 m

0.00005 m

-5
1.8 X107 M <5'0000005 m

500,000 |

2.002 x 108 | <50.000 |

_3 __0.000005 g
9.062 > 107 9<4'0000005 g

5 kg
8.0 x 10? kg <0.5kg

50 kg
8 x 10% kg <5 kg

5 kg

8.00 x 10? kg <0.5kg

G H I J
L L ] L
GG HH I JJ
° o o ° ®
v
.T Uo ° Wo °

CONNECT:

F—E—R
M-z

<GG—>G
CC—DD

MU-T—G
DD—D—E

K L M
®
KK LL
e 0
MM
X Y Z
) ®
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A Square Deal

DIRECTIONS: Figure out the AREA of any letter below and find your answer in the code
at the bottom of the page. Each time the answer appears in the code,

write the letter above it.
KEEP WORKING AND YOU WILL DECODE THE MESSAGE.

TITLE: SNOOZE NEWS

29-223-30-30-34-22-29-25-39-30-413-30-29-25-40-255-26-40-38-413-22%-22-25}.30
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What happened when
Orgo tore up a PUZZLE Book?

Work each problem below and circle the letter of the correct answer. Write the
letter of the correct choice in each box at the bottom of the page that contains the
problem number.

In the first six problems, find the area of the figure.

O 37m 4.1 km
:9.0 cm E N
I © o
I o x
11.25 cm 6.7 km 3
1.(l) 101.25 cm? 3. (H) 21.52 km?
(E) 99.75 cm? (S) 23.84 km?
43 mm
21m
14 mm g .
-«1.0 km-—»;’j ;:_3 —4.8m> 57 m
3 3
18 mm ' 2.1m
i 1.8 km 8.9m
4. (W) 926 mm? 5. (N) 1.73 km? 6. (R) 45.7 m2
(B) 874 mm? (A) 1.69 km? (C) 50.34 m?
7. Arectangular room is 4.8 meters wide and 6.5 meters long. What would it cost to
carpet this room if carpeting costs $17 per square meter?
(O) $526.60 (E) $530.40
8. What is the height of a parallelogram with a base measuring 9.4 meters and an area
of 126.9 square meters? (N) 143 m (D) 13.5m
9. What is the base of a parallelogram with a height of 0.75 kilometers and an aréa of
1.38 square kilometers? (M) 1.84 km (L) 1.73km
A rectangular wall is 6.0 meters long and 2.5 meters high. It has a rectangular window
that is 1.2 meters wide and 1.75 meters high.
10. What is the area of the window? (0) 2.1 m2 (U) 2.25 m2
11. What is the area of the wall (not including the window)? 2
(R) 12.9 m? (N) 13.4m
12. How many liters of paint are needed to paint the wall if one liter covers 10
square meters? (P) 1341 (S) 1.291

twee3 [1 (12910237 |11 |12|5]|1]8]|5]6|11|10]|12|12|4 [10]11]8
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Just Plane Geometry

THERE IS ONE KIND OF PERSON WHO LOVES PLANE GEOMETRY. TO FIND OUT WHO:

Solve each problem (use = = 3.14) and find your answers at the bottom of the page.
Shade in the letter above each correct answer. When you finish, you will know who
loves plane geometry!

@ A What is the area of the inscribed circle?
B What is the area of the shaded region?

C What is the circumference of the inscribed
circle? -~ 18 m—~

@ A What is the area of the large circle?
B What is the area of the shaded region?

C What is the distance from A to B along the
S-shaped curve?

D What is the circumference of the large circle?

@ If a circle has a circumference of 8.4 cm, what is the diameter
of the circle to the nearest 0.1 cm?

22 m

@ A What is the circumference of each small
circle?

B What is the area of each small circle?
C What is the area of the shaded region?

12 m

@ If a circle has a circumference of 14.5 cm, what is the radius of the circle to the
nearest 0.1 cm?

@ A What is the distance around this track?
B What is the area of the shaded region?

C What is the area of the complete region
inside the track?

60 m

le— 1058 m —>

OO FH LAGS(HAWV) (DAR(S
o Ela | E E o |
E e €| E | E
MRE HEEREN HEEE SEHE
c|=|SINISS s b~ |08 S| <
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How does an ESP expert send his m

ail?

Do any exercise below. Find your answer in the answer column and notice the letter
next to it. Write this letter in each box that contains the number of that exercise.

In the first six exercises, find the volume of the figure. All dimensions are in centimeters.

@ What is the volume of a cube whose side measures 18 mm?

How many cubic meters of earth are needed to fill a hole in the
shape of a rectangular solid with dimensions of 23 meters,
38 meters, and 4.5 meters?

@ A swimming pool is 20 meters long and 12 meters wide. What
volume of water does the pool hold if the average depth of
water is 1.75 meters?

® 3933 m?
® 510 m?

® 1071 cm?
® 1.54 m3

® 826.4 cm?
3450 kg
® 360.8 cm?
® 3360 kg
™ 420 m3

® 244.4 cm®
® 5832 mm3
@ 6432 mm3
© 2515 cm®
M 268.45 cm?
® 1.25 cm?
D1.4md
® 353.8 cm®
@3743m®
W 1.5cmd

A concrete patio is 5 meters long, 3.5 meters wide, and 8 centimeters thick.

How many cubic meters of concrete were needed to build the patio?

@ Concrete has a mass of about 2400 kilograms per cubic meter.
About how many kilograms of concrete were needed to build

- the patio?

.-.4 7101 |5 (11| 7|8 10[ 1 |11{3|2[11|3[11[10/5|9 | 6 g
]

N
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What Do You Call It
%%% When A Bull Eats A Bomb %%%
Figure out the VOLUME of each prism and find your answers in the rectangle below.

Cross out each box containing a correct answer. When you finish, there will be 5 boxes
not crossed out. Print the letters from these boxes in the boxes at the bottom of the page.

@ ! @ /\
/

| g 7 T

| /

| @ /

r}7 R | / 7.5cm 7.3cm

$§ —f ——< O _ L
e 32cm A )
9cm v 83 cm - 4.7cm 6 cn

@ ® ' ® 10m
\ | &
\ ©
T \ I = A° |
20 m \4 8 m : ° :
N\ J\ To)
- — ] £

B = 44.6 cm?

CO
102.93 cm?3

WS
2080 m®

GR
110.7 m®

97.92 cm?

BL

590 m3

IN
369.5 cm?®

oW
364.5 cm?®

HO
13,860 mm?3
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000 L] 0 0@ L1] - o, ..Q.O J ...I.‘ .l 08 ..qt.. .l
Pt emvemteny Solid Fun Fa¥emiate
Given under each figure are the formulas for its volume (V) and surface area (S). Use the

appropriate formula to do any exercise below (use 7 = 3.14). Circle the letter of the
cgir)reca answer. Write this letter in each box at the bottom of the page that contains the

number of that exercise.

|- §-<aul- § < - O -t § <l § - § <l § < § <l § < § < § - - @ <l o ek

h
1 4
V = 7r2h V =3 7r2h V=37r3
S = 2zr(r+h) S = #r(r+s) S = 4xr?
@ Find the volume of a cylinder if @ Find the volume of a cylinder if
r=4cm, h=10Q cm. r=15m, h=4m. 3
(R) 502.4 cm® (S) 516.4 cm® (T) 29.16 m*® (N) 28.26 m
@ Find the surface area of a cylinder Find the surface area of a cylinder
if r=4cm, h=10cm. ) if r~=1.5m, h=4m.
() 351.68 cm? (A) 349.58 cm - (G) 50.21 m? (B) 51.81 m?
@ Find the volume of a cone if @ Find the volume of a cone if
r=6cm,h=8cm. r=05dm, h=1.2dm.
(T) 310.54 cm? ~ (E) 301.44cm® (P) 0.415dm3 (M) 0.314 dm?3
@ Find the surface area of a cone if Find the surface area of a cone if
r=6cm,h=8cm,s=10cm. r=05dm, h=1.2dm, s= 1.3dm.
(S) 301.44 cm? (D) 290.44 cm? (K) 2.826 dm? (D) 2.906 dm?
@ Find the volume of a sphere if @ Find the volume of a sphere that
r=6mm. 3 3 has a diameter of 40 km.
(H) 904.32 mm (L) 912.42 mm (W) 30,463% km?3 (C) 33,4933 km®
® Find the surface area of a sphere A2 Find the surface area of a sphere
if r=26mm. 9 2 that has a diameter of 40 km.
(P) 412.26 mm (F) 452.16 mm (0) 5024 km? (A) 5048 km?

11|5(211[10/3| 7|4 111293 |6(112(9 |8 112’@3 7 512‘934
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Double Cross 3

‘ ;
1. What do you get when you cross A PORCUPINE WITH A GOAT? g?‘
(Y J
iy
80 225 -8 23 12 30 23 2 30 -7 5 A
2. What do you get when you cross A SHARK WITH THE LOCH NESS .SE
MONSTER? O
[ ) J
40 8 12 9 -120 80 3 é{
3. What do you get when you cross A MATHEMATICIAN WITH A 3?3
RUBBER BAND? j?r
3
22515 80 2 2 7 80 15 225 3 6 6 225 'ﬁ
4. What do you get when you cross A BLACKBIRD WITH A MAD DOG? 2?'
(X J
i
80 6 80 10 -6 15 —90. 80 15 -7 80 12 i
s
Y

TO DECODE THE ANSWERS TO THESE FOUR QUESTIONS:

Write the integer named by any expression below. Find this integer in the
code. Each time it appears, write the letter of that expression above it.

KEEP WORKING AND YOU WILL DISCOVER WHAT YOU GET FROM
EACH DOUBLE CROSS!

=\ _— S ™\ 20~ 000 _000L. .0 _00L.0-_00 ~._ 080 A~
0 TN e TNE T 8 0 T e TR0 T 8 00T e 90— e 0070~ 007 o~ 007 ¢ S0 o~

® /36 = ® 100 - VT = ™ -/8100 =
© V64 = W25 — 16 = @ —V/14,400 =
® -v36 = ®\/169 — 144 = ®v2.-v2 =
®-Vve4 = WVe? + & = Wv23-V23 =
© V144 = ® /900 = ™ \15.V15 =
O -Vv49 = © /1600 = ® (V80) =

OVET - VA= e s sesinee © (V225 =

\/‘..(—.\/“..(-

PRE-ALGEBRA WITH PIZZAZZ!
1 58 © Creative Publications



15¢

© Creative Publications

PRE-ALGEBRA WITH PIZZAZZ!



o2z 32 3alglglglal8lzlela|E (R (exlala 2228 |2
S| |&|N]|@|8[o|°]| |°|R[8[J|3|S|g (=TS8 [°|a|B|z |
L18'SL _ _ ) S
6hoL 20 —3zE1 IC@ A NvNN_,Im\/@v
991Gl _ i
oo nl 20L+:01 Ic@ s OOO#HM\/@
L6t vl _ A )
vy—>/L/A\ =U N\ 660G = U
c 4
ZvL 'yl 9— Ic@ a . II\/@
v8LEl 29— H/N = @ 3 wo_.olm\/@
9lLEl _ )
mmm.mp N_.l._.wm\/ o c@ [ ViV'] HM\/@
pred XN =U@ (3 U =06vA QD

ot ENS=U@
a0l 08/ L0
HEAI0O=U@
0S¥ AOL = U @) 0ZEA = U @)
120 ZEA=UQP
—mm.mmnm\/@ , 0Ll Hc@
87¢'0c =UN ¥ u@®@

&
e

&

u=6rA @
HC@
LA=U®

I

o
@
2
o
§

00001
L8Y'6
yv6'8
L9€°8
i 7AV
LLO°L
G2e9
LLYV'S
[AA 4
c9L'e

N5

"
Q

I
o
©
S

‘: (S
N
b
Il

—TANOTOHDONOOOO

LN

uxoLA uXxQoLA u
u sawi] 01 JaquinNju sawl] 0} JequinN "UOIIN|OS S}1 BAOQE X0q 8y} Ul
10 1004 Jo jooy uonenba yoes jo 18118] ay) B1LM

alenbg alenbg

‘NOILS3IND SIHL HIMSNY OL

¢Hnep ueg ayl o]l 1xaN puels pionebiay pia Aym

NN

PRE-ALGEBRA WITH PIZZAZZ!

© Creative Publications

160



Why Aren’t Elephants Allowed On The Beach?

Circle the letter of the correct choice. Write this letter in each box at the bottom of the
page that contains the number of the exercise.

If the square root of a number is an integer, the number is called a perfect
square. One example of a perfect square is

®

@ Q|99 ® (|

(V) 50 (S) 81
82 The square root of a perfect square is an

(U) integer (B) irrational number
fg‘i'go Which of the following lists includes only perfect squares?

() 49,144,16,1,64 (L) 81,49,100,2,9

Since 2 is not a perfect square, V2 is not an integer. The square root of 2 is
a number which, when squared, equals exactly
(R) 4 (H) 2

Let’s try to find V2. It must be between
(A) 1and?2 (M) 2and 3

FACT: (1.4)% = 1.96 and (1.5)% = 2.25. Therefore, V2 is
(E) between 1.4 and 1.5 (O) not between 1.4 and 1.5

FACT: (1.41)2 = 1.9881 and (1.42)2 =2.0164. Therefore, V2 is
(C) between 1.41 and 1.42 (W) not between 1.41 and 1.42

FACT: (1.414)2 = 1.999396 and (1.415)2 = 2.002225. Therefore, V2 is

(T) exactly equal to 1.414 (Y) between 1.414 and 1.415
S
:,3_"}' It can be proved that there is no terminating decimal that, when squared,

equals exactly 2. So the decimal for V2 in a square root table, when
squared, equals
(F) exactly 2 (R) approximately 2

REMEMBER: Every rational number can be represented either by a
terminating decimal or by a
i8es! (K) repeating decimal (D) nonrepeating decimal

£
@| ©

There is no terminating decimal that, when squared, equals 2. It can also be

Sae proved that there is no repeating decimal that, when squared, equals 2.
isee! Therefore, V2'is

(N) arational number (P) not a rational number
.\:"j A decimal that never terminates, and never repeats, represents an irrational
; number. The decimal for V2 never terminates or repeats. Therefore, V2 is

a(n)
(M) rational number (N) irrational number

It can be proved that the square root of every whole number is an irrational
number unless the number is
(T) a perfect square (S) not a perfect square

@1 ® |

13|14|61|8]7|5[12[13|10|6 (6 [11[13|4 |6 |3 |9[13|9|2[12(10]1 |2 |11
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Get The Mu%gz NOT A

NIANANANAN A RIGHT  RIGHT

TRIANGLE TRIANGLE

DIRECTIONS:

Determine whether or not the
given numbers are possible
measures for the sides of a
right triangle. Circle the
appropriate letter next to

each set of measures.

When you finish, print the
circled letters in the row of
boxes at the bottom of the
page. FIRST print those from
the column marked “‘Right
Triangle,” THEN print those
from the column marked
“Not a Right Triangle.”

A MESSAGE WILL APPEAR!

.”,BENUW} fINE

T ] BOL %, (/A 8
T SAUSAGE

D a = 30, b =40, c =50

1 |@a=080b=15c=17
==N@Da = 45 b=45c=7

O

®a=3,b=4,c=5
@a-4b=5c=6
@a=5,b=12,c=13
@a=60b=9c=11
®a—7b=240c=25
®a=80b=10c=13
@a=6b=11,¢c=Vi57
®a=9b="ii5c=14
@a=\/§7’f—,b=7,c=9
a2 =12 b=200c=24
Aa=90b=40,c= 41
(Da=15b=2c=25
9a-22b=3c=38
92 - 10,b =16, c = V356
®a=4b=+750c=13
19a=1139,b=12,¢c = 17

m

A®a-10b=24 c=26
a=V7,b=V8c=V14

@

rg|/»mixT|Z|z|ZzMmMmAMDTDIZI0O0|M® |r |O|>D
mM@m|IZ|—(>Mir|M—M@|Z|c(D|(r|T|>|PMI>

‘@a=1,b=2,c=3

FIRST PRINT THE CIRCLED LETTERS FROM THE “RIGHT TRIANGLE” COLUMN,
THEN FROM THE OTHER COLUMN.
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What Do Two Bullets Have When They
Get Married?

Work each problem and find your answers at the bottom of the page. Shade out
the letter above each correct answer. When you finish, the answer to the title question

will remain.
@ Find the length of the hypotenuse of each right triangle:

A. B. Cc. &cem
~
o £
: SN
9cm '

11 cm

wo g

@ A rectangle is 3 meters wide and 10
meters long. How long is the diagonal @ Each side of a checkerboard measures
of the rectangle? 40 cm. What is the length of its
diagonal?

@ A rectangle is 13 centimeters wide and
18 centimeters long. How long is its An inclined ramp rises 4

diagonal? meters over a horizontal —
distance of 9 meters. How 4m

@ o long is the ramp?

A guy wire is attached to [

an upright pole 6 meters 9m

above the ground. If the @ A box is 120 cm long and 25 cm

wire is anchored to the T wide. What is the length of the

ground 4 meters from the £ longest ski pole that could be packed

base of the pole, how long © to lie flat in the box?

is the wire?
@ o 4m™ The window of a burning

A television screen measures 30 cm building is 24 meters above

wide and 22 cm high. What is the the ground. The base of a

diagonal measure of the screen? ladder is placed 10 meters

from the building. How long

«— 24 m —>»
HH B H

@ , _ must the ladder be to
A ship leaves port and sails 12 reach the window?
kilometers west and then 19 kilometers
north. How far is the ship from port? ]
—™10m
Lnr_ ?)
TIH|E|JF|B|I]JH|A|S|B |E|D|]B|[U|G]|S
EElcE| € £ EE £ £
56| £8cBlec| B\ 55 5e| 8| Ef55| c5| 55| ec| 55| =E| 55
5%2 C")ﬁ STl [IuN]a™ mﬁ o NG (SR ] 1 [ Qe So|ldN
1B EN O S B (S @f- ] R (I AN e (EEl IR S [t
S | > > I Nl Bl N N D DS > g
122
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Greek Decoder

TO DECODE THE MESSAGE AT THE BOTTOM OF THE PAGE:

Figure out the length of the missing side of any right triangle ANSWERS
below. Find your answer in the answer column and notice the
ittt O EIVGE RS
KEEP WORKING AND YOU WILL DECODE THE SECRET o« V3=173
MESSAGE. ¢ \/144 = 12
®a=7b= , ¢ =12 6 V137 =117
© a=5,b= ,c =14 d Vi=1

® a=8b= = V164 m V171 = 13.1
MDa=4b=1,c= o V49=7
® a=12,b=5¢c= v V51=714
©a=___,b=7¢=10 s V16 =4
®a=___,b=V48,¢c=13 nm V95 = 9.74
®a=___,b=12,c=15 € V168 =13.0
@ a=10,b= ,c=16 AN VBT =9
@a=1,b= c=2 T V169 = 13
™ a=1,b=1c= & V150 =122
@ a=08b=06c= kK V100 = 10
®a=___,b=15c=25 po V121 =11
®a=__ ,b=11,c=17 B V2=1.41
@ a=___,b=24c=25 p Va=2

® a=V750b= ,c=15

® a=V87,b=V57¢=

@a=___,b=3,c=5

(B 00 I 00 T 00 LTI 60 BT 00 LB B 00 I LB 0 0 BB 6/6) SET B 0.6 ST o 0) BB oo )

SECRET MESSAGE

(€ dbkosmTlomaocnouo BadMNsL T

!

& KT AP Taocvv kT[S K oPp SV T T

PRE-ALGEBRA WITH PI1ZZAZZ!
© Creative Publications 1 65



What Did Lancelot Say To The Beautiful Ellen?

TO ANSWER THIS QUESTION:

Cross out the box containing the answer to each problem. When you finish, write the letters
from the boxes that are not crossed out in the boxes at the bottom of the page.

@ For each right triangle, find the length of the side that is not given:

C 13 m

D
@ ¢ %
\Qz v \

@ An 18-foot ladder is leaned against
a wall. If the base of the ladder is
8 feet from the wall, how high up on
the wall will the ladder reach?

A ‘ B
E £
© ~

w6

10m

@ The bases on a baseball diamond
are 90 feet apart. How far is it
from home plate to second base?

@ Orgo has let
out 50 meters

How far is it from

of kite string @ A quarterback at ‘—7
when he point A throws
observes that the football to B
his kite is directly a receiver who
above Zorna. If catches it at
Orgo is 35 point B. How long / 25 yd
meters from was the pass? AL—C
Zorna, how high —— 14yd—]
is the kite? <
@ From Canoeville it Q ’ : %
is 2.4 kilometers o)
i LODGE
@ A wnatis the to White Beach f w
height of this and 3.0 kilometers I
parallelogram? to the Lodge. =

B What is the White Beach
area of the across the lake
parallelogram? =9 m-=+8 m-4 to the Lodge?
CANOEVILLE
ST IC KW Qu IT UR AT GR
V821yd | V3.16 km 144 m 136 m V3.24km | V842yd V16200 V95 m
=287yd [ =1.78km =12 m =11.7m = 1.8km = 29.0 yd = 127’ =975 m
AB EA TC uT ER EA LN GT
105 m V260’ V275 V1275 m 1325 m V40
234 m? =10.2m = 16.1' = 16.6' 204 m? =35.7m =364m | =6.32m
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What Did The Leopard Say After Lunch?

TO ANSWER THIS QUESTION:

Use the table of trlgonometrlc ratios to do each exercise. Find each answer at the
bottom of the page and write the corresponding letter above it.

Find the following:

Osings Dtan 100 Ocos65 G EERER ARG
Angle Sin Cos Tan &

0° 0.000 | 1.000 { 0.000

5° 0.087 | 0.996 | 0.087
10° 0.174 | 0.985 0.176
15° 0.259 | 0.966 | 0.268
20° 0.342 | 0.940 | 0.364
25° 0.423 | 0.906 0.466
30° 0.500 | 0.866 0.577
35° 0.574 | 0.819 | 0.700
40° 0.643 | 0.766 0.839
45° 0.707 | 0.707 1.000
50° 0.766 | 0.643 1.192

&
&
:
)
%
55° 0.819 | 0.574 1.428 %
&
)
:
&
)
;

® cos 70° | MO singse @ tan 50°

Use the figure at
the right for the c
remaining problems.

| A

b

B
a

® 1f m2A = 40°, then 2 =

| c
® |f§ — 0,966, then m £ A =
@ 1tmsA =55 thend =
® t2 = 0.707, then m LA =

@ImeA— 80°, then‘-’:

®If—= 0.500, then mLA-
© |f mAA:— 25° thenE -

@ |fg ~ 1.428 then m ZA =

® i m 4B = 30°, theng=

®|f9= 0.996, then m 2B

® |t m/_B‘— 75°, then‘-’ _

4

60° 0.866 | 0.500 1.732
65° 0.906 | 0.423 2.145
70° 0.940 | 0.342 2.747
75° 0.966 | 0.259 | 3.732

@)
DA% NN A A vuﬁvm@@m@@m G

I
3

ATV

N NG N NN

©|f— = 0.839, then mLB - { 80" | 0985 | 0174 | 5671
2 85° 9% | 0.
@ImeB—15°,then§= § 65 [ 099 | 0.087 |11.430
® b _ @f 90° 1.000 | 0.000 | ;
|f E - 0906, then m LB - @‘\C""f‘\:y‘\t"‘nﬁ ‘\:'&":“cg"’;“:'&"’: :ww@
S8 |X|S Q N 2|0 ™ © | ©
(@)} [{e} < N~ [s2] o <t ° N ] w » ~— o o o o o %) ~
dz133 5|5 F8®[2]2]S|2|8|B[®[3]%] 835
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Did You Hear About. ..

3

M,
G

3

CAAAAAAAAAAAAALAAAAAAAAAAAAAAAAALAAALS
- |s C D E F
| J K L M 2

:

DIRECTIONS:

In any trnang!e below, find the length x. Round it to the nearest 0.1 meter.
Find your answer in the answer column and notice the word next to it.
Write thls word in the box that has the same letter as that triangle.

KEEP WpRK/NG AND YOU WILL HEAR ABOUT A NOVEL NAME!

X
[ 2
/é.j
[ N
X

©

A submarine dives at an
angle of 13°. How far is
it beneath the surface at
a point 500 meters
along the surface from
where it submerged?

500 m

— s

Q55N

RN R

16.8 m—ROBINS

3.7 m—BECAUSE

16.7 m—ROOSTER

23

®
/mx

8m

30m

25 m

48°

23.8 m—SO

46.2 m—NAME

22.7 m—SUN

44.9 m—BEST

5.6 m—THE

87.3 m—WAS

3.2 m—BANKS

10.6 m—GAVE

98.

5 m—WRECKED

5.8 m—ROBINSON

9.9 m—FARMER

115.5 m—CREW

®
X (gg 75m X 70/;;
@ 30°

PRE-ALGEBRA WITH PIZZAZZ!
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17.6 m—HE
® 12.7 m—WHO
18'm 15.4 m—PET
_ 12° 95.1 m—THE
X 1.8 m—HIS
@ At a point 20 meters
from a flagpole, the
angle of elevation of the ’:5
top of the flagpoie is
50°. How tall is the
flagpole? X
o
.
20m
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Books Never Written

My Life in the Jungle by
56° 23° 72° 66° 6° 45° 77° 29° 29°

Over the Cliff by

60° 37° 36° 21° 15° 37° 34° 62° 53°
Catching Butterflies by

6° 45° 45° 29° 53° 53° 29° 6° 45° 55° 6° 56° 6° 34°

ABOVE ARE THE TITLES OF THREE “BOOKS NEVER WRITTEN.” TO DECODE THE
NAMES OF THEIR AUTHORS, FOLLOW THESE DIRECTIONS:

In any triangle below, find the measure of the lettered angle to the nearest degree. Each
time this measure appears in the code, write the letter above it. Keep working and you
will decode the names of all three authors.

c
(6}
w
—r
w
(6}
\
j
m
(o]

over a distance of 20 meters.
What is the degree measure of

the slope of the driveway? 23
(See figure below.) 12
75 75
m 2
A

20

25 - 15
‘ S Z
A driveway is built on an 60 4
incline so that it rises 2 meters
J
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What Dance Should You Do When

ARAYRYRY; Summer Is Over? sy

Solve each problem and find your answers at the bottom of the page. (Round each mean
to the nearest 0.1 unit.) Shade out the letter above each correct answer. When you

finish, the answer to the title question will remain. Now, get mean!

@ Nero, Hero, and Zero each bowled
three games.
A. What is Nero’s mean score?
B. What is Hero’s mean score?
C. What is Zero’'s mean score?

@ The scores on a mathematics test for a group of students were 85, 92, 67, 81,

90, 76, 94, 85, 56, and 79.
A. What is the range of the scores?
B. What is the mean score?

@ The diameter of each of the 9 planets
and the escape velocity from each planet
are given in the table. (The escape
velocity is the speed necessary to
escape the gravitational pull of the
planet.)

A. What is the range of the diameters?

B. What is the mean diameter?
C. What is the range of the escape

velocities?
D. What is the mean escape velocity?

@ What is the mean number of letters in the words of this sentence?

@ The height and weight of the starting
players on the Big Buckets.basketball team
are given in the table.

A. What is the range of the heights?
B. What is the mean height?
C. What is the range of the weights?

D. What is the mean weight?

LR ATESYRIANN
.12l |2l 5|3
sl2lalalolalo5la|&
S1e|313[3|2|<3F|2]3F

44,278.6 km| =

Name | Game 1 | Game 2 | Game 3
Nero 157 125 146
Hero 133 160 167
Zero 144 151 122
- Escape
Planet D'?;"rr?;er Velocity
(km/sec)
Mercury 5,000 4.2
Venus 12,200 10.3
Earth 12,757 11.3
Mars 6,750 5.0
Jupiter 142,900 60.5
Saturn 120,900 35.2
Uranus 46,500 21.7
Neptune 45,000 24.0
Pluto 6,500 4.9
Position Helgh’t We|ght
(cm) (kg)
Center 206 91.8
Forward 193 85.3
Forward 198 84.9
Guard 172 78.0
Guard 190 81.5
00000000
N N NN
I3 o )
) ) ) =
e 4 Ll el =
o
El_|E Elc|8
() O IRTs) ~ - -
gl8|=|g|Y|2|2|®
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What Happened After Orgo Bought
Snow Tires?

Cross out each box containing the correct answer to an exercise. When you finish, write
the letters from the boxes that are not crossed out in the boxes at the bottom of
the page.

@ ) ] E| Price of Record Album “X’ at
Find the median for each set of numbers. various stores
A. {26, 34, 45, 61, 69} $469 | $425 | $598
B. {1.8,1.9,2.3,2.5,2.9,3.4,4.2, 48} 5.50 5.98 6.50
C. i3,7,7,7,12,15, 16, 18, 18, 18, 23, 31} 4.49 4.75 5.25
D. {5.4,25,3.6,9.7,6.1,5.8,1.3, 8.8, 2.5, 7.4} 4.95 4.39 5.29
@ Five people earn the salaries given in the table. President $420,000
A. What is the mean salary? Lawyer 35000
B. What is the median salary? Accountant 20’000
Secretary 14,000
Custodian 11,000
@ Find the mode of each set of numbers.
A.] Test Scores B|_Student Heights (m) C.| Outcomes for 30
62 |77 |89 147 |[1.5511.65]| 1.72 Tosses of Two Dice
67 | 80 |89 1.48 |1.58 11.66 ]| 1.72 91101 5|7 |7
69 |83 |92 1.48 [1.58 | 1.66 | 1.75 213|5]|6 |4
69 | 85 |93 1.58 |1.60 [ 1.66 | 1.78 718|5]|4]|6
75185 |95 1.53 [1.64 | 1.69 | 1.81 61719 |11]9
77 189 |95 1.54 |1.65|1.70] 1.88 6|18 |12]9 |7
77 |89 |98 4 11111018 | 3
Rainfall Rainfall
@ _ Month | (cm) Month (cm)
The rainfall for a city is given in January 8.6 [ July 54
the table. Find the following: February 9.5 | August 2.4
A. The mean rainfall per month March 12'1 S b 6'2
B. The median rainfall per month arc ' eptember :
C. The mode of the rainfall measurements | April 14.7 | October 12.3
May 9.3 November | 11.9
June 5.0 December | 10.0
HE PU TH AT SL EY SO ME ID
1.66 m 5.6 1.65m | $5.10 15.5 69 24 cm | 9.1 cm |$100,000
BA LL FE LT IR SN SN ow ED
$20,000 45 7 $5.20 89 8.7 cm 2.7 9.4 cm| $90, OOO

e R e R e
<<<§ <<<§§ R ‘ «<§§§§ R
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What Happens When Joggers Get Mad?

Complete each table. Write the letter of each table value in the box above the
corresponding value at the bottom of the page. Make a histogram for each set of data.

Test Scores 14 |
75151149 (94|61 (75| 83|55 12
86 |84|97|68(85|63|88|82
92 (73|72 (82|43 |54 66|76 10
79 16377 171167 |73|78 |71 >
84 (98 |77 |73 |67 (89|94 |88 S 8
o
e 6
Score Tally Frequency | Percent | &
21-50 (P) 0 4
57-60 A) )
61-70 _ 0 (E) 2
71-80 (E) A)
81-90 - (1) (H) ot © © © o o o
91-100 (A) (V) w oo N o 9 Q
T L © ~ o =
Score

Student Foot Lengths (mm) I
Length Frequency| Percent
181-190 12 (L)
191-200 32 (T) §’
201-210 28 (Y) )
211-220 36 |(C) o
221-230 420 [(H) £
231-240 26 (S)
241-250 17 (H)
251-260 9 (F)
. S8 2885 88
T g g g g
©® ® O - N » ¥ b
—~ — N N AN AN N
[ ] Foot Length
9 o <0 O\o O\o o o o O\o (o)
o |k|2|%|5| | 2|2 |~| BB 5|~ |25 28]
— — |~ o|N]| —]Jo|lO|lg | ©
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What is a HIbVE?

CIRCLE the letter of the best answer for each exercise. Write the letter in each box that
contains the number of the exercise.

@ What was the closing price for TNT

!)
stock on Monday* Closing Stock Prices

(F) $37.00 (N) $36.50 39
@ What was the closing price for UFO 38 )
stock on Wednesday? = 00&
(G) $32.75 (S) $32.25 5 Q)
= 37 "\6
@ On what day was the closing price for S v
TNT stock $37.25 per share? © 36
(A) Tuesday (T) Thursday =
L
@ What was the range of the closing o 35
prices for UFO stock during the week? 4 34 .
(R) $2.00 (V) $2.50 © S
£ SARNYA
@ What was the mean of the closing prices for o 33 of
UFO stock during the week? &
(T) $33.25 (L) $33.45 32
@ What was the median of the closing o%
prices for TNT stock during the week? M T W Th F
(D) $37.25 (S) $37.00 Day
@ Give an estimate of the colonial ' U.S. Colonial Population

population in 1660. 600

(E) 75,000  (O) 50,000
500

In what year was the colonial

population about 210,0007?

(P) 1680 (H) 1690 7 400 //
c
@ Give an estimate of the increase in ©
population from 1620 to 1720. 3 300 /
(T) 480,000 (M) 460,000 2
Based on the graph, what is a S 200
reasonable estimate for the colonial =
population in 17307 =
(O) 500,000 (1) 600,000 § 100 y
@The population in 1650 was about what
percent of the population in 17007? 0 L_e—
(B) 20% (F) 25% 1620 1640 1660 1680 1700 1720
Year

Fs69355117710131110281047]
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What is Green, has six legs, and a Trunk?

CIRCLE the letter of the best answer for each exercise. Write this letter in each box at

the bottom of the page that contains the number of the exercise.
L v g

PPNV

Mean Height of Babies

@ What is the mean height of babies at

age 6 months? 78
(P) 67cm (O) 68 cm
@ At what age is the mean height 74 A
about 75 centimeters? 4
() 11mo. (A) 12 mo. 70

® on the average, about how many £ 6
centimeters do babies grow during o
the first year? e 62
(C) 25ecm (L) 30cm =) y,
T 5

@ The height of babies at birth is
about what percent of their height
at 12 months? {

(S) 75% (E) 66% 54 7

@ Based on the graph, what is a 50—
reasonal?|1e3estimar':e flzért;chg me?an
height of 13-month-old babies*
(H) 77cm  (N) 79 cm 0 2 4 6 8 1012

Age (months)

g VA IV O I IV I O XV 0 TV 7 IV W D 7l gl g gl

Hourly Temperatures

@ What was the temperature at 7 P.M.?

' (U) 11°C (T) 12°C 15

@ What was the temperature at 3 A.M.?
(A) —4°C (M) —=2°C
When was the temperature 0°C?
(L) 1AM (R) 7 A.m.

@ What is the range of the tempera-
tures recorded during the day?
(Y) 19°C (K) 21°C

What is the mean of the tempera-
tures recorded from noon through
7P.M.?

(S) 13.9°C (T) 13.6°C

@ What is the median of the tempera-
tures recorded from noon through

g [
mdnghtSy 12 () 130 246810122 4 6 8 1012
AM.  Time P.M

10

o

Temperature (°C)
o

l
(6)]

10[1[6[8]2[11]10[11R

R
(6)]
oo
N
N
N
\l
N
w
(o]

10 11 11
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Why did Orgo put DYNAMITE
under his PANCAKES?

Complete each table. (Round the measure of each central angle to the nearest degree.)
Write the letter of each table value in the box above the corresponding value at the
bottom of the page.

Q
Kermit's .Monthly Budget ($500 total)
Percent Amount Central
Item of total (dollars) angle
Fly Traps (D) (A)
Pond Fees (0) (E)
Agent (T) )
Singing
Lessons (©) (E) (S)
TOTAL 100% $500 360°

Recipe for a Fruit Salad (40 oz. total)

(O O

Pond Fees
21%

Singing Lessons

Jo

. Percent Amount Central
Fruit of total (ounces) angle
Peaches (A) (W)
Bananas (0) (H) Peaches
15%
Melons (T) (K)
Grapes
Grapes (W) (H) 10%
Apples (B) (T (L) Bananas
26%
TOTAL (N) 40 oz (S)
o 8 8 N
o N N N 0 o O ° o O NG )
o |l@lolo|@|R®|o|N|O| | °_ Ol o |o o < Q| ;e OO T'-Q
S|S|<|o |2V [RIB|E|S N6 B38| 3| s|8|F|F

PRE-ALGEBRA WITH PIZZAZZ!
1 76 © Creative Publications




What Happ

ened When
1000 Baseballs Fell From An Airplane?

Compute the measure of each central angle (rounded to the nearest degree). Find your
answer in the answer column and notice the letter next to it. Write this letter in each box
at the bottom of the page that contains the number of that exercise. Construct a circle
graph for each set of data.

Use 6f Acreage on a Farm

% of| Central

Use total| angle
Corn 30% | (1)
Wheat 21% | (2)
Barley 23% | (3)
Pasture 17% | (4)
Woodland 9% L (5)

Favorite Type of Music
(results of a survey)

% of | Central
Type total| angle
Folk 24% | (6)
Rock 41% | (7)
Jazz 6% | (8)
Country 18% | (9)
Classical 11% ((10)

Ziggy’s Budget

ANSWERS

® 16°
® 18°
@ 22°
© 25°
™ 28°
® 32°
© 36°
® 40°
53°
® 61°
@ 65°
® 72°
© 74°
© 76°
® g3°
W g6°

% of | Central
ltem total| angle @ 90°
Food 25% ((11) o
Clothes 20% [(12) @ 108
Hobbies 10% ((13) ® 119°
Dates 33% ((14) o
Savings 5% |(15) @ 128
Other (16) @ 148°
\
11/4 (8 4 144 [13[14|2|12(12|15 711615 4 10(16(15(4 |5

)

==
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Why Does LIGHTNING Shock People?

Complete each table. (Round the measure of each central angle to the nearest degree.)
Write the letter of each table value in the box below the corresponding value at the
bottom of the page. Construct a circle graph for each set of data.

Activity | of hours | ‘oftotal | of toral | angle.
Sleep 9 (M (0) (D)
Eating 2 (W) (N) (1)
School 6 (@) (T) (V)
Homework 3 (N) (S) (O)
Other 4 (E) (T (1
TOTAL 24 1 100 % 560°
Population of Orgoville
Number | Fraction | Percent | Central (by age groups)
Age group| of people| of total of total angle
0-19 960 |(L) (O) (N)
20-39 1000 |(T) (W) (T
40-59 630 |[(O) (K) (F)
60-79 360 |(E) (C) (H)
80 & over 50 [(S) (D) (C)
TOTAL 3000 1 100% 360°

60° | 120°| 135°| %5 | o= 1294 115°|25% [21% 373%|333%| 43°| 7 | 77

oo~

W=

45° | 6° | 32%|85% 15%| 90° | 12%| 2 [30° |162% L | L | & |76
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Test Of Genius

@ How many regular hexagons can you g@ What is the next figure in this series?
count in this figure? § \/
y
§
§
§© What is the greatest amount of mone
\/\/ you can have (in pennies, nickels,
§ dimes, quarters, and half dollars) anc
g still not be able to give change for
v\/ a dollar?
g @ The figure below represents a cube
that measures 3 cm on each edge.
@ Mr. Black, Mr. Brown, and Mr. Green  § Suppose the entire cube is-painted re
were lunching together. One of them $ It is then cut up into 27 smaller cube:
was wearing a black tie, one a brown Y that are each 1 cm on each edge.
tie, and one a green tie. Suddenly the g How many of these 27 cubes have 3 1
man ‘f{Vﬁagng the green tie noticed § sides? How many have 2 red sides?
sometning. . How many have 1 red side? How mar
“Do you realize,” he said, “we are g have no rgd sides?
wearing ties that match our names, but §
not one of us is wearing a tie to match
his own name.” ' g >< -~ >
“What a curious thing!” exclaimed § >
Mr. Black. ) §’ _
What color tie was each man wearlng’?g ~ L 4 _ L
.
N L] Lt~
N T
@ Four stamps can be attached to each ~ § \'\]\J
other in various ways. One way is §
shown here. In how many other ways (8) N :
ahtour samps b akched? %‘ Lickes i roursfor ot oty o
D Angeles for New York at 4:40 .M.,
/@ e @ @ while another jet leaves New York fol
Y Los Angeles at 6:00 p.M. Which plane
) will be closer to New York when they
g pass each other?
@ As a prize, a contest winner is to draw
one$bill ata time$frortr)1 I? box é:ontaémgg
ten $5 bills, ten $10 bills, and ten $2 §
bills. The drawing ends when 3 bills of  § SCORING KEY
the same denomination are drawn. § 70r8— gupcrstar Genius
§ 5or 6 — otar Genius
, ; that Y 3or4 — Genius
What is the largest sum of money that  § 2 or less —Genius of the Future
can be won under these conditions? § _ _
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CRYPTIC QUIZ

1. How Did Alfo Make A Quart Of Juice From Three Oranges?

ANSWER:

99-7-20-18-25-18-7-99-14-15-7-25-38-45-6-6-5-6
2. What Do You Get When The Post Office Burns Down?

ANSWER:

18-24-18-25-6-13-42-41-16-18-24-35-84-18-99-16
3. What Do Gorillas Sleep On In Fruit Orchards?

ANSWER:

18-72-27-99-24-13-7-25

TO DECODE THE ANSWERS TO THESE QUESTIONS:
Simplify any expression below and find your answer in the code. Each time the answer

appears, write the letter of that expression above it. Keep working and you will decode
the three answers.

® (16 —7) x 8 = @ 35 + 5°5+525=

© 12 +(36+9) = ® 80-[3(8+7)]=

@28+(10_8)= .
5120 —-2)| ~ = =

@ 9 (15 + 3) = ® [5¢ )]+ 2

® [48 +2)2]+ 5= ™ 3[409-2)]=

@ B+3):(16-7) = ® 21096 _
26 - 13

@ (20:6) + (6 +2) =
© [45-(3-2]+3=
@ 2+ [48+(12+4)] = @7(8‘(113f§‘;§+3):
® 3x2[4+(9+3)]=

®5+[4:32+1)]=

o ® 50+ [(4:5)—(36+2)] =
+
©72+(4><3)= @[m]xsz

2+3
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Why Does A Sheep Scratch Himself?

SIMPLIFY any expression below. Then EVALUATE for the given value(s) of the
variable(s). Find the simplified expression in the answer column. Notice the letter next to
it. Write this letter above the value of the expression which you will find at the bottom of
the page. Keep working and you will discover the answer to the title question.

s AN A\
YO g5 S
S & ,

Oax+7x+2 ifx=6
@4y +5+2y ify=3
®9+x+4x ifx=8
@egy +3+4y ify=4
®ox+5+x+8 ifx=7

®4y +8 +6+2y ify=2
@ax +2y +7x +3 ifx =3,y =4

AU O S D\ E\S

IS

®8+3x+x+5 ifx=8y=5

@ox +6y +5x+4y ifx=7,y=9

@g+6x+4+8 ifx=1,y=6

@ax+2y+4+9 ifx=8y=4

@4x +5y +7x +5+2y ifx=2,y=3
@o+8x+3y+3+5y ifx=7,y=5
@x +6x+2y +1+9% ifx=6y=9
@6x+2y+5y+7+y ifx =8,y =1

o £ o
ST \ R

-
[\

s,

{19
=.

e
)

® 10x + 13
.§s~04x+5y+8
®6x+8y+12
""©8x+8y+12
_®10x+2

3 ® 7x + 11y + 1
:g;.©6x+4y + 15
J® 5x + 9
“0'®6x+8y+7
_.®6y+5
9 © 12y +3
;5®11x+2y+3
Y® 3x + 11y + 4
£®7x+15y
4D 14x + 10y

LY

"

‘ g,

:-‘
@98x + 8y +x + 6y +4x ifx =1,y =2 '@11x+7y+5
@3x +8+4y +7+3x ifx=9,y=6 _._._\®14y+6
. “O
@5x +5y + 9y + 2x +y ifx =8,y =3 Y © 13x + 14y
;‘;““‘«Y"V\i‘ﬂrc,‘\ ‘v‘rf"r‘d\e““y’.“"\‘?“y'V\‘i";ﬁ\‘j";{
K/
N
~— (aV| L /%),
HEHEHEEEEHBHEREREBRRIBE::
PRE-ALGEBRA WITH PIZZAZZ!
© Creative Publications

182



DIRECTIONS:

Evaluate any expression below for the given values of the
variables. Each time your answer appears in the code, write
the letter of that exercise above it.

KEEP WORKING AND YOU WILL DECODE THE LINE.

Msx +4 ifx =3
©7a+3 ifa="-2

® -3y -9 ify=-8

®4b +9t ifb=71t="2
@‘89+3n ifg=""3,n=4

® -6s —5h ifs =9,h =5

®x+7p ifx="1,p=8
Q7g-2d +3 ifq=-7,d=1

® - +5m-3 ifc="5m=2
®ax +6y -2z ifx ="9,y =2,z ="3
®‘9y+5p+32 ify=7,p="4,2=6
®7e —m—-4w ife=3m="8w-=1
®6r+5d+y ifr=-4d="3y=28
®ox -3y —f lix=3,y=1f="8
Db -4x+79 ifb=2,x=4,g=5
®—2v+2n-8 ifv=9h=715s="6

TITLE: RAPID MULTIPLICATION

44 —48-79 77917 =79 11 10 44 10 32 32 17 5576510 44 1917 12 10

25104473144 101712 17-79-11-31-18 15 31 44 17 3179 36 —31
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What Does SANTA Do When It Rains?

TOANSWER THIS QUESTION:

Simplify each expression below. Circle the letter of each answer. Then rearrange the
circled letters in each grid to make a word. Write the words in order in the boxes at

the bottom of the page.

®_4x+9x+3 6x ®5x+3
@ Sx - (T3x) ®8x ®5x -1
® -8n - (2n)-7

n-en ©n+3 ®n+5
@ 6n + (5n) +3

@-n-s ®-6n-7
@_3n+n+7+4n
©-n +17 ®on+7

® 9-6n - (5n)— ("8
@ -8t + (5)+ () +1 M 14t + 11 © 14t + 14
® —2t +7 - (t) + 9t ©-9t - 4 ®-ot + 2
@ 13t+5+9- (1) ©st+7 ®st +7
u + (C10u) + (~4) — (1) ®sy-7 ®u+9
@ —6-3u +9 - (“4u) ®4u-7 O—9y -3
@"u—7+8u+(‘3u) ®u+3 ®‘9u+5
4k+7+3k:8-—3k o o
@9+(2k>+(4)—6k+1 ®12k+3 O12k-1

8k —k+7-(5k) -8 N -8k +6 Mgk + 2
@ —4 — 2k — (4) + (6k)

. o
@ ~sx -5 +3x+ (1) - x ® 13x - 8 ®10x -8
@® x-(3)+8-2x-56
3 9 . @x—S @x—5

TSmO ®-x-5 ®x+s

@0 —x + 4x - (Bx) — 9 +2x + 1

JHE_BEEE _NEE

|

-

PRE-ALGEBRA WITH PIZZAZZ!

© Creative Publications 185




Who Won The Race Between The
Boy Silkworm And The Girl Silkworm?

SIMPLIFY any expression below. Then EVALUATE the result for the given value(s) of
the variables. Find the simplified expression in the answer column. Notice the letter
next to it. Find the value of the expression at the bottom of the page and write this
letter above it. Keep working and you will discover the answer to the title question.

@ 7x+3-2x ifx=38 ®3x+2y—8
@ 10-3y—-7 ify=3 ®—gy__2
@® 3x+8x—4 ifx="2 @D 5x + 3
@7-(2y)+y-9 ify=6 ® —x -3y
® 5x+(8x)+3—-x ifx=-5 ™ -x +8y+8
® 4y-4-(y -9y ify=4 @ —2x+5
@ x+8+7x— (1) ifx=-10 ® -4x + 3
® 2+ (6y +5y—8y ify=—4 @‘3y+3
@ 4x+5—-5x ifx=-12 ® “7x+y+7
40 4x+2y—x—8 ifx=1,y=5 ®4x—y+10
@ 3x+9—-(4y)+5x ifx=1,y="5 © 2x + 4y + 9
@2 8—-4x+y—6x ifx="3,y=38 @ 6x +9
@ 2x+5y—3x+ (8y) ifx="9,y=9 ® 3y -2

@ 7x+1-y—-3x—("9) ifx=7y="6 ® 5x — 4
@ 5x+(y)+8-6x+9y ifx=4y="2 ® ~10x+y-8
@9 7—-x+4y—-6x—-3y ifx=—1y=8 @ -x +5
@ x-(y)+(XN-—y+5 ifx==[,y="6 @ —ay-4

17 [16|718|23 |22|714|34 |79(751|30( 43 |712(720|11 | 5 | 44
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99 + ¥SZ (§)
Ve + ALL @)
9L + ¥2L €
v + ML @
8% + ¥2E @)

69 + 412 @
9 + ¥6S (§)

(e + €)8 + (9 + We)¥
8(L +32) + (4 + 2 ®
G+ e+ 8+ 2. @
6(¥ + ) + 9(1 + ¥6) @
c(e +39) + (1 + 2)6 @
9+ AL+ 9+ ¥ @
Oy + €)8 + (2 + ¥6)S @

\

82 + X2 @

S + X92 @

Ve + XS @@
6V + XS (%)

2z + X91 @D
gL+ XLL
L+ XEL @D

6+ (x+8)S ©@
L(xe + ) + X ()
26+ x8)+v @
(1 + x5)5 + x (3
x9 + (x+2) @
6+ (S + XS ®
xg + (9 + X)g Q)

82 + 12 @
89 + 18 (D
8 + I8¢ @)
vl + 6 @
L+ €€ @
v + 16 @D
1S+ 191 @

R l
Y
C

G+9)8+e+1@
w+(0+05+6@
1+s+6+0LQ
I+vie+2+18@
A+ R +6+WQ
L+(6+2)€+ 1@
B+ (L+1I6)S+¢€@®

2\

€9 + WSS )
L2 + uey @)
v + Wee @)
9L + wgl
€+ Wl @

€2 + Wgy @
S + W9E @
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aidid 9¢ — x2-

ans 68 + ug|l-

NI €L — eyE

1d3ax LE + u9|—

0D €-— x-

HLIM $€ + e0l

JIMO00d 0OF — x81

dH v — ug_

JH1L G€ + ugi—

H31lvM LI + e0p-

¥V 2L+ ug

HOVOO V¢ + e/l_

1T1va1004 0 — e

aMH v¢— e

L+ (6 + Ug-)6 + L (X)
(v + ulg + us — uy @)
eg + 2 — (€ — ©9-)9-
(B + )5+ L+ &)
X6 —(x—-1)8 -5
x¢ — (6 + X5-)2 — X9- B
9+ u+ (U+ 9y @
ug — L — (6 — ugl6
(eS +2-)6 — &S + |- @
(Y — 6-)¢ — L + €2 (Q)
Xy + (€ — X)9 + 8- @)
6 — (x¢ - €L — xv @)

us — (U+ 25— @
(1 + u9)8 — 8 ()
(e —¢€l6 — er @
e+ (9 + ez )y (D
L— (xe - L)S- @
X6 — (9 + X)2 (®)
S+ (v — @8- @
(ug + 9)¥ + UL 3

(1 — es-)8 — €- @
(S + e2)y — 86 (5)
(x9 — 9)¢ — 8 @

(xp — 2)L — XS @)

iLIM TV
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L=m} (6+ MG)G+G—m
9=)4 ¥+ 38+ (g + 6)8-
e=4Ap (L+ Ag)9 - fc -
l-=p4 p9—(2— Py m+r®
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c=4A) Ae+g+ AL+ v)v-)
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6=44 U—-p)Ee—-G-@®
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What Happened To The Owl Who Swallowed
A Watch?

HEBESSEEELEEEEE

TO ANSWER THIS QUESTION: ?4-

Simplify each expression below. Draw a staight line connecting
each expression with its simplified form. Each line will cross a
number and a letter. The number tells you where to put the
letter in the row of boxes at the bottom of the page.

%%%%%%%%%%%%%%%

=5x — (7x + 2) m m “6x +3
4 - (9% — 3) . ® ® = x-5
“8x — (T2x + 4) n ® ® L] é2x —32
(5 + 6x) + 8 - B 6x —
‘4(‘9+x)+'5x n ® © © m T12x -2
6X — (3 — 7) + 1 s @ ® © " 8x+6
"9+ (2 —-x) + 8 | ® m 4x — 12
(2x — 6) — (T9x — 1) n a2 ® m ‘9x;67
“(5x + 8) + 3 + 4x ] X+

7x — (6 — 2x) — n C?) ® % W x-7
9 +x +3(°8 + 5x) | @ m ~8x — 1
~(6x — 6) + (4x — 8) | @ m —6x -4
+)-(x-7-xm B @ O ® w 16x - 33
S5+ @4-2x)-8 +5 m @ ©) m ~10x + 4
(8 —4)+x -7 —-3x = a7 ® m 3x+8
(4 — 6x) — ("4x + 5) — 6X m ® o " “4x + 5
X+9+2X—-7(3+X) m an m 11x -5
1 (3 +2)-7x+8 m " Ox+8
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Why Did the Carpet Installer Quit His Job?

Simplify any expression below. Find your answer in the answer
column and notice the letter next to it. Write the letter in

each box at the bottom of the page that contains the number of
that exercise.

KEEP WORKING AND YOU WILL DISCOVER THE ANSWER
TO THE TITLE QUESTION!

T TSN e oSS
®ex2 — 2x + 5x — 3

@5 — 7x2 + 3x + 4x2

@ ox2+2x +5—5x2+8x — 6

@ —4x — 4 +6x2+x — X2— 8
®-5x2 + 6 +x2 — 1 + 5x2
®-3+8x2—x+8+7x2+2x

@ 4x — 3x2 + 9x + 4x2 — 6x
@®-2x2—-9—3x — 22+ 8x + 7

@ 3x3 + 7x2 — 9x — X3 + 3x2 + 6x

@0 -9x3 — x2 + 5x — 4— 2x3 + 8x2 — 6X + 6
AD3 — 4x — 7x2 + 4x® — 2— 8x — 7x2 — X3
2-4x3 + 3x2 — 5x — 7x3 — 3x2 + 2x — 9
d6x -7 +8x3—4x —6x3—1 —8x + 5
AD-7x2 — 4x — 7 + x2 — 5x2 + x3 + 8x — 2x3
A9 6x2 + 2x* — 93 — 6x2 + 2 — 5x4 + x3 — x
@9-3 — 3x* + 2x2 — 1 + 7x* + x3 — 6x2 — 2x*
A -5x4 — x2 + 8x3 + 4x + 2x* — x3 + x2

M —3x4 — 8x3 — x + 2

@x2+5

@ 2x3 — 6x — 3
@ ox3 + 10x2 — 3x
© 6x2 + 4x — 2
®6x2+3x—3

® -3x4 — 8x® — 5x

® -4x2 + 5x — 2

® 3x3 — 14x2 — 12¢ +
@ —-3x4 + 7x3 + 4x

® -3x2 — 3x — 12

® -3x2 + 3x + 5
©2x4+x3—4x2—4
® 3 - 11x2 + 2x — 6
@‘x3—11x2+4x—7
@15x2+x +5

® —11x2 —3x — 9

® ~11x3 + 7x2 — x + 2
® 4x2 + 10x — 1

© x2 + 7x
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Double Cross

1. What Do You Get When You Cross Two Bowling Pins With a Lollipop?

ANSWER:
69 13 133 97 20 29 158 10 —99 -39 -13 133 158

2. What Do You Get When You Cross A Centipede With A Parrot?
ANSWER:

“69 66 69 -13 20 133 29 158 69 —13 —20 133 -29
3. What Do You Get When You Cross A Gangster With A Garbage Man?
ANSWER:

16 -19 21 69 —10 133 ~—18 —29 18 21 ~19 133 160 29

Simplify any expression below (if it can be simplified). Then evaluate the expression for
the given value of the variable. Each time your answer appears in the code, write the

letter of that exercise above it. Keep working and you will discover the result of each
double cross!

Remember: FIRST simplify, THEN evaluate.

© 4y2 - 3ify =5 s @ox2 — 3x + 8x — 8ifx =8

M —2u2 + 8ifu =3 @ 9 - p2+5p + 4p2ifp = 3

® -7m2—1ifm =2 §®"3m2—8+4m+1ifm=4
L 4
®

@ 3x2 + 4x — 2ifx = 2 g@‘5v+5v2—v—2+7v2ifv=‘1
*
®

®-5x2+7x + 9ifx =4 §®1—y2—4y2—3y+6ify=2
$

® 212 — 5¢ — §ifr =-7 $ Wax2 — 2 — ax?ifx =8
$
®

®Ox2-8x+1ifx=9 §®"2h2—5h+h2+4+3hifh=—6
®

@ -9n2 +2n — 7ifn = -1 §®—8+3x—3x2+6+5x2ifx=-9
[ 4

. $
@62t +3ift =5 $Ody —2p2+1—4y —12ify =1
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What Did The Skunk Say When The
Wind Changed?

TO ANSWER THIS IMPORTANT QUESTION:

Evaluate any expression below for the given values of the variables (see table). Find your
answer at the bottom of the page. Write the letter of that exercise in ANY ONE of the
boxes directly under the answer.

When you finish all the exercises, rearrange the letters in each group to make a word.
Write the words in order in the BOTTOM row of boxes.

)

xa_ 7 ®

- : bz VALUES OF THE
D VARIABLES
"' 2 2

2a _ : x*+¢? _

x ')\\o @ b
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What Did Ignatz Say About Her
Brain Surgeon?

Do any exercise below. Find your answer in the answer column and notice the letter
next to it. Each time the exercise number appears in the code, write this letter above
it. Keep working and you will answer the question.

d=rt where d is the distance traveled by an object moving at speed r in
time t. Find d if: M
@D r-40t-8 @ r=s51t-4 M
I=prt where I is the interest on an amount p, borrowed (or invested) at ® 31
interest rate r for time t. Find I if: © 60
pP= 1000, r = 0.06, @ p= 500, r = 0.14, @ 6400
t=1 t= 3 ® 32
P=2¢+2w where P is the perimeter of a rectangle with length £ and width w. §) 275
Find P if:
® 320
=7, w=3 ©1=12,w=3.5 ® 15.36
d=1n (n —3) where dis the number of diagonals of a polygon wih n sides. Find ® 144
2 d if:
@ o
n==26 n=20 oOF
A=1a (b4 + by) where A is the area of a trapezoid with altitude of length a, and @ o0.24
2 bases of lengths by and b,. Find A if: @ 84
a=4,b1=q, a=3,b1=7.5, @220
bz =7 b2=2.5 ® 170
s = 16t2 where s is the distance (feet) a free-falling object travels in time t () 21
(seconds). Find s if: D 75
t=3 @ t=20 ® 20
w = 0.03 e3 where w is the approximate weight (pounds) of an ice cube with @ 0.38
eéjée of length e (inches). Find w if: © 15
d=s+005s? wheredisthe approximate braking distance (feet) on dry pave- ]i(:,)i“ %(:,)i[
ment of a car traveling at speed s (miles per hour). Find d if: [OIRIO®]
s =30 @ s = 60 l(.)‘[']r(.)j[

15-9-2-12-8-8-4-13-12-7-2-1-15-16-12-14-15-2-10-2-3-6-16-4-16-15-5-11

| -
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eVt Bet The Message S6%... ..

DIRECTIONS:

For each exercise, determine
whether or not the number in
braces is a solution of the given
open sentence. Circle the letter
in the appropriate column next
to each exercise.

When you finish, print the
circled letters in the row of
boxes at the bottom of the
page. FIRST print those from
the column marked “‘Yes,”
THEN print those from the
column marked ‘“No.”

A MESSAGE WILL APPEAR.

Dox +7=17 {5}
@9 +6s =57 {8}
®8m -3=19 {3}
@35=7t-8 (6}
® 9y + 3 <24 {2}
® 14 > 20 — 3y {4]

(D17 + 8x = 75

{7}

® 65 = 4w + 29

{9}

(@50 —3x = 16

{12}

1963 <3 + 6n

{10}

D63 <3 +6n

{10}

®5p — 15 =60

{15}

@38d + 1 =5d + 10

{3}

4y—7=y+17

{8}

(@ oh = 20 + 6h

{7}

1979 —8m =34 +m

{5}

Dok + 34 > 70 — 7k

{4}

A915e —7=6+2e

{1}

3x+39>5x—1

{20}

@93y + 39 >5v — 1

{20}

@D57 —3g =93 - 79

{9}

@28 + 6x < 9x — 30

{12}

@3d8x + 24 = 15x — 46

{10}

6m <7Tm — 1

—lml=Ixlzalolml[Z[n]lwolxlml=]—l4dlolw|—=|>|m|xT|=
olonlm|=I=lclzl>|—|D|>|m|=|7|T|wn|Z|>|—|m|S|3|>|T

{1}

¥
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Why cAre ‘POets Poor?

Cross out each box that contains the solution to
one of the equations. When you finish, there

will be 7 boxes not crossed out. Print the letters
from these boxes in the boxes at the bottom of
the page. You will have the answer to the title
question!

®x_7 ®n_g ®1y,_20

2 7 9

k _ - - W 1©-5 - _1
®3 4 ©21 2 ® 3_18
@%y=14 _18=% @ 1y =11
@ 1

4
®_

8

R RS AR R AT FATA /g/g /g/g/g/; /gxg /g /g/ﬁ/g/g/g/gzg ATATA RIRTAY \
é;/g‘?/d?/&/dé/ 7*77 \¢/ vv vrj’ ¢/ :rf TINV/\G t‘! J %/7 ¢ ‘v’- 7 ‘*:.J INVINTING "vj’ ‘v % 'wj' 3/ EJ"":‘;'E/'YJ;A\

PRE-ALGEBRA WITH PIZZAZZ!
202 © Creative Publications



b6_ =vS_(®
£A_=0eQ
ce_=ug@®
0L =40L_@®
zZy_=00L_@
w9 =2L®

¢ SCEL_0e_ 9 LL_€l_ve 9 Gi_

ve L1

LZ_0S_ L 2L LI_ €L_LI_0E_

ve_ = X_@®
6v_ =1,
ME_ = 6€ Q)
GL_ = XS (@)
2E_ = A9L_@)
70

9 06_ L v_ v_Gl_ S¢

A5 = 0E_QQ) w,.=1g_@
LL=X_@@ ¥9 = bg_(g)
ey =de_@ oe = 45_
121_=09_@ ug =82@
Lg_ = XE_(@) €9 = ¥6 ¥
8l_=18lW ¥ = X9 Q)

8_ _te_ L W_ L € 8_1L_ L ¢_

le_ v ¢_ vL €_ 8_ 6

E_H_ ¥ 9 €_1¢_9_ ¢c_

‘9|11 Yora apo2ap ||im nNoA pue Bupjiom daay) ')l 8A0qe asi019xe ay) JO J8119| 8y} allim “‘sieadde uonnjos
Ayl W] yoed "Sas|oIaxa JO UWN|od Jeyl 9A0QE 8jil} PAPOD 8y} Ul UOIIN|OS 8y} pulj pue mojaq uoienbas Aue aajog

&S9INJILd ISAY ], 3O SIIL], YL 34V Iy

201

© Creative Publications

PRE-ALGEBRA WITH PIZZAZZ!



GCIRYPINC QU L%

. What Did the Sardine Say When a Submarine Went By?

—56 36 36 —33 =35 12 —12 7 —35 —12 —96 —35 130 36 31 39 9 36 39 =56 9

. What Happened to the Grocer Who Stacked All the Liquid

Detergents on a High Shelf?

79 6 35525 24 —15 39 -8 130 28 31 36 100 25 36 —69

TO DECODE THE ANSWERS TO THESE QUESTIONS:

Solve any equation below and find the solution in the code. Each time it appears,
write the letter of the exercise above it. Keep working and you will decode the two

answers.

®n+12=4
® 4x =36

v _ —
®?_ 11
®w-9=22
W -7t =42
@ —32 = x + (720)
@"48=2q

. n
@13—Ta

®»-50=19+p

- ® —15r =75
_u

@14_—4

@ x — ("16) = 44

® 42 = 6d

@%y=‘12

W-24=11+m

® —x =35
—_"a

® 13

© -18 + z = 18

@ —125 = ~5k
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Test of Knowledge

1. What Do A Decimal Number And A Thumbtack Have In Common?

ANSWER: _. 10 18 4 4 10 5 10 -8 7 3 —4 -7

2. What Did Mergatroid Get For Losing 20 Pounds?

ANSWER:
7 4 5 4 7 14 5 6 6 9 8 11 3 8 75

3. What Happened To The Man Who Fell Into The Bubble-Gum-Mixing
Machine?

ANSWER:
4

3 514 7 56 5 18 4 5 6 51 4 3 =2 71277

——— e

TO DECODE THE ANSWERS TO THESE THREE QUESTIONS:
Solve any equation below and find the solution in the code. Each time the solution

appears, write the letter of that exercise above it. Keep working and you will discover
the answer to each question.

\éh%ﬁ

D -30 = -9x — 3
 ® -57 = 12 + 3r

©ow +17 =53
® 10x + 11 = -19

@ -4x + 6 =34 t ©-7x +1 =43 @ -8 = 27 — 5x
@15=2m -9 } @-40-8 - 6s ®-44 = -3k - 2
® 29 =-8t - 3 ! ©-13x — 19 = 6 ®—4—8y=36
® 7 - 5u =43 } ©-12=y - 21 { @37+ 12t =85
® 14 + ax = 38 ! ®5-m =13 ! ®-13 =7y + 64
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Books Never Written

Tragedy on the Cliff by

4 7 3 4 4 11 6 12 72 4 75
n

5 715 10 79 1 8 "7 711 T4 4 10

Mystery of the Creaking Door by

1 6 71 3 77 711 4 2 12 12 75 4

P.S. by

ABOVE ARE THE TITLES OF THREE *“BOOKS NEVER WRITTEN.” TO DECODE THE
@ NAMES OF THEIR AUTHORS, FOLLOW THESE DIRECTIONS:

Solve any problem below and find your answer in the code. Each time it appears, write
= the letter of that problem above it. Keep working and you will decode the names of all
three authors.

[W

@ Twice a number plus 6 times the

@ Eight less than 7 times a number
number is ~72. Find the number.

is the same as 4 more than 3
times the number. Find the
number.

@ A number plus 5 more than 3 times

@ Four more than 6 times a number the number is 37. Find the number.

is the same as 9 times the number
increased by 10. Find the number.

@ Eleven diminished by 5 times a
number is the same as 4 times the
number increased by 20. Find the
number.

(D Four times a number is the same as
14 less than twice the number. Find
the number.

® One more than 8 times a number is
the same as 12 times the number
decreased by 3. Find the number.

@ Eight times a number is the same as
90 decreased by the number. Find
the number.

@ Nine more than 3 times a number is
the same as 6 less than twice the
number. Find the number.

@ Twelve less than a number is the
same as 5 times the number
increased by 4. Find the number.

@ One increased by 7 times a number is
the same as 5 times the number plus
25. Find the number.

@ Twenty decreased by 2 times a
number is the same as 10 less
than 3 times the number. Find

the number. @ Twenty-eight decreased by 6 times a

number is the same as the number.

@ Two more than a number is the same Find the number.

as 16 decreased by 6 times the
number. Find the number.(

N AN N AN AN NN NN NN AN Y

@ Sixteen diminished by 8 times a
® Four times a number decreased by 25 number is the same as 5 diminished
is the same as 9 times the number. by 9 times the number. Find the

Find the number. number.

[\
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Did you hear about...

DIRECTIONS:

Solve any problem below. Find your answer in the answer
column and notice the word next to it. Write this word in the
box with the same letter as that problem.

KEEP WORKING AND YOU WILL HEAR ABOUT A GUY WITH
HORSE SENSE.

=S

@ Five times the sum of a number and 2 is 25. Find the
number.

Three times the sum of a number and ~7 is 12. Find the
number.

© Twice the sum of a number and 3 is the same as 11 increased
by the number. Find the number.

@ Seven times the sum of a number and 4 is the same as 8
decreased by 3 times the number. Find the number.

@ Nine less than 5 times a number is equal to twice the sum of
the number and 6. Find the number.

@ Six times the sum of a number and 1 is the same as 2 more
than 8 times the number. Find the number.

@ The greater of two numbers is 5 more than the smaller. If the
smaller is added to twice the greater, the result is 22. Find both
of the numbers.

@ The smaller of two numbers is 3 less than the larger. Twice the
larger plus 4 times the smaller is 36. Find the numbers.

@ The first of two numbers is 9 more than the second. Three
times the first number is equal to 7 more than 5 times the
second. Find the numbers.

@ The second of two numbers is 3 times the first. Eight times the
sum of the first number and ™ 2 is equal to the second number
decreased by 11. Find the numbers.

@ The second of two numbers is 6 less than the first. Twice the
sum of the first number and 1 is the same as 9 times the
second number. Find the numbers.

PRE-ALGEBRA WITH PIZZAZZ!
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9; 3—HORSE
5—RODEO

7; 1—KICK
7—WHO

3; 6—TRICK

4; 9—DO
3—THE

10; 15—BULL
1; 3—A
—10—ROPE
19; 10—FOR
~4—WOULD
11—FAMOUS
21; 12—EVERY
—2—RIDER

5; 8—ANYTHING
~“1—SADDLE
8; 2—BUCK
6—RODE

6; 18—HIS




Why Does Batman Brush His Teeth So Often?

Solve any problem below. Find your answer in the answer column and notice the letter
next to it. Write this letter in each box that contains the number of that problem. Keep

working and you will discover the answer to the title question.

A ——s—

@ The length of a rectangle is 7 centimeters greater than the width.
The perimeter is 54 centimeters. Find the length and width.

@ The length of a rectangle is 3 times the width. The perimeter is
120 meters. Find the length and width.

@ The length of a rectangle is 5 centimeters more than twice the
width. The perimeter is 82 centimeters. Find the length and width.

@ The perimeter of a rectangle is 400 meters. The length is 15
meters less than 4 times the width. Find the length and width.

@ The perimeter of a triangle is 26 centimeters. Side a of the
triangle is 3 centimeters longer than side b. Side ¢ is 1
centimeter shorter than twice side b. Find the length of each side.

@ The first side of a triangle is 8 meters longer than twice the second
side. The third side is 3 times the second side. The perimeter is 128
meters. Find the lengths of the three sides.

@ Side a of a triangle is twice side b. Side ¢ is 2 meters shorter than
side a. The perimeter is 98 meters. Find the length of each side.

The perimeter of a triangle is 33 centimeters. The first side is 5
centimeters shorter than the second, and the third is twice the first.
Find the lengths of the sides.

@ An ice hockey rink is a rectangle with a perimeter of 174 meters.
Thg Ierég';‘h is 9 meters more than twice the width. Find the length
and width.

A triangular course for a sailing race is marked off by buoys. The
first leg is 250 meters longer than the second, and the third leg is
100 meters shorter than the first. If the length of the course is
2500 meters, find the length of each leg.

®19cm: 12.cm

@ 9cm;6cm; 11 cm
®40m; 20 m; 38 m

@M 59m;28m

@17 cm; 10 cm

@44 m; 21 m;66m
@29 cm; 12 cm

61 m; 26 m

®48 m; 20 m;: 60m
@ 8cm; 10cm: 16 cm
® 157 m; 43 m

@ 27cm; 11 cm
®7cm: 12cm: 14 cm
@ 45m;15m

(8) 900 m; 650 m; 950 m
@) 950 m; 700 m; 850 m

‘\$\‘1056748411092109

U

S
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14" 8 A %4 I 61 (V18 € Go

8 > ¥ (D) ZL > x(1) oE_s u(n) r_ > x(Wm) Z2_>Xx(D)

g < y(d) 2L <x () 0c_ = u(d) y_<x(a Z2_ < x(g)
<AL @| e<xi@| St=ui @ | <N @ | z_>w@E
G_sei(]) 6_sp(v) | oc_s>u(n) L= w (M) 2 >x(n)
G_=e(d) 6_=p(1) 0e_=u(3) v = w(s) 2 < Xx(A)
0C_>8ergy | 9t->L - P@D mrm.%e ¢>cl-we ¢k >X9 (@)
LES1(d) L_>Xx(N) oes u() L_> 2z (V) e_sn(q)
L1 =1(3) L_<X(S) 0€ = U (H) L_<z(9) e_=n(0)
0e <€l +1g wmleme fm:m E_<v+Z(@p b_<L-neE
12 = x(X) LL_ > X (V) 6 > X (N) 2 > x(Mm) G=x (1)

12 =x(d) L <x(3) 6 <x(d) 2 <x(3) G =x(S)
V> Xe_@d b >GL +X@p - >0l-Xgp ch_>X9_(Q Sl = Xg Q)
Zl_>X (9) oe s u(n) v > X (1) g_>x(a) y > x(d)
2l_ < x(a) oc = u(|) < x(1) Z2_<x(9) v < x(N)

8<XE_ @ | St-<Ul_@)| Oz_<x_@) ¢l >X9_(g) 6<S+XQD
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|
Why Did They Try To Build A House On
| Orgo’s Head?
R R R R RN RRRRRIRRRIIRE

Solve any inéquality below and draw a straight line connecting it to the inequality
that describ?s the solution set. The line will cross a number and a letter. The number
tells you whefre to put the letter in the boxes at the bottom of the page. Keep working
and you will discover the answer to the title question.

""""" oW W W W N AN 2N A NS AANANABAAAANASANAANANASAANAAANA S AANAANAA SN\ \\ O N\ N\ N A N\ AN
S S S S S S N S R S D SO e S e S S S e
0% X " X X X X X X X X X X X X
D 3x +8>2 u B x =21

@ 7x —1<20 m 2 ® m x>5
@2_3_—4xa‘_1_2 = ® ® = x>:2
@ 5x-9="4 = ® = x>"4
G®63+12x<15 = B x<7
@‘8x+§is‘31 . (D@ m x<3
@10+ 2x="52 ® o © ® @ = x=T1
® 15>6x —9 = @ ® m ox <14
@ 48 <20 — 14x = © ® m x=7
@ “60=9x +3 u ® m x<77
@18 —-10x <22 = mox>"9
27<3x-8 m ©) © m x<5
@1« -8<64 W o a2 ®® ® mox<4
@ 17> "7x — 45 ® Q) ®® " ox>4
(9 3x — 42 <0 n @ m ox="11
442‘8%—44 n ® ® m x="6
@ 4x+12>724 = mox<74
@ "17<6x +25 = B ox <72

G0 Q
Q<L Q2 Q L Q< 0.0 X QO QL 0.0 O X O 0 Q 0.0
9.9 9.0.9.9.0 0 0.: Q 0 SR 0 0.:.0 & 00X 0’:.0 (o 0.:.0 00.0.:.0 (&2 0.:’0 )& 0ot b 1O 0e 0% 0 99.9.0 0.0.0.0.¢

":’...:’ QRTINS 2 XS e + ¢ + e K K .:. SR
OX IGO0 KIO 0K 1005100 X100 10,0K10.0X10,0X10,01 X100 1001001001010 X0

123456789101112131415161718

¢
oF 1@
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‘Did you hear about...

B A B C D E %
NF G H | J %
N K L M N 0 s
% s

DIRECTIONS: X < 6—WHO

Solve any inequality below. In the answer column, find the
inequality that describes the solution set and notice the word X
next to it. Write this word in the box that has the same letter as

that exercise.

KEEP WORKING AND YOU WILL HEAR ABOUT A COLLEGE

EYE DEAL.

® 2(3x — 5)>2x + 6

® 82 +x)<3x -9

© —3(4x — 6) <7 —x

® 13x — 7("2 + x) = 4x — 10

® 5(3x — 1) + 7 < "x + 30

® 12 + 5x > 2(8x — 6) — 7x

@ox —2x =14 — 9("x — 4)
®~43 —5%) — 11x <3x + 6

® 10 + 2) > ~2(6 — )

D72 + 2x) = 4(x — 10)

® 11 + 3("8 + 5x) < 16x — 5

© ~6(7x — 1) < ~8x + 9("3x — 4)

® —ox + 2(4x + 12) <4(1 — 3x) — 13
®7(x+4)+16=5x — (10x — 6) — 6
@ 12(2x + 3) — 3(8 + 7x) > 0

< "3—OVER
x < 4—HAVE
x = 22—STUDENTS
x < "5—CROSS
x = "12—COLLEGE
x < 2—EYES
x > 6—CONTROL
x > 4—THE
x < 1—KNOW
x <3—TO
X < 22—HIS
x = 2—PROFESSOR
x < "25—SEEMED
x = 3—ABSOLUTELY
x = 25—SUBJECT

x > "8—NO |
x > 1—EYED
X < "8—HELP

X > "4—PUPILS
X < 4—TEACH

PRE-ALGEBRA WITH PI1ZZAZ2!
© Creative Publications 225



Watch Oakt!

A FRIENDLY WARNING is hidden below. To discover it, find the union or intersection for
each pair of sets. Then arrange the elements of each solution set to form a word.

e WATCH OUT!
@ {A, F,1,L} n{P, I F} =
@ {N, A} U {A} -
® {B,X,L,R, A} N {V,P, X, A M} -
@A={Rs PO}

B={D,0,S,R} AUB —
®x = {0, B, N}

y={L,NCS 0} XnY —
® {R,0,U, Y} U {U,R, 0} —
@Aa={R A YK W,CcC}

B={L,ACIR} ANB —
®{o,u,s,Y} n{T,U,v,V,0} —
®x ={m,T,G, H

Y={G,I,MT} XuyY —
@ {v,H, A E} U {A, V] =
@A = {Q, A W,N, T}

B={BNAJ} ANB —
A2{L, A X} n {X,R, B, A} -
@x = {E}

y={D,T,E,N} XUy —
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Why Was The Hit Record Nervous?

lFind the UNION of the two given sets in the column of graphs

below. Write the letter next to the graph in each-box that

discover the answer to the title question.

contains the number of the exercise. Keep working and you wiJ

BBEBHHHBBEEBHHBBBHHBHLBBBHBHBBES
@

® ® © ©@ @ @ ® @ @ & @@ ©

1 ———_—
4 3 271 0 1 2 3 4
e
4 "3 2 1 0 1 2 3 4
| | | |
e— | —|——|— q——
4 372 1 0 1 2 3 4
4 372 "1 0 1 2 3 4
4 372 1 0 1 2 3 4

4 372 1 0 1 2 3 4
i § || ——)
4 372 1 0 1 2 3 4
| |
W' IW
4 372 "1 0 1 2 3 4

1

N
(3]

N

ry
N

13
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What Did The Mother Worm Say To The

Teenage Worm?

ind the INTERSECTION of the two given sets in the column

@ R ={x|x >_2} Sraphs below. Write the letter next to the graph in each box o
that contains the number of the exercise. Keep working and
S = {X \X < 3} you will discover the answer to the title question.
@ P={xIx="2) B g
{.__—-W——-i——}
Q ={x|x =<3 @ 4 321 0 1 2 3 4
@ A -(x]x>0} ®
S =|x|x<4) -4 3721 0 1 2 3 4
@ P=ixix=73)  BO 1
Q={x|x<71} @ 4 37271 0 1 2 3 4
® R=|x|x>"1) Q¢ p—t——
S = {x|x>2] = 4 —3—2-1 0 1 3 4
| |
® P={x|x>"4} =0 -4 =3 —2 —1 cIJLj1| 2 :134’
Q ={x|x=0j @@D < L L —p——
@R:{xjxs 1] @ —4 —:'s‘—é —1 (') 1 2 3 4
S={x|x=<72} ® | 1 1 ]
¢ -
s ii0l B A
Q ={x|x <3 E ® e ———— |
@ R={x|x<2} @ —4 321 0 1 2 3 4
s=ixix<4)  BO® ——ftF+t++1+4+>
P={X‘X= } 4'- ? ? ‘: O 1 2 3 4
Q ={x|x <4 @ ] ———
4 /3721 0 1 2 3 4
@ R ={x|x=0] 5 J O T R S RN
S ={x|x="3] = 4 —3-2-1 0 1 5 3 4
Lot BO oot
Q ={x|x <4} —4 —3—2-1 0 1 2 3 4
@ R={x|x="2} @ D 5
S={x|x="2} @
12 |13 |12 |11 121 2131319192 | 8 |12 161012 |12

s
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What is
ABCDEFGHIJKLMNOPQRSTUVWXYZ, Slurp?

Match any compound inequality below with the graph of its solution set. Write the letter
next to the graph in each box that contains the number of that exercise. Keep working
and you will discover the answer to the title question.

@ {x|x>1orx <72} Dbt
4 "3 7271 0 1 2 3 4

@ {x|x="3andx <2} O fpg——+—+—+—+—
4 3 2 1 0 1 2 3 4

@{XIXBSOFX$O} @*—I———%{) IL IL*
4 "3 72 1. 0 1 2 3 4

@ {x |x >1andx < 4} P~ et | =
4 "3 72 "1 0 1 2 3 4

® {x|x="1orx <72} O~t—"—"1—"1——tp——p—
4 3 2710 1 2 3 4

® {x |x=2andx <3}

|
N
|
|
N
|
—

T
w4 w
T
o— O

-
N
w
N

@ {x|x>00rx >2}

o
}
|

N
|

-

—_

N

w

N

® {x [x >0andx > 2}

4 T3 T2 ° o 1 2 3 4
@{x(x<—1 Orx<0} @‘IL __II _W
4 "3 2 "1 0 1 2 3 4
@ {x |x <~1andx <0} O+ttt
4 "3 2 71 0 1 2 3 4
A {x |x=1o0rx <1} O-—t—t—t—t—t—T—T
4 "3 72 71 0 1 2 3 4
2{x |x=1andx <"1} () I E B N N B o e
4 3 2 "1 0 1 2 3 4
@ {x|x>"1orx <3} O~t—"F—¢t—t—t—t+4+——
4 "3 7271 0 1 2 3 4
9 {x |x > 1andx <3} ® ¢

Se12(6 (8 |10|6 |2 |10|10]13|4 9|2 |1 [13|7|14|3[13[11|10]|4 |12]|6 5 [14 °p
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What Did One Ear Say To The Other?

Each pair of numbers at the bottom of the page stands for a point on the coordinates
below. Above each pair of numbets, write the letter that appears at that point.

q

-

T, K

<

- N W A~ OO ON O

L ! 1

K A 8 0

(6,3) (1,5) (74,6) (76,3) (4,0) (750) (T7,78) (71,75) (7,72) (2,74)(0,2) (0,73)

(0,0) (8,7) (76,76) (73,2) (5,75) (78,72) (0,77) (75,74) (71,0) (3,78) (72,73)

(78,8) (0,8) (8,00 (1,71) (73,78) ("7,1) (2,1) (1,76) (4,6) (1,7) (8,76) (3,8)
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€T THE POINT

page1

A WM I I WM M - g - - - Mg
Graph the points in each group and connect each point with the next point using
straight line segments. Do NOT connect the last point in one group with the first point
in the next group. For the next-to-last group, you are asked to shade in'the area formed
by the points in that group. Use pencil so you can erase if necessary. It's gra-fun!

(0, 6.5)
(6, 6.5
(7, 5.5
(6, 4)
(9.5,9)
(13.5, 6)
(12.5, 2.5)
(9.5, 2.5)
(9.5, 9)

LIFT PENCIL
NIANANA
(76, 6.5)

(783, 8.5)

(0, 6.5)

(71.5, 5.5)
(T2.5, 4)
LIFT PENCIL
N ANANA
(1.5, 3.5)
(2.5, 3)

(3, 2.5)

LIFT PENCIL

)
)

(73, ~15.5)
("7, T15.5)
(710, ~12.5)
(T13.5, 75)
(T10.5, 75)
(79.5, 72)
(76, 1)
(C4.5, 1)
LIFT PENCIL
NANAN A
(0, 3.5)
(T1,3)
(71.5, 2.5)
LIFT PENCIL
NN N
(15, 2.5)
(12, 1)
(10.5, 2.5)
(8,0)

LIFT PENCIL
N AN A

12, 1)

12, 78)
4.5,717)
("1.5, ~17)
(2, ~20.5)
(73, ~15.5)
(3, T15.5)
(10.5, 78)
(10.5, 0.5)
(9.5, 1.5)
LIFT PENCIL

NAN NP
(T4.5, 4)

("6, 2.5)
("6, 6.5)
(72.5, 4)
( )
(

(
(
(

~4.5, 1
6, 1)

LIFT PENCIL

NANANA

(72, ~1.5)
(75, ~1.5)
(75.5, 71)
(75.5, 0)
("5, 0.5)
("2, 0.5)
(71.5, 0)
(71.5, 1)
(72, 71.5)

SHADE IN THE

AREA FORMED
WITH THE

POINTS ABOVE.
NANAN A
(T12.5, 75)

(T11.5, ~3.5)
(710.5, ~5)
(

(3.5, ~5)

(6.5, ~2)

(6.5, ~3.5)
STOP
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page 2

BOWSER

T
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. sen aAesg siaio|dx3 ysiueds ayjl pigq moH

el oo e el el o ofol.lols ] c]
@® L B F @ - @) ¢
@ € @ 0 ® 0 D 0
@D 0 @ G_ @) | @® b
@D 2_ €9 8_ € G @ c_
(x)4 X (%)} X (%)} X (X)4 X
-9 =(x G — x_ =(x) L — Xg = (x)4 XG + | = (X)4
=2 e ® ® ®
® b_ @D £ @® G_ D G_
® 0 @ 4 @ 2_ @ b_
@2 ¢ €D 0 €2 0 ® 0
@ S @ - @ v ® €
@© L ® C— @9 L @ S
(x)4 X (x)4 X (X)4 X (X)4 X
+ xg_ = (X4 xg_ = (X)4 y — x= (X4 xg = (x4
’ ® ® ® ®
SNON@P SR NOUERYS SNOMEY? SONRYS SONERY? SONRY? cNOUERY QU SONERY» SNONRY» SOURYS @U@

‘uolIsanb aj11} 8y} 0} JOMSUR 8y} JBA0ISIp ||IM NOA pue Bupjiom daesy) "ajge} ay} Jo
MOJ Jey] WOJ} Jaquinu pajo4d ayjl sulejuod jey) abed ay)l Jo woNO0q 8y} }e xoq ay} Ul 18119| Siy} Sl
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O 1)1 D a0z e ez ) oy (Lt'v) (a_‘0)z_ ‘D@L eNe @ (s_‘0)(0'e_) (gL's ) (112 )

(ee)saw_r 1) @2 _v(s_‘1) (_‘c)(1'e)orv)(ee ) e_ 0 (s_ 1) (91 (ee_)(@_e) (s'yv_)6_p_)

SCI®ICIDICHS)

HIMSNV 3009
2_ @ y 0 G_ © y
I @ € €) _ ©) €
0 €) 2 o) e_ @ Z
! ) 1 0) C_ ® !
2 @ 0 @ I ® 0
€ ® b €) 0 ® L
4 ® C_ ® ! ® C_
X @ e_ m_.v! 2 ® e_
_ @ b_ ©) € 3 a
X (%) X
= (X — X =(x
(x)4 ® 9— X = (%)} o

‘(Aul1092 As18A st yoiym) uonsanb a1y ay)
0] Jomsue 3y} JOA0ISIP ||IM NOA "1l dAoge Jaye| Buipuodsalioo ayj a1um pue abed ayj jo
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B L_ _ .
m&wawm%wmoammaswgm%mLHML ®| oo NN
® S ® 9 ) 0h_ 0) €_
@ v_ ® v ® ol @ 2_
® o_ Q) € ® o ® I
@ 2 3 2 ® 2 ©) 2
(%) X (%) X (%) X (%) X
L+ X -7 = — X = — X¢) =
yg = (XM ® L=xC = (X} o X — X = (%) ® 1 — xg) 5@
<§<§4§<§<§<§4§<§4§<§<§<§<§<§4§4§4§4§4§4§<§¢
) 00} © 0 ) G_ ) 9_
@ ot ® €_ ©) € ® €_
® ¥ © Z @ s ©) 0
@ } @ ; ® g @ 8l
(%) X (%) X (x)4 X (%)4 X
= J_..mx ey ® Xp— | = (X & L+ X = (%)) & £ — (4 &

VNN NN AN AN NN NN N NN NZ NN NN
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H-0c | V9L | N-€2 A9 1y M-0L | O-cl
. . ¢. & € 2. 2. . _ .
€4 |G (g 1) | W) | G| (F0) | (%) v = Ae +xm|@_
N-9 OGSl | M€ 1-€2 o€l [ d-02 1-8
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N-8 nee [ 02 S-0b | 381 H-G1 S-Z
B_‘e) | (c_e) | (t'0) [e_1)fle_e)| (@) [ (@'} l_=A—xe @—
v-6L | N8l -6 0-l¢ 1-€ 31l | N-ge
oy |1 | wo) | G| (€ | 62) | (12 S=£A+x m&
g1 | ave | AL SZt | 36l oS | 1-2I

‘abessaw piom-aAl} e 1no [jads |jim noA ‘abed ayj Jo wol0q a8y} Je sexoq ay}
ul Jenaj ayi Ind 01 ai8ym noA s|ja] Jequinu sy "I8ls| pue Jaquinu ay} 8d130U ‘pajd4I0 dABY NOA UOIIN|OS YoBa JI9AQ
‘'suolin|os  8sayl 310HID ‘MOJ jey] Jo
Buruuibaq ayy 1e Ayijenbaui 1o uoijenbas ay) Jo suonn|os uleluod wayl Jo ¢ AjuQ "sajbueioal / sey ssoloe mol yoeg

‘SNOILO3HIQ 3SIHL MO1104 ‘IDVSSIW N3AAIH IHL ANId OL

abessay ayl puiq

PRE-ALGEBRA WITH PI1ZZAZzZ!

© Creative Publications

238



Why Didn’t The Circus Managers Want
Their Human Cannonball To Quit?

00000000000000000000000000000000000000000000000000000000000000000000000000000000000¢0

For any exercise below, solve the equation for y in terms of x. Find your answer in the
answer columns and notice the number to the left of it. Each time this number appears
in the code, write the letter of that exercise above it. Keep working and you will discover
the answer to the title question.

0000000000000 0000000000000000800000000000000000000000000000000000000000000000000000000

[ EEEREEEER]

209000000989

®x+y=2 ©2x—y=‘2 @5x—2y=0
®‘2x+y=5 ®x+2y=0 ®4x—2y=3
®5x+y="1 @x+2y=5 "3x—5y=10
@‘3x+y=‘4 ®‘3x+2y=0 ®x+4y=‘2
@x—y=6 @‘3x-|—2y=4 ®_6x—2y=5
@"4x—y=3 @6x+3y=1 ©x——3y=“4

vvvvvvvvvvvvvv

--------------------------------- 5 ANSWERS S20220020002000002292209200220220238
_ X 2 _3
@y-— > ®y 2X @y—-z-x
@y—_——.‘?’.x—Q y=2x+2 =_)_(—.1
5 ® x5 4 2
®y=3x-4 y= 373 @y = ox + 5
@y-x,4 @y = —5x — 1 y=‘2x+%
5 3 @Dy=‘3x—-f2 @ 3
@y=§x+2 2 y=&X-3

2 ®)

=X—6
— y y ="4x — 3
£ CODED ANSWER: 4

12-17-18-1-4-16-3-6-9-11-18-5-18-13-15—14=11=9

10— 11 -16 —-12 =17 -18 =13 -7-10-11 —16 —15—-17—14—-8

KL LEEEEE L YRR L]
NA000090000000000Q00

4-10-6-14-2-13 - 18
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Why Did Miss Muffet Need A Road Map?

Graph any equation below. (Let each space along the axes represent 1 unit.) The graph,
if extended, will cross a letter. Look for this letter in the string of letters near the bottom
of the page and CROSS IT OUT each time it appears. When you finish, write the letters

that have NOT been crossed out in the rectangle at the bottom of the page.

Dox +3y =6 @x+2y=4
A 1
M
" @
C
F
w
@ 4x — 3y =12 ®-3x -5y =15
T A
|
M
4
P
@x -2y =3 ® —3x + 5y = ~10
, i
T S |
$__
P
A

Y

@3x+y=“6
N
Y
F
@2x+y=5
)
H
L
-
1
|
]
U
@x+y=0
E
—
H
A

PUSHAPNELAGONFSANTMCHIMEAPCRAWNGIFPHEANIYUN

J ANSWER:

1
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Dicl you lnear a‘[@@mﬁoo%

{ mm— } | —} R R — e e} i | | e } o | i } | s | comm— ] =
A B C D
%
| | ”
UE F G H 5 7
l" K KK R KK K K e KR K K

DIRECTIONS: Solve any system of equations below by
graphing. Find the solution in the answer column and notice
the word next to it. Write this word in the box that has the
same letter as that exercise.

KEEP WORKING AND YOU WILL HEAR ABOUT SOME UDDER

NONSENSE!

o e K K K K K
®2x+y=5 ® 3 +y =5 _[(34—BEEF
X—y=4 X —2y =3 (=3,3)—UDDER
(2,3)—OLD
® 3x + 2y = 12 ® 2% —y =2 (73,2)—THE
2 +y =7 X—-y=5 (2,5)—GROUND
(72,4)—HER
©-2x+y=5 @2 +y =4 (71,72)—FINALLY
X—y="]3 X — 2y =7 (0,1)—STOPPED
(72,1)—COW
®x +3y =4 ®x +3y =7 _(3, 1)—THE
2x —y =28 X +y="T73 (—1,00—MADE
(1,"4)—KICKED
;/ 'L [ 37},@‘_ (4,0—WHO
' (71,75)—MOO
N7 4,72)—FARMER
= 4,1)—BUCKET
(1,1)—MILK
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How Do Fish Go Into Business?

Graph any inequality below. Then read the three statements that appear under the
coordinate grid for that exercise. Circle the letter of the statement that correctly
describes the location of the graph. Write this letter in each box at the bottom of the
second page that contains the number of that exercise.

®x+y>2

K Quadrants 1, I, IV:
includes boundary line.

O Quadrants |, II, IV:

excludes boundary line.

U All four quadrants;

excludes boundary line.

@_2x+y<4
\

M Al four quadrants;

excludes boundary line.

V Quadrants II, lil, IV;

excludes boundary line.

G Quadrants |, 11, llI;

excludes boundary line.

@x+y<2

i

F Quadrants|, II, IV:
includes boundary line.

P Quadrants |, II, Iil;
excludes boundary line.

E All four quadrants;
includes boundary line.

@x+y>"3

L Allfour quadrants;
excludes boundary line.

S Quadrants I, 11l IV;
includes boundary line.

T All four quadrants;
includes boundary line.

@2x—y>4

B All four quadrants;
includes boundary line.

H Quadrants |, i, IV;
includes boundary line.

R Quadrants |, Il IV;
excludes boundary line.

@3x—2ys6

C All four quadrants;
includes boundary line.

J Quadrants I, Ill, IV;
includes boundary line.

D AQuadrants |, Ill, IV;
includes boundary line.

oA oS o ot ot S A oo o oS S S o A A I A S S S A I A S S I oo ST h S A S S S o o o o S o S S S S Ao S IS S o S S S S S o S S S S S o
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(o A S S o S S o S S A S A A A A A A S S S S S A

@a3x+2y>6

F Quadrants |, II, IIl;
includes boundary line.

Z All four quadrants;
excludes boundary line.

N Quadrants|, Ii, IV;
excludes boundary line.

x+2ys5

!

R All four quadrants:
includes boundary line.

S Quadrants |, II, IV:
includes boundary line.

F Quadrants i, Il Iv;
includes boundary line.

‘x+4y<'4

#»

R
Y
I

All four quadrants;
includes boundary line.

Quadrants I, lll, 1V;
excludes boundary line.

All four quadrants;
excludes boundary line.

AD-3x — 4y > 12

1

U Quadrants i, IlI, IV;
includes boundary line.

I Al four quadrants;
excludes boundary line.

A Quadrants II, Il IV;
excludes boundary line.

™ s 3 2 8 12 5 11

10

@ox-—y<~3

}

Quadrants I, 11, IV
includes boundary line

Quadrants |, II, IlI;
excludes boundary line

All four quadrants;
excludes boundary line

@x—y>0

i

i
S Quadrants I, I, IV;
includes boundary line
W Quadrants |, I, IV;
includes boundary line
K Quadrants |, I, IlI;

includes boundary line

7]

11 12 4 11

9

9 12 6

5
11

REENER
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Tlest of Genius

@ Arrange the numbers 1 to 8 in the @ An ancient ruler often condemned
circles so that no two consecutive to death the people he no longer
integers are in circles that are favored. However, he amused himself
connected by line segments. by giving his victims a chance to live

if they were both clever and lucky.
The victim was given 6 vials

filled with poison, 6 vials filled

with water, and 2 boxes. He was

to arrange the 12 vials in the 2

boxes. He could put any number he

liked in each box, but he had to put at

least one vial in each. After he had

put all the vials into the boxes, the

ruler would first select one of the

@ . . boxes and then draw out one vial
Write a 10-digit numeral such that | i
the first digit tells how many zeros from that box. The victim would have

: : to drink its contents.
mgrseiroenlg éliqgeitetrc]atlllrsehnoL\INm;?A’y What arrangement of vials in the
ones there are in the numeral, the boxes gives the condemned man the

e R
third digit tells how many twos, best chance of avoiding the poison*
and so on.

Os 1s 2s 3s 4s 55 6s 7s 8s 9s
@ Write a numeral with 6 nines whose

value is 100. No operation symbols
® Four old friends mest. If each one may be used, but a decimal point or
shakes hands with each of the fraction bar may be used.

others, how many handshakes are
there altogether?

® What is special about this pattern of
letters? Why are the letters arranged
this way? (Hint: it has something to

do with numbers.)
( OTTFFSSENT
@ Two cars are traveling in the same ETTFFSSENT
direction on a road. The car that leads TTTTTTTTTT
is traveling at 46 miles per hour. The TTTTTTTTTF
other car is traveling at 70 miles per FFFFFFFFFF
hour. How many miles apart will they FFFFFFFFFS
be 30 minutes before the faster car SSSSS8SS8SS
catches the slower one? SSSSSSSSSE
EEEEEEEEEN
NNNNNNNNNH

SCORING KEY
6 or 7—Superstar Genius

4 or 5—Star Genius
2 or 3—Genius
0 or 1—Genius of the Future
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Page 1
Flaming arrows are
hot shots
Page 2
Someday my prints
will come

-11/2

11/4

-2 3/4

1.5

2.75

-1.25

-1/2

MEOOrr~SWHZ"DU<XS<POMETO0
)
n
)

Page 3
Greater than 4
5,9/2,8
Less than —2
-3, ~7, —5/2
Greater than —1/2
0, -1/4,5
Less than 5 1/2
10/2, —10/2, —1/3
Greater than =7 1/3
-7, -1/3,0
Less than —1
-3/2, =5, —2 2/3
Greater than 0
15, 7/8, 3 1/3

Selling coffee is a
grind

Page 4

You may wish to con-
trast the graph of a
number with an arrow
representing that num-
ber. While the graph
has a unique location
on the number line,
the arrow can start at
any point on the line.

0O 2 R -3
L -4 N -5
1 -6 M 1
W 5 T 6
E -1 P -7
0o 3 B 4
S 7 s -2

Its snow problem
(It's no problem.)

Page 5

E 3 H -9
o -2 S 1

Il 5 E 31/2
R -5 R -41/4
0O -3 N 9

E 6 s -7
0O -4 W -51/2
N 4 P 8

E 7 N 51/2
A -1 T —-63/5
N -6

When one person is a
tenor

Page 6

Mosquito showing a
girffriend his most

recent job

H -75 U -56
D -8 B -900
C -9 N -952
G —-109 J 823

L -142 R -800
T -3 1| -6

W 154 § -72
F -259 Q@ -179
E -226 O -89
A —-323 M -101
Page 7

SOLUTIONS

Page 8
PAGE 2
® P o et B ©® 6r4=-2
1 — —t—t
4 321 01 2 3 8 -6-4-20 2 46
“3+5=2 6+8=2
 e——
@ e : @ 31
4 -3-2-1 01 2 3 -8 -4 0 4
-5+7=2 -10+20=10
@1 - @ — i
54 -3-2-1 0 1 2 -20 =10 o 10
5+-1=4 10 + 25 =-15
4 012 3 4 5 86 -20 -0 "] 10
-4 +2=-2 @ -25+25=0
-5 -; -3 ~; -1 ‘; 12 . «20 -10 ; 10 .
6 +-7=-1 @ -20+5=-15
-1.5121455 ~2.0"10 ‘0 10
3+-3=0 60 +—40 = 20
O =— Q@
-3-2-1 01 2 3 4 o 20 40 80
8+-12=-4 ~30 + 50 = 20
@ i T : @ —_
642 02 4 8 B8 -40 -20 o 20
@ 10+—4=6 ® -40 + 40 = 0
— T
—

h T !
2 0 2 4 8 8112

-40 -20 [} 20
PRE-ALGEBRA WITH PIZZAZZ!
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We love the wind
We love the sun
Sailing a boat

Is yachts of fun

DIRECTIONS:

number sentence for an:

DECODE DESIEN

Each arrow diagram on plgl 2 represents a number sentence. Find the
y of these dlagrams In the answer columns balow.
Notica the CIRCLE DESIGN next to the answer.

Find the CIRCLE DESIGN of your answer in the code at the bottom of the
page. Each time it appears, write the letter of the arrow diagram above it.

KEEP WORKING AND YOU WILL DECODE A "SONG FOR SAILI"
c A w
6+ ~7="1 @-20+5=-15@-1o+2o=1o

@Y—4o+4o=oqa+5=z @seo+—4o=2o
°T1o+-4=s °N-s+e=2
L~25 +25=0 F—ao+ 50 = zo@'m +-25=-15
H2+‘6='4 q5+7=2 Es+-1=-4
OB-4+2=-2 @"E+-12=—4 @qs+4=—2

PAGE 1

°3+-3=o

TITLE: A SONG FOR SAIL

W E'L OV E‘THEWIND
0000000000000
W E‘LOVETHE-S UN
000000000000
S A Il LI NG-A‘BOAT
@0000086000000
|1 S'YACHT S0 F:F UN
0000000000000

PRE-ALGEBRA WITH PIZZAZZ!
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1
S
[{]
PONW®W

E-N

-

MO

o |
—_
o

13. -7 31. -3
14. -13 32, 17
15. -18 33. -7
16. —6 34. -3
17. -7 35. 5
18. =13 36. —4
19. -4 37. 3
20. 7 38. -3
21. -15 39. 2

. —15
. —13
24. -7 42. -7
25. -1 43. 4
26. -3 44. 7
27. 2 45. -6
28. -3 46. 8
29, 2 47. -4
30. 3 48. -7
An electric dishwasher
gets you out of some
tough scrapes
Page 10

Just fine tanks

A bout to improve
Worse dis year
Class y

-22

26

-83

59

49

-47

-78

—257

-19

30

37

-37

MCCSOPREZM<W™—
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-93
161
8
0
-186
—87
—846
2
-2
age 11
174
166
-89
—291
76
-62
-113
-115
149
-25
-103
-23
216
22
—108
34
It had cycle logical
problems (psychologi-
cal problems)

FrOo<0SIrIxe-H» vomMmMNW—" UVIOZ<0-rmo

Page 12

T 13 0O 20
R 37 E 19
E 9 T 22
U 32 N 35
0O 29 S 28
F 4 o 7
H 23 H 14
C 5 E 26
0o 2 C 33
A 34 S 8
E 15 M 1
F 21 O 38
0o 31 F 42
T 11 B 25
E 4 O 40
R 10 E 16
D 27 L 6
o 12 P 39
Y 30 G 18
E 24 vV 3
D 17 D 36

Move closer to the
edge of the bed so
you can drop off

245



Page 13

Page 19

What Did the Mama Cow Say to the Baby Cow?
TO ANSWER THIS QUESTION, FOLLOW THESE DIRECTIONS:

Draw a straight line connecting each exercise with its correct answer. Each
line will cross a numbar and a lettar. The number tells you where to put the
ietter in the row of boxes at the bottom of the page.

NVS09000000000000000 000000008

FANMOUS FARMING
EXPRESSION-*

The muitipiication table below contains 42 mistakes Shade in
each box that contains a mistake. Please use pencii 80 you

can erase if necessary.

YOU WILL END UP WITH A FAMOUS FARMING EXERESSIONQ

B oEEm
o o

~a1| 54

°
Z2V2id HUM VHB30TV-3hid

[ s [itdl20]a5 30

Fwnarorng e

6t

DEETEOTEETT
i 72 [ ] a6 72 1a 28] o3 LR o1

: bl oy 20 |0
HiER

15 -8 -9
“15 -6 -113
-15 -6 3
15-6 120
-83 - 30 21
~83 - -30 53
30 - ~83 24
-30 - -83 0
27 - 54 -21
~78 - -78 95
60 — ~60 113
~47-77 95
—47 - ~77 ~124
19 - 43 9
-36 - -18 27
55 - ~40 30
~40 - 55 -5
40 - 55 18
112]3 17118
1T} MJE
rEASTINTIREY 13
It is pasture bedtime Page 16
(past your bedtime) Infant replay
Page 14 Hare tonic
# 221218 El g&? Man over board
E 823 K -867 & _soo i oo
C ~441 U ~365 g 50 p 73
A 751 L 756 V 633 0O -129
o by -s Fosis
297 9 D -589 A 476
D -839 § 623 T 53 R 19
G -89 B -444 N -7
Unlawful is againstthe | -980
law and illegal is a Page 17

sick bird (ill eagle)

Page 15

Y -4 u 3
o 10 F 75
D 5 J 16
E -9 D 15
u 17 H -10
0o 2 T 6

T -1 S 43
A -18 | -17
F -14 0O -13
o 37 P 1
A 12 F 60
T 29 R -6
P 25 J —64
o -1 M 19
S 8 w -20
E -7 N 4

U 50 R -5
o 7 M -8
T -15 T 9

N 13 R O

R -12 G -3

Just wait for the merry
go round to stop and
jump off

Some pretzel bakers
are trying to make a
fortune in crooked
dough

Page 18

EIEIO
Page 20

816

—2652

224

—9534
-13,125
—47,700
-1512

146,640

. 4096

10. —2,988,000
11. —243

Joggers do better in
the long run
Page 21
-120
15

-37
130

30
—106
-196
=190 -164
50 125
He was a tailor who
seamed nice and
suited me fine so mar-
riage was only fitting

CENONP LN

6400
110
=32
1400
~70
—625
—9200

<O0IDOOEZO0
wnm-HcZr—mp»

oy aacics
T2VZD M WEID Y B

a correct anawer.
MULTIPLY

Q@ 6)°8) = ~36
@8 (8) = 64
@ 679 = -513
@ (-20)(45) = -900

@ (87)(-79) =~6873
(53)(41) = 2173
@ @5)(-25): -625
@ @90 = -at0
® (38)(-70) = 2660 § @ (-15)15)(15) = ~3a75 § @D (-57)(396) = —22,572
®(-35)(16) = -s60 t 4 (19277 = -2457 ¥ §B (439)(7876)(0) = 0

a3 What did the purple shovel say to the pink hoe ?

DIRECTIONS: The answer to the titis question is hidden in the rectangie To find it, do the axercise:
below and find your answers in the rectangle. Shade in each area containing

@3 (-24)36)(2) = -1728
@3 (s0%3)50) = 7500
@ ©sye)1) = 784
@9 (-a71)8) = -a7e8

PRE-ALGEBRA WITH PIZZAZZ!
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ook ss 35 s 0
mom
Page 22
A -3 V 30
E 4 M -4
T -5 vV -14
A 12 L 16
R 7 E -18
A 1 0O 25
E -12 A -25
O -50 D 67
A -10 E -91
H O 0O -15
D -11 A 150
E -215 V 13
T 8 0o 9
E 15 L 311
o -7 N -2
A 75 vV -21
E 6 T -150
R -75 H 10
E 50 B -—-311
T 67 N 3
N 2 S -9
H -30 L 215
R -6 H -8
T -170 L -—16
V 5 T 9
T -1

Better to have loved a
short man than never
to have loved a tall
(at all)

Page 23

The unhappy guy who
tried to kiss his girl
friend in the fog and
mist (missed)

29

-16

—45

-127

202

503

—-78

639

—321

—7609

—436

12

—6000

0

—749

OZEr X" IOTMMmMOOT>»

Page 24

T -8 T 9

A 29 E 30
D -27 H -1
H -6 D -58
E -22 0O -48
0O 50 A -55
L -8 E 31
G 7 | 100
E -5 L 3

| -100 E -9
T -15 A 16
A 10 B -87
N 77 T -10
O -18 R 14
S 12 N -12
T -24 D 75
E -14 L 2

L -26 T 72

The label said to tear
along the dotted line
Page 25

=523

—-226

3. —3176
4. 376
5. 435
6. 1299
7
8
9

N =~

5040

-708
. ~78
10. —2161
11. —-1728
12. -59
13. -1
14. 276
15. 1680
16. 0
17. 34
18. —1884
| Lava U
Page 26

Students need scis-
sors for this puzzle (or
they can use the fold
and tear method).

If you want them to
hand in more than just
the hidden message,
they need tape or glue
to fasten the puzzle
pieces in the correct
arrangement, or ask
them to pile the pieces
in the order of the let-
ters in the message
and staple them
together.

Wrestling always gets
me down

Page 27

G -4 vV -15
C 18 N 48

1 14 T 16
A 50 O 80
R 28 D -16
E 15 S 24



w -9 F 25
L 30

World’s greatest lover
of fractions

Page 28

G ~-12 E 1

K 14 W -5/6
T -82 O -3/4
D -23 § -1/7
Y -1/5 R -1

H 43 | 2/3
N -4/5 L 1/16
M 19 A -1310
C -53 B -1

She wanted to see a
man laying bricks
Page 29

A golden receiver

A Yamahahahaha

Ten sows and bucks
(ten thousand)
5/12
-3/10

-1 5/24
-1/20
-13/15
1/4

112
-11/15
19/36

1/3
-113/24
29/48
1/18
-11/3
—39/40
67/100
=17/30
17/24

VP>PIMroOO<Z<AsI-HCZO0—0

Page 30
Regrouping is not
necessary for this
puzzle.

-3 3/4

-51/15

21/6

—2 13/30

~7 9/20

WMII—OOSZOrZ—HACTB»ON
'S
=2
(&)}

A bear must beware
when losing his hair
because after all how
much cold air can a
bare bear bear?

Page 31

-67/M12

9 11/20

-41/3

23/8

18/15

9 7/30

—91/36
-19/10

-6 17/24

10. —41/2

11. —419/35

12. —313/20

13. 57/24

14. 5/18

15. 7 31/40

16. 5/12

They curl up and dye
Page 32

1. 11/6

2. —37/30
3. —419/30
4, 85/18

5. 729/60
6.

7

8

9

DOONS oM

=5 27/40

6 13/20

—23/8

. 517/24

10. —11/24
11. 57/24
12. —6 31/48
13. -55/18
14. -9 11/36
15. 35/12
16. 19/10
17. -4 23/30
18. 1/8
Kids with mumps have
a swell time

Pages 33-34
These problems are
of three types. They
require the student to
compute one of the
following: 1) the value
of some variable after
againoraloss (1, 2,
9, 12); 2) the differ-
ence between two val-
ues (3, 5,7, 11, 13);
3) a net change (4, 6,
8, 10).

45 1/2 degrees C
$97

1104 yards
$24,300

67 1/2 meters

-8

6 5/6 hours

1 2/3 yards

—26 degrees C
10. +2 1/8 points

11. 221/5¢cm

12. 1723 meters

13. 307 1/2 meters

Many shop teachers
do not believe in stone
because they never
saw it

RN OIAWMD

Page 35

12 E 23
7 1 15
E 17 H 1
D 10 A 11
A 25 N 20
E 2 Y 30
H 22 E 9
A 4 S 24
o 19 w 3
E 27 R 16
D 13 D 28
A 29 H 6
T 21 M 26
S 5 R 8
D 18 F 14

He was hired and fired
on the same day
Page 36
-2 2/5
-31/3
3/4
—2/3
-31/3
2/15

-31/3

55/6

-31/3
You have a hole in
one

ITIOoOr<Irc<~—rprZmxrpmOomo2=Z
<J
=

Page 37

Miss Keetow
Candy Liverright
Rufus Caving

G 15 M 87
A 44 L 54
F 49 T 64
o 13 D 94
E 76 K 62
Y 22 s 92
1 78 vV 84
W 69 U 88
N 35 C 93
H 77 R 90
Page 38

Men, get in the boat
Long time, no sea
I'd rather fly a kite
-31/4

-8

7173

21/4

81/8

—20

-12/3

-2 1/10

15 3/4
-71/3

82/5

SNXITTN—<UOI

A 181/5

L -24

T 94/5

N -11/16

0 -25

E 2477

Page 39

L 5/4 S 10/23
H -2 c -1

Y 113 | —471
M 2/25 V 10/9
O —-8/15 U 8/37
E 1/10 A —7/47
P 3/100 R 3/50
G -9 W -5/47
K -12/43 T 7/3
Very clumsy tightrope
walker

Page 40

S -6/7 V 3/8
C 35 o -9/2
Y -15/14U -2/21
A 3326 N -1/10
E -20/21L -2/9
D -49 P 12

T 103 H 377
G 2/9 R 352
I ~338 F -7

Hugh and only Hugh
can prevent florist
friars

(You and only you can
prevent forest fires)

Page 41

Y -112F -7/20
O 115 K 3

S -2/3 R -21/62
E -50 K -3

O —-42/3T 11/2
R 1127 § -1/7
R =-91/2B 40

c -77/8

For stocky brokers

Page 42

—1715
-1/5
—9/28
21/4
-2712
-21/2
31/3
-5
511/24
10. —47/30
11. 74/5
12. —-36
13. 511/36
14. —4 3/8
15. -1

16. 55/7
17. 4 9/20
18. 13/5
19. 1

| W (I double you)
Page 43

. 17/8
18 7/12
23/5
42/5
41/5
27 3/8
25/6
91/3

. 27 .

10. 1/10
1. 24

12. 8400

He had a suite tooth
(sweet tooth)

PN LN =

COND O P WD

Page 44

These fractions are
all equivalent to termi-
nating decimals.

"

WHAT IS A FALSEHOOD 2

TO ANSWER THIS QUESTION, FOLLOW THESE DIRECTIONS:

side
other two sides. Draw & STRAIGHT LINE

fraction 1o its decimat equivaient,

gy s b
ZZVZ24 WL WDV

L x4
2k B 3
H .

‘Whnen you finish, you will notica that some areas in the rectangle contain an 'S,
fer "shade.” Shada in alt of these areas. The answar 1 the title queatian will appear'

which stands

I
5 8 5 25
HA 1 e
§ 109 HY:

-0125 L 88
- - - . -
0875 05009 -003gpg0.4 0375 084 07

il
-0.077 -0.5

b
2038
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Page 45

Why is SPACE TRAVEL like a CHALKBOARD ?
TO ANSWER THIS QUESTION, FOLLOW THESE DIRECTIONS:

Oraw a straight line connecting each exercise with its correct answer.
Each line will cross a number and a letter. The number tells you where
to put the letter in the row of boxes at the bottom of the page.

6.4 +3.2

Page 51

When Do Super Heroes Use Decimails?
CPhIb IR ghBH B hdbdp g

TO ANSWER THIS QUESTION:

Draw a straight line connecting each exerciss with its correct answer. Each line
will cross a number and a letter. The number teils you whera to put the letter in
the row of boxes at the bottom of the page.

'wtﬁ?ﬁo@@w*@**&@ﬁw

59--13 0.48 x 10,000 0.0048
-8.5 + 2.1 480 + 10 480
“14.8 -"5.6 4.8 +1000 & 2.75
=3.7 + 0.7 48 x 1000 275
~8.04 - 0.13 0.0048 x 10 4800
74 +-05 48,000 + 10,000 0.000275
14 -28 48 + 100 0.00275
=10.6 + ~9.1 0.48 x 1,000,000 0.048
4 --54 27.5 x 1000 27,500
“15+6 2.75 + 100 2750
3-47 0.00275 + 10 48
12.5 +3.75 2.75 x 100,000 0.48
~0.85 - 0.1 0.0275 x 100 0.0275
-0.2 +7.27 2750 + 1,000,000 27.5
=17 - -184 27,500 + 1000 275,000
1.01 +-0.9 0.275 x 10,000 48,000
27.5x10 480,000
[EREERFREEIFERETBR
FRE»ALBEBGREA‘V.V.!LNM 45 IN-A TENTHS SIT UA;IRLi:EERA\MTH PIZZAZZ 51
Both are remarkable 8. 0.024 In a tenths situation N -75
Page 46 9. —24 (tense situation) D -0.008
10. -2 Page 52 Y 360
1. 6.505 g
2. -1.83 }12 8’80202 Remains to be seen a 2225
3. —8.17 13. 0.2 Sea for yourself A 40
;" ;gg o l. 0.012 We like clothes calls On grounded
6. —182.608 S. 02 I 02 hog day
7 -7.003 E. 0.0002 N 0.04 Page 54
8. 4.002 0. -024 F -0.879 D -3464
9. -6.66 S. -0.12 K 6.556 P _21‘195
p ) A. —24 T -37 - y
10. 3.124 X 12 U 439 U 0.602
11. —3.68 L. _'0 2 A _'379 E -7.35
12. 4.945 M -5 W 0.083 H -17.437
Volunteers are good T. -0.024 C 68 B -16.95
i . y F —43.12
for nothing C. 0.024 Y -—5.008
Page 47 S. 0.24 R -—4390 g 22'39 "
w 31 L. —0.0012 B -275 W 6 .
E 810-i88 Six lost camels g 23809336 L -43.081
= Page 49 ' R 40.09
5 2 ls The best place tovisit 1 o5 po7o T 4361
O -8538 a popular restaurantis | 709 A —35.767
A 13 on the moon because S -709 1 0272
M -22.043 there’s only one sixth Page 53 P —2037.5
' of the weight 9 . If it were little, white
K 16.371 The sloth mentioned W !
R -479.409 Page 50 ‘nhes and round it would be
in the next-to-last ‘s
T 9.09 1. —-16.25 ; ) an aspirin
7 problem is the world’s p 55
lé 1(?-194 g ?_179 67 slowest-moving land Rag§7 95
. v mammal. :
Real estate men have 4. 0.325 G -56 P 034
to know a lot g 13‘;7kd39f993 C b o027 L 2795
. 47.2km : E 17.574
fagf:fz 7. 138849 ﬁ 16%83 U -24.004
2 0.012 8. —23.02 points O -495 | -706
3' 12 9. -138.7 yards O 808 A 460.046
4' —.0 0012 10. 146.3 degrees C R _'5 4 N 0.1
5 -0024 He had harp failure E  0.0409 S 118
6. 024 Uu -1.8 g —?g 004
7. 0.024 (o) 2.04 M 4501
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—0.43

450.1

—432.526

-0.04

Sleep with a hanger in
your mouth

<TIOS

Page 56

It is a “Z-row”

A 67 L -14
B -1 M -3
C 40 N 69
D O P -51
E -2 Q 92
F -29 R 17
G 48 S -75
H -4 T 53

I -45 U -37
J 78 vV -95
K 33

Page 57

The missing link
He went hay wire
Pulling a fast one

A -28 M 0O

K -45 P -98
T 45 H 1

o 7 F 5

U 46 W -6
E -61 N -8
Y 14 S 84
G -73 | -9
R 2 L 9
Page 58

As a follow-up, you
might have students
identify the property or
properties illustrated
by each true equation.
True: M, 0, V, |, E, S,
AR EAR

False: E, E, L, T, R, E,
AT

Movies are a reel treat

Page 59

N 8 H 19
Y -7 R 75
A -3 | -4
G -6 w 13
L 59 P -19
c 20 E 98
$§ =17 T 50

Electricity is watts
happening (what's
happening)

Page 60

Piccolo player as seen
from inside piccolo
2500

—680

4050

9577

-190

—2412

—4740

1425

mx

<Z0=Z3mM
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Page 61

You may prefer to use
these questions one
at a time.

1. 28

2. $200°

3. 4 brothers,
3 sisters

4., #4

5. Too much; he
would earn more
than $10,500,000.

6. 24

7. Larry

8.

9. Top row; it
includes all the
letters having no
curved lines.

Page 62

Caution students NOT
to connect the last
point in each group of
problems to the first
point in the next
group. Also, you might
suggest that students
use a ruler to connect
the dots.

1. 49

2. 16

3. 36

4. 1/9

lift pencil

1. -8

2. 0.25

3. 1/64
4. 10,000
5. 0.01

lift pencil

1. 64

2. -8

3. 216/125
4, 0.0081
lift pencil

1. 16/625
2. —27/343
3. 64

4, 0.0001
5. 10,000
lift pencil

1. -1

2. 16/625

3. 0.0001

4, 16

lift pencil

1. 2197

2. 0.0081

3. -1

4. -32

5. 1/64

stop

Page 63

1. A

2. R

3. S

4. E

5. A

6. E

7. T

8. A

9. H

10. F

Page 64

7—A 17—-R 2—0O
10—U 19— 21—D
9—0 5—|1 16—E

13—E 6—S 4—L
14—T 11—R 15—T
12—L 20—R &—F
3W 1—F 18—B

Fowl is a four letter
bird (four-letter word)

Page 65

Page 66

1000

0.001
0.00000001
100
1,000,000,000
100,000

1

0.001
0.0000000001
10. 0.0000000001
11. 100

12. 0.001

13. 10

14. 10,000,000
15. 0.00000001
16. 0.01

17. 01

18. 1000

19. 1

20. 10

21. 0.000001

22. 0.0001

23. 0.00001

He was hit by a
guided muscle (guided
missile)

CONPI P BN

the bottom of the page.

Why Did The Farmer Open A Bakery?

TO ANSWER THIS QUESTION: Exprass each product below as a singls power of 10 or 8.
Draw a straight line connacting each axercise with its answer. Each line will cross a
number and a letter. The number teils you whera to put tha letter in the row of boxes at

107%. 1072 g8
10%.1072 g2
87487 10*
g~'.872 1
875.873 108
102+ 10 g™’
1072.10° 877
1075 10% 1077
8-872 10°8
g7.87% 82
8 %.g¢ 10
10°-10° 82
1078.10 107
10*+107° 8’
g=¢.87" 83
8-8 1078
gt.g® 10°
1]2|3|4(s|(&|7|8 0|1 |12(13(14 15|16 |17 |18
HElLIlKEDLR ISI‘NBREJAD
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Page 67
A nervous manor
Knight gown
Breath analyzer
108
10~ M
108
1071
1078

40,000.8022
5.0004
700.06009
20.5071
9. 4006.000036
10. 4.0802

Fortune tellers have a
lot on the ball

Page 69

The absent minded
eye doctor who fell
into his lens grinding
machine and made a
spectacle of himself

0.9

61.08
77.005
—0.0087
1.000973
6.0005
-3.7
—0.775
—500.6
14.0605
18.02001
0.043201
—0.37
0.084
—0.4954
—0.00004
—0.000085
—9.007

PNONRONSL JZIOFOTNM<AMC<LXITrVOON—BS=E
—
=
N

JIOr~TMOPLZAIMWUZ<~O0>

—2.47
76.084
5.9002
—4.1
98.500

Im<-xITm

1.00
75.18
—60.000
10.00
10.0
They have two left
feet
Page 71
0.333
0.571
0.583
0.688
0.375

©
o
o
mTmEmMrTMEAmsH0>» <

0.667

0.8

0.680

0.75
Have you ever heard
of a home where the
birthday cakes roam

Page 72

You might wish to
point out to students
the pattern in prob-
lems 8, 9, and 10. For
a special challenge,
ask students to find
the decimal equivalent
of 1/81. (Answer:

:l:grn:nm—c-<>m'ncos—lox<
o
©
»
~

0.012345679)
1. 03

2. 05

3. 0.83

4. 0486

5. 0.416

6. 0.428571
7. 048

8. 0.09

9. 0.18

10. 0.27

11. 0.385
12. 0.076923
13. 0.136
14. 0.8

People who make
pillows really have
to know their stuff

Page 73
1. 0.662/3
2. 012172
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3. 0.581/3
4. 0.68 3/4
5. 0.888/9
6. 0.062/3
7. 1.331/73
8. 0.905/8
9. 1.06 1/4
10. 0.87 12
11. 0.25 25/27
12. 2.37 172
13. 0.37 12
14. 537 1/2
15. 6.66 2/3
16. 7.66 2/3
17. 0.16 2/3
18. 3.62 1/2
19. 0.62 1/2
20. 0.831/3

Don't let good food go
to waist (go to waste)
Page 74

Half heartedly

Absent mindedly
Woefully

Off handedly

A 1411
T 23

W 4/9

Y 4733

B 23/33
L 11/9

R 10/11
E 136/99
S 2/11

I 51/333
M 1/6

U 2/15

0O 718

N 2/55

D 8/33

H 80/333
F 11/45
P

Page 76

1. E 7. M
2. S 8. A
3. H 9. N
4. O 10. |
5. K 1. L
6. T 12. W

A lion that makes its
own wine

Page 77

The price of beef is
getting so high these
days that many hot
dog makers are find-
ing it very hard to
make both ends meat
(both ends meet)

Page 78

Before doing this
puzzle, students

may need practice
changing answers like
15.75 X 1079 back to
scientific notation.
Also, you might wish
to discuss with stu-
dents the implications
of the last two exer-
cises (e.g. food
supply).

1. 8x 108

2. 9x108

3. 63x103

4. 42x1078
5. 4x1078

6. 7.2x10°

7. 4.05 x 104
8. 456 x 1077
9. 1.575x 1078
0. 1.7 x 10729
1.

1
11. 8.1 x 1018 km

GRS

boxes at the bottom of the page.

0.000000000007
0.0000000007

TO ANSWER THIS IMPORTANT QUESTI!
X| 8 any number in the left column in Si

cross a number and a letter, The number teils you wi

WHY COULDN'T ORGO KEEP H!S WATERBED A SECRET?
C.

DmenDmenid

CIENTIFIC NOTATION. Find your answar in

the right column and draw a straight line eonnecnnqht‘hf: gn n‘u:'v‘v.h:.nm ; ":l.ne wm|
pul in the row of

BHEREHHERERERR

HEHE
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12. 25 x 105¢

13. 2.475 X 1014 g
There’s no police like
Holmes (no place like
home)

Page 79
The two guys who
robbed a music store

and got away with the
lute (the loot)

SrxX«~"ITomMmmoom>

WeNoOhwN T2

1010

18. 100
U.R.A. U. M. B. N.
(You are a human
being)

Page 81

The last number is the
first 20 decimals of pi.
Rationat MAIDMA
RIONM

Irrational ARRIED
AHOOD

Maid Marion married a
hood (Robin Hood)
Page 82

NoosrwN
—S-HXmMOOo
—

220
>PO0ZWZrr-o

14.

Making a long
distance caw (call)

Page 83

S 13 W 314

N 81 T 1/6

Y 35 L 83

K 32 U 2/9

F 37 H 6013
E 41 D 477

I 2/5 A 721127
R 9/8 0O 59/77
G 54 C 19/26

Crocodiles are always
looking for a handout

Page 84

1. 9 11. 2

2. 15 12. 3

3. 8 13. 11/2
4, 35 14, 31/3
5. 33 15. 2 3/4
6. 24 16. 3 3/5
7. 14 17. 11/5
8. 50 18. 21/3
9. 60 19. 9/11

10. 21 20. 7/8
Ruth rode on my
motorbike

On the seat in back

of me

| took a bump at fifty
five

And rode on ruthlessly

Page 85

A 24 N 350

R 12 A 6

B 10 K 131/3
o7 H 111/5
E 133/4 T 800

1 212 T 182733
A 717 € 30

E 425 V 12/3
Ueis M 112
A 457 T 13/5

Take a thumber
vacation (summer
vacation)

Page 86
1. 225
210

Page 87

(Since you are) Such
a fantastic math
student you will love
working with percents
H 35% N 83%
R 40% | 74%

150% C
375% E
4% P
97.5% A
1% U
12% W
2/3%
19%
65%
Page 88
A nervous wreck

The king obese (of
beasts)

Long distance

1/5 U 3/2
1/2 W 5/4
320 D 173
67/100 N 1/200
9/25 V 5/2
34 L 1/25
310 R 2733
2/5s B 1/300
1100 E 1/50
age 89
co
M
PAS
SE
SA
REA

200%
300%
1.1%
0.11%
1%
50%
T 5%
S 500%

S2XRXO<roo<m-n

CENOOPRLON=L PRATONVIP>OO

14. COMPLET
15. EDI

16. RECT

17. ION

18. S

Compasses are
always sold with
complete directions

Page 90

Clock for telling what
time it was

E 70 1 7

N 26 S 15
0O 45 F 425
A 7 M 25
G 84 c 723
R 40 w 167
H 2 L 230
K 15 T 1505
Page 91

You might suggest
that students use 1%,
10%, 50%, 100%,
150%, and 200% as
benchmarks to aid in
estimating. The
authors have found
that this puzzle makes
a good activity for the
overhead projector.



CENDO AL

10.
1.

She thought it was
devine (the vine)

Page 92

Gets the picture
Can save your hide
Will go out on a limb

71% 77%
38% 17%
22% 144%
83% 173%
67% 233%
42% 248%
6% 8%
53% 9%
88% 7%
24% 3%
age 93
91.7 8.
594 9. 269.3
40.7 10. 385.9
6.3 11. 0.8
87.0 12. 0.6
1.2 13. 0.1
133.3

Jumping to a
conclusion
Page 94
5

omeom—Aco—-mzIT
—h
<UsSZIO—-H>»I

s<nz=czo
“r4o9Imou»o

114.0

NoosrON= DO<D

23
12

An oven is where a
loaf is bred (bread)

N

F'
TMOP>MOUPPrMOIM

© [+}]
EDI_<JJ§T|ZITI_Z_>

Page 95
1. 1449
2. 7.99
3. 63.75
4, 19.848
5. 1.66
6. 2.052
7. 0.316
8. 0.6955
9. 0.21875
10. 5.4027
11. 33.75
12, 0.76
13. 7.404
14. 0.0154

15. 129.995
Smokey the Bear has
a furry godmother
(fairy godmother)
Page 96

26.25
8750
2550
61,500
2261

O>»>xm>I

TO ANSWER THIS QUESTION:
Oraw & straight tine con
nu

battom of the
88% of 15

4% of 5.98
9‘5% of02
100% of 35
150% of 35
105% of 3.7
0.4% of 800
37.5%of 8

B73% of 300

180% of 9000
200% of 49.5
168% of 3
0.12% of 500
1000% of 9.95

R
130% of 0.5
1
2l% ot 25
1o ot25
%ot

0.01% of 625

Why Do Lovers Go To Horror Movies?

necting each exsrcive with its correct answer. Each line wilt
8 [etter. The number teils you where ta put the lotter in tha row c‘vf mum‘

0.2392
as

3.885

2625
5.04
0.625
13.2
0.019

0.6
995
0.65
16,200
525

0.00625
0.0625
3.2

99
0.00675

N ERARYERRERERNRRNER
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$53.91
$61.95
$52
$50.97
$56.07
$65.36

$92.40 $54.34

$89.20 $53.52
Two’s company and
three’s a cloud (a
crowd)

$35.10

WZ<IsCmoO
L i
04}
NP o
o
O-4uvTITOoOr»=

Page 98

E 60 H 4.50
A 3675 G 54
R 8775 C 19.50
T 140 N 2535
L 200 S 21

| 135 B 27.30
0O 225

Cannonballs are big
shots

Page 99

Students might be
interested to know
that in the election dis-
cussed in problem 2,
the candidate with the
most popular votes
(Cleveland) lost the
election.

0.675
88,000
0.0825
0.0025
65

nw=—mow

Q 6.416
W 46.8

Q’s are weird O’s
Page 100

View from an airplane
of a used bathtub lot

O 50 P 80

E 25 S 3318
N 60 L 44

M 10 V 5§

I 3 A 175

U 200 T 662/3
D 300 H 12

F 400 R 20

W 150 B 6

Page 101

The five states
referred to in problem
13 are: Alaska, North
Dakota, Nevada,

Wyoming, and Hawaii.

1. 811/4
2. 4123
3. 13712
4. 22/9

5. 217/8
6. 831/3

7. 300

8. 166 2/3
9. 8020/21
10. 86 2/3%
11. 77 1/3%
12. 133 1/3%
13. 90%

14. 66 2/3%
15. 4 1/2%

16. 30 1/2%
Bakers knead dough
Page 102

The bank robber who
stepped on a scale
and got a weigh
20%

12 1/2%

60%

13 1/3%

25%

22 2/9%

50%

33 1/3%
150%

41 2/3%

6 1/4%

225%

Page 103
Sluggish

Knot bad

Fare, just fare
Really a drag

FRCTIOTMMOUOW>

(2]

o
OPpOZMI

N

(&}

The Wrong Brothers

He came in sickened
(second)
300
800
2275
40

134
3080
50,000
15

6

120
30,000
25
3500
2000
400
350

Page 105

Two elephants not on
speaking terms

IMOZWOXRNSE—OITA>

O 1196 M 24
R 30 W 6.9
L 72 N 85
S 204 K 12

1 75 E 115
H 50 P 89
A 119 T 99
G 4

PRE-ALGEBRA WITH PIZZAZZ!
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Page 106

K 19 C 44

Y 45 L 71/2
O 200 V 90

A 448 H 088
X 162/3T 175

| 52 W 300

S 144 E 225
D 5313 P 121/2
R 450 N 1.75

Hotel workers are very
inn-experienced
Page 107

20.9 kilograms
2%

$7500

200 meters
35.03 kilometers
per second

65%

1536

$250,000

23 1/3%

A four loaf cleaver
(four leaf clover)

CeNO RN

Page 108

1. N 7. X
2. U 8. S
3. A 9. V
4, W 10. E
5. H 1. R
6. O

He was a nervous
Rex (nervous wreck)

Page 109

1. 12 9. 1/3
2. 1/2 10. 1/4
3. 50 1. 1/5
4. 1/6 12. 1/5
5. 1/6 13. 1/5
6. 1/6 14. 2/5
7. 15 15. 2/5
8. 512 16. 30
Be a little boulder
Page 110

E 1/3 H 3/10
T 1/4 L 710
I 512 A 2/5
E 112 Y 1/5
L 712 S 1/10
E 3/4 H 9/10
s 12 F 35
R 1/6 H 4/5

They are shellfish
(selfish)

Page 111

E 310 T 1/4

N 12 A 34

A 110 N 1112
I 710 U 11712
A 512 A 6/13
N 173 S 5/13
D 1/6 B 113
N 712 L 1013

An unlisted banana

251



Pages 112-113

Unlike most puzzles,
this mini-program
provides instruction
as well as practice.
For maximum benefit,
students will need

to read and study it
several times.

1. 9,

—h
N
csomzr-<

PNOORWN
cr»om—mm—
—
F -9

Wire you insulate
(Why are you in so
late?)

Page 114

in the preceding puz-
zle, several different
outcomes are labeled
as the same event
(e.g. six ways to get
7 with two dice). In
this puzzle, each out-
come is considered a
unique event (e.g. in
tossing a coin twice,
HT and TH are treated
as different events).

1/8

1/8

1/8

116

1/16

1/2

1/2

3/5

9/25
. 6/25
. 4/25
. 6/25
. 1/4
. 1/8
15. 1/16
They are tearable
Page 115
24
120
5040
144
240
6
11
9
| am the wonderful
wizard of odds (Oz)
Page 116
24
720
12
40
362,880
20

CONSO LN

—t ok b b b
HWON—=O
UsSNoOTHEC
—
[6)}

rrTon—zZ>»m

<TOoOOW»

L 20

P 15,600
R 15,120
C 9240

E 9000

lcicles are eavesdrop-
pers

Page 117

For a special chal-
lenge, have students
find the number of
different 5-card poker
hands that can be
dealt from a 52-card
deck (Answer:

2,598,960).

R 10 G 5
o 6 | 56
E 15 P 36
T 21 F 35
L 1 c 70
D 84 H 126
N 20 A 45
S 28

Coin flippers can get a
head

Page 118

You may prefer to use

these questions one

at a time.

1. 4

2. Tom, manager;
Dick, teller; Harry,
cashier

3. Start with the two
boys crossing,
one staying on
the other side, the
other returning,
and continue from

there.

4. Fido
5. s e e
e oo
e oo

6. _One solution:

7. 9 seconds
8. 1
9. Clockwise, 60 rpm

Page 119

angle
degree
vertex

90 degrees
right
interior

nwcozZz"»r
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obtuse
complementary
adjacent
supplementary
acute

angle EOD
angle BOC
congruent
vertical

sides

It's off and running
Page 120

A vicious circle
Half a centipede

INMZTMoZ-HA0Z

S 76° D 43°
R 104° P 74°
A 112° H 65°
N 119° VvV e62°
O 5% E 35°
T 127° F 60°
L 54° I 120°
U 45° C 40°
Page 121
Thunderwear

Too far to see
A dead giveaway

R 48 H 80°
U 132° N 35
V 50° W 66°
A 36° F 105°
Y 31° o 130°
I 33° G 55°
T 40° E 90°
S 30° D 95°
Page 122

In addition to provid-
ing practice with a
protractor, this puzzle
might be used in dis-
cussing the angle
measures of a poly-
gon. For example, the
quadrilateral, penta-
gon, and hexagon
could be divided into
triangles to show that
the sum of angle
measures must be
360°, 540°, and 720°
respectively.

A 63 O 13¢°
R 32° R 100°
E 85 C 104°
I 17°  F 118°
A 24° S 096°
S 139° C 150°
M 29° K 93
D 164> P 115°
N 772 H 159°
A 90° R 107
G 82

From chasing parked
cars

Page 123

1. N 8. W
2. C 9. R
3. E 10. H
4, G 1. U
5. A 12. L
6. | 13. S
7. K 14. P

He was pressing his
luck

Page 124

The third figure in this
puzzle can be used to
prove that the angle
measures of a triangle
add to 180°. The fourth
figure can be used to
show the relationships
among the angles of a
parallelogram.

1356° 12. 110°
135° 13. 40°
45° 14, 140°
45°  15. 55°
45° 16. 55°
45° 17. 85°
110° 18. 115°°
110° 19, 65°
. 110°  20. 65°
10. 70° 21, 115°
1. 70°

It operates on
batteries

Page 125

CONOOR®N

m-m>»—400cCcwn-
—QoxXIQorHZ T~
Zs O O

oCcHw OO0

T

It is much too cold to
wash them out Tide
(outside)

Page 126

1. polygon
2. quadrilateral
3. pentagon

4, angles

5. octagon

6. decagon

7. scalene

8. isosceles

9. equilateral
10. right

11, parallelogram
12. rectangle

13. trapezoid

14. rhombus

15. square

Clothes dryers end
hang ups

Page 127

circle

center
radius

chord
diameter
half

central angle
arc

110°

250°

150°

210°

30°

330°

minor arc
major arc
Disguise the limit
Page 128

1. 35° 13. 90°
2. 145° 14. 270°
3. 80° 15, 90°
4. 80° 16. 180°
5. 35 17. 100°
6.

7

8

9

OO rTo—m-HA—cmn—-

325° 18. 80°
145° 19. 80°
215° 20. 100°
260°
280°

. 90° 21.
10. 23° 22,
11. 67° 23, 260°
12, 293° 24, 180°
You are closer to the
ceiling
Page 129
It was pigeon towed
Page 130
Two feet of his legs
stuck out

Page 131

Store detectives are
counter spies

Page 132

1. H 5. T
2. O 6. N
3. | 7. E
4, R 8. S
To see the son rise
Page 133

You might suggest that
students draw two
small triangles for each
exercise and label the
sides given and the
side to be found.

Make him wear shoes
By the M on his paja-
mas

I N R 9173
T 20 P 535
E 9 S 3.91
N 35 W 1.92
Y 6 H 4.39
K 389 J 283
O 814 A 10¢
B 225 M 125



Page 134

Box containing thirty-
five spare parts for a

porcupine

0o 1.9 U 130
E 86 F 200
Y 147 T 8

A 19 H 0.8
G 81 X 9.2
I 192 N 7.0
B 15 cC 70
S 1.0 R 167
vV 130 P 173
Page 135

The horse who
wanted to be a big
movie star but ended
up doing bit parts

Page 138
19.7m
26.8m

18.6 m

474 m

377 m

26.74 m
346m
27.6m
39.2m

68.02 m
135.97 m
10.3 m
16.7m

50.8 m

50.3 m

The Grand Canyon
is just gorges (just
gorgeous)

Page 139

12
4.3
27.3

OIDZ<L<TOVOUMCO"->

CENOORLD -
—
o
w

. 275

10. 51/5

11. 49

12. 17 5/6

The car spangled
spanner (Star
Spangled Banner)
Page 140

1. 936 6. 306
2. 1264 7. 4.61
3. 349 8. 286
4. 74 9. 3.29
5. 40

Magic is tricky
business

Page 141

Why Did The Chicken Hit Her Egg
With An Ax?

AR

# (use » & 3.14). Draw a straight line connecting sach axercise with its carract answer.
% Each line will cross a number and a lelter. The number teils you where to put the letter in

= Find the CIRCUMFERENCE of sach circle with diameter (d) or radius (r) as indicated
& the row cf boxes at the bottom of the page.

TGV
d=1cm 21.98 cm
r=1cm 3t4cm
d=7cm 3.925m
r=9cm 2198 m
d=10cm 2.355 cm
r=50cm 314cm
d=23cm 3.14m
r=41cm 3.14cm
d=075¢cm 59.66 m
r=95m 31,400 m
d=008m 6.28 cm
r=15000m 69.708 m
d=222m 219.8m
r=0625m 56.52 cm
d=70m 7.222 cm
r=350m 21,980 m
d = 7000 m 25.748 cm
r=05m 0.2512m

IT 2]3 4We| 7 Iil Totjnlm 14|1?[1s 11B]
SIHIEW/AIN/TIEID|T[O|H[A[T|CIHII T
PR i Pubion. 141

Page 136
1. 0.575
2, 5750
3. 470
4, 93,300
5. 80
6. 3991
7. 690
8. 08
9. 0.02005
10. 6.9
1. 47
12. 7.02
13. 0.00933
14. 200,500
15. 20
16. 436,660
17. 0.05
18. 2000
Parking tickets are
fine things
Page 137
TO ANSWER THIS QUESTION:
85¢cm = m
0.85km=___m
85cm=___mm
85000dm=___m
0.85 dam = m
850 km = dam
4900m =____hm
43 mm =___dam
49hm=____km
49 dam = cm
49,000dm = _____km
49m=___dm
277hm=___m
2770 mm=____dm
277Tm = dam
0.0277 km = cm
27.7dam=___hm
0.277cm=____dm

* x % » *What is White And Goes Ub? * kK

Fill in tha blank in any exercise balow. Draw a straight line connecting each exercise with
its corract answer. Each line will cross a number and a lettar. The number tells you
whera to put the letter in the row of baxas at the battom of the page.

EEEEE R L EEEEEEEEEE R EEEEE R EEEES]

8500
4.9
2770
8.5
0.0277
49
27.7
0.85
0.49
0.277
850
85,000
2.77
490

85
0.0049
49,000
277

lalelolnels|slelo /sl iow

SRARE
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Page 142
28.26 m
7714 m
474 m
14.28 m
80.8 m
26.534 m
75.36 m
31.85m
. 30.84
Whackakey
(Waikiki)
Page 143

3
uncertain

ooNepapLN

ncertain

ncertain

ncertain

ncertain

ZOO0ory—H-HZm-AmMmeOr»-—-<OmMO—"ImMZP»InN<<rm
PCUOWRSNON—WAC WO GTANS OW=2BN

They don’t leave rings
on the table

Page 144
G H U
P Q DD
L K KK
J W

BB AA

C D DD

EE E F

I JJ

AA A B

Y X KK

537048 | (Upside
down it reads, 18
holes.)

Page 145

A challenging assign-
ment or class activity
using this puzzle is to
have students make
up an otiginal problem
for which each com-
putation provides the
solution. In addition,
you might discuss with
students why each
solution has the unit
of measure that it has.

1. 2.16cm
2. 6.9m?
3. 8.06

4. 0.439 m/sec

5. 62.7778 cm
6. 131.0 mm?

7. 20.038 km

8. 15.91 km/hr
9. 0.0610

10. 390.0 cm?2

11. 1.618 mm

12. 180.00 km
13. 0.0140 km/sec
14. 2.0

He was making a
tossed salad

251/

Sleep is the rest of
your life

Page 147

28 cm?2

35 cm?

24 cm?

30 cm?2
27.04 cm?
66.7 cm2
38.71 cm?
49.95 cm?

. 39.48 cm?
10. 46.02 cm?
11. 82.31 cm?
12. 47.35 cm?
A drill pickle (dill
pickle)

Page 148

CENOORONS

e B

CENPORWN

10.
1.
12. S

His mother said a
cross word

TOZIOMO>S

1.125

4.86 0.875
0.1

A bicycle shop has

things to pedal

Page 150

C and Y (Candy)

1. 229m, 19.14 mf

2. 16.2m, 8.25 m?

3. 5.8m, 1.445 m?

Z- moOPrp<0-
N
o
TIrOoOw®wo
)
i
«
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26.3 m, 16.65 m2
2.66 m, 0.3318 m?
26.43 m, 27.99 m?
16.7 m, 7.755 m?
69 m, 67.5 m2

. 21.75m, 21.45 m?
10. 5m, 0.7125 m?
11. 44.05 m, 41 m2

Page 151
The landlord who

©ENO A

asked a knight to col-

lect money from his
tenants so he could
see a sir come for
rents (circumference)

Page 152

For question 2.C, you
might also have stu-
dents compute the
distance from Ato B
around the circle. The
answer is the same.

1. A 254.34m?2
69.66 m2
56.52 m
7.065 m2
3.5325 m2

oo

A V 8 R (aviator)
Page 153
75
630
480
720
2640
2700
336
300
72 340
Buying two and a half
pairs of shoes

Page 154

360.8 cm3
268.45 cm?
1071 cm3
1.5 cm3
244.4 cm3
826.4 cm3
5832 mm3
3933 m3

. 420m3
10. 1.4 m3
11. 3360 kg

With a sixth sense
stamp (six-cent
stamp)

scomomzZzor
N W
~N o
WOUP>-HAT<W—T

OCPNOORLN S

Page 155
1. 364.5cm3

2. 199.2 cm?3

3. 102.93cm3
4, 2080 m3

5. 97.92 cm3

6. 590m3

7. 367.95cm3
8. 13,860 mm?3
9. 110.7 m3

Abominable (A bomb
in a bull)

Page 156

The first four exer-
cises can be used to
show the relationship
between the volume
of a prism and the vol-
ume of a pyramid.
144 cm3

48 cm3

30.6 cm3

10.2 cm3

720 cm?

30 cm3

0.18 cm3

. 170 cm3

A vise guy (wise guy)
Page 157
R 7. N

PNOOABON S

B
E 9. M
K
C

IRl ol
w
—h
=)

F 120

Chickens come from
broken homes

Page 158

A stuck up kid
Loch jaw (lock jaw)
Snappy answers

A raven maniac
(raving maniac)

R 6 vV 10
O 8 K 30
E -6 L 40
T -8 M -90
c 12 J —-120
1 -7 P 2

Y 7 u 23
H 9 N 15
w 3 A 80
D 5 S 225
Page 159

The students take
only makeup exams
Page 160

She wanted to be on
the safe side

Page 161

1. 8 5 A
2. U 6. E
3. | 7. C
4. H 8. Y

PRE-ALGEBRA WITH PIZZAZZ!
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9. R 12. N
10. K 18. T
11. P

They can’t keep their
trunks up

Page 162

A VI00 G 477
O 170 U +233
S 205 H <61
N 200 L 136
E 289 F <65
T V3058 R <277
I 225 D +625
M 169

The farmer had no
regard for the feeling
of udders (of others)

Page 163

CEeNOARWN =

10.
1.
Dogs often have a ruff
life (rough life)
Page 164
1. A +130cm

B 146 cm

C +80cm
289

MCITOWM>»OMO<O
—
\‘
mm» - ITZrr nmmn-

S OONOORWON
=)

@

w

® SEEEESaES°

o N o <IN ol w|hl oo
o0l |G| 5 Wl ©

o N3 ol R34

83w 050 33

s § 373

)
w
[+
Y
2]
(3]

ShgEae

CAXTrm—IOwW V> © W N¢
S
N

seesasYs
ODIB><Z-HZS

3l

SEwnw-—Homu—cCc

Pythagoras was a
famous Greek who
knew all the right
angles

Page 166

1. A V136
95

4, A V144m=12m 2. A 38
B 204 m2 B 80.5
5. 260 feet 3. A 137,900 km
6. 821 yards B 44,278.6 km
7. V3.24km C 56.3 km/sec
ICURABUTLN D 19.7 km/sec
(I see you are a 4. 4.0
beauty, Ellen) 5. g ?gfg\
8cm

/':age 167 C 13.8kg

s a follow-up, you D 843k
might ask students to ~ 9
express some or all of  TANGO (tan go)
their answers as deci- Page 172

mals. Also, have stu-
dents confirm that
each triangle has the
Pythagorean property.

m—om>»o>»0m->»
[ G s
O oo~
MDIDIXZOAOS>

It wanted to be a safe
cracker

Page 168

L 0574 T 0.174
T 0176 Y 60°
E 0423 O 0.466
A 0342 T 55°
| 0.996 H 8.66
T 1192 L 5°
A 0643 R 3.732
H 75° S 40°
T 0819 H 0.259
E 45° P 65°

That really hit the spot
Page 169
The farmer who gave
his rooster the name
Robinson because he
crew so
(Robinson Crusoe)
Page 170
Jim Panzee
Hugo Furst
Annette Andajar
37° G
23° R
55° H
29° F
21° 2
J
N
A

36°
34°
60°
15°
77°
56°
45°

53°
62°
72°
66° or 67°
age 171
A 1427
B 153.3
C 139.0

= U7

Exercise 2 illustrates
how an extreme value
can influence the
mean more strongly
than the median. The
last exercise illus-
trates that a mode
need not be near the
mean or median.

1. 45

2.7

15.5

5.6

$5.10
$100,000
$20,000

89

1.66 m

7

8.7 cm
9.4cm
2.4cm
They melted

Page 173

Scaling the vertical
axis for the second
set of data is left as a
problem for the stu-
dent. You might have
students construct a
frequency polygon as
well as a histogram
for each set of data.

OW>OW>»wW>MOOT>

P 2 1 5

A 3 Y 75
17 E 175
E 13 A 325
T 10 H 25
A 5 vV 125
Total: 40

L 6 H 20
T 16 S 13
Y 14 H 85
cC 18 F 45
Total: 200

They have a physical
fit

Page 174

1. N 7. E

2. G 8. H

3. A 9. M
4. V 10. |

5. L 11. B

6. S



A small bee in a big
hive

Page 175

1. O 7. A
2. | 8. R
3. C 9. K
4. E 10. T
5. H 11. S
6. U

Three seasick tourists
Page 176

25% D $125 A 90°
21% O $105 E 76°

14% T $70 | 50°
C 40% E $200 S 144°
15%A 60z W 54°

26%0 1040z H 94°
32%T 1280z K 115°
10%W 40z H 36°
B17% T 680z L 61°
N 100% S 360°

He wanted to blow his
stack

Page 177

1. 108° 9. 65°
2. 76° 10. 40°
3. 83° 11. 90°
4, 61° 12. 72°
5. 32° 13. 36°
6. 86° 14. 119°
7. 148° 15. 18°
8. 22° 16. 25°

They were dropping
like flies

Page 178

This puzzle may be
used to illustrate that,
when computing the
central angle, it is
sometimes easier to
use the fraction and
other times easier to
use the percent of the
total.

T 38 O 371/2% D 135°
Wi112 N 81/8% | 30°
014 T 25% U 90°
N18 S 121/2% 0 45°
E16 T 162/3% 1 60°
L 8250 32% N 115°
T13 W3313%T 120°
0211100 K 21% F 76°
E 325 C 12% H 4%
S160 D 12/3% C 6°

It doesn’t know how to
conduct itself

Page 179

You may prefer to use
these questions one
at a time.

1. 27

2. Mr. Black —
brown
Mr. Brown —
green
Mr. Green —
black

3. 18

4, $90

5. Each figureis a
numeral, 1-4,
plus its mirror
image. The next
figure would be:
3]

6. $1.19

7. 3red—8
2red — 12
1red—6
Ored —1

8. When they pass,
they are the same
distance from
New York.

Page 180
It was a tight squeeze
A case of blackmail

Apricots

P 72 C 24
L 16 Q 38
G 14 K 35
U 45 E 6
W 20 M 84
I 99 R 27
H 15 B 41
O 13 T 7
Z 5 S 25
F 42 A 18
Page 181

s 17 I 8
F 5 E 16
E 28 H 1

1 15 T 20
O 23 X 9
T 29 L 3
A 13 P 24
Y 1 B 12
1 19 N 22
A 26 T 6
s 7 E 4
H 21 c 27
E 2 B 14
0o 32 O 30
T 10 L 25
w 18 G 31

He left sixty babies
with no place to go

Page 182

1. E 62
2. A 23
3. E 49
4, S 51

5. E 83
6. A 34
7. E 44
8. B 65
9. U 188
10. E 66
M. H 72
12. E 48
13. C 108
14. F 142
15. H 63
16. S 441

17. C 93

18. L 101

Because he has
fleece (fleas)

Page 183

M 19 S 12
G -1 X -18
P 15 F -65
A 10 H 25
C 36 E -31
N -79 B 32
T 55 1 17
U -4 R 44

Running a rabbit farm
is a hare raising expe-
rience (hair-raising

experience)
Page 184
1. 5x

2. 2y

3. —6x

4, 8y

5. —10x

6. —4y

7. —9x+7
8. —-y-3
9. x+5
10. 6y — 6
1. -8x—- 13
12, 2y + 6

13. 5x— 13y -5
14, -7x—9y—5
15. 7x+ 5y + 5

16. 4x -2y — 4

17. —5x+y

18. ~x+2y+5

19. 5x—- 2y + 4

20. 12x+ 6y — 12
21, ~x—-8y+5

22, —2x + 5y
23. x+6y—-7
24, -3x—-y

X L R 8 (accelerate)
Page 185

1. E 11. H
2. H 12. S
3. E 13. A
4. S 14. N
5. S 15. |
6. U 16. R
7. L 17. E
8. A 18. R
9. L 19. G
10. | 20. A

He uses all his rain
gear (reindeer)

Page 186

1. 43 10. 5
2. -6 1. -9
3. -14 12, 30
4, 16 13. 18
5. 23 14. 44
6. —20 15. -12
7. —-51 16. 22
8. 34 17. 11
9. 17

They ended up in a tie

Page 190
What Happened To The Owl Who Swallowed
A Watch?
TO ANSWER THIS QUESTION:
Simplity aach expression balow Draw a staight line connecting
each expression with its simplified form Each hne will cross a
number and a letter The number tells you where to put the
fetter in the row ol boxes at the bottom of the page
FENFENEEEFEEFEEE
“Sx - (T +2) 6+ 3
4-(9x-3) “x-5
B - ("2x + 4) & -2
“(5+6x) + 8 6x -3
=4("9 + x) + 5x “ix -2
6x - (3 ~7)~1 8x+6
"9+ (2-x)+8x 4x -1
(x ~6) - ("9 - 1) "o -7
“(5x +8)+3 r dx x + 36
-6 -2) ~x ™-7
9+x+3(8 5 ax -1
~(6x - 6) + (4x ~ B) -6x- 4
(3% +1) = ("% -7) - 9 16x - 33
“5e(4-22) -8B +5 ~10x + 4
(8K - 4)+x -7 - 3x -8

(4 ~ &x) - (“4x + 5} - 6x
M+I+2x-7(3+x)
“1-{™+2)-7x+8
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Page 187

T 18 H 19
A 23 E 8
E 2 T 6
H 7 N 27
D 25 F 1
| 14 B 21
u 11 R 12
F 5 E 16
G 28 M 9
D 17 N 24
E 20 R 22
vV 15 W 3
| 26 vV 13
0o 4 S 10

Few of them survived
the branding

Page 188

The rookie football
player who kept ask-
ing his coach to flood
the football field with
water so he could go
in as a sub

Page 189

Meat loafer

Play buoy

Stalk broker

T 6 P 48
Uu -28 K -61
Y 41 B -20
R -79 M -49
F -12 A 12
S 10 O -114
E 121 L 14

191

PENOORONAY
CRXOMP><mM—ro
-
F )
“0OZT0Uc-zIT

He just couldn’t tack it
anymore (take it)

Page 192

T 1 W 9
E 15 D 18
S 25 H 12
O 8 E 28
A 20 N 10
N 17 T 5
E 2 R 21
Uu 4 E 14
O 26 N 27
S 6 D 7
A 16 I 23
R 22 P 3
E 24 R 13
H 1 cC 19

He puts down three
and carries one
Page 193

If a lady trips and falls
the reason her brother
cannot help her is that
he cannot be a
brother and assist her
too (and a sister too)
Page 194

A lickety split

A walkie talkie
Organized grime
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c 97 M 160
N -10 G 21
E -29 P -39
D 18 O 16
S -9 R -19
A -69 W -66
Y 10 K -20
Z -18 I 133
T 158 L -—13
Page 195

s -1 E -1
o 9 T 18

1 18 N 3

cC 2 A -5
T 9 L -5
E -4 c -1
o -1 w 3

o 3 M -4
A 2 B 2

L 5 M -1
K 2

It all comes back to
me now

Page 196

Students may find it
helpful and interesting
to discuss an example
of each formula before
they begin work on
this puzzle. You may
wish to discuss the
units of measurement
used in each formula.

1. 320 H
2. 220 E
3. 60 0o
4, 210 Y
5. 20 N
6. 31 F
7. 9 \
8. 170 L
9. 32 R
10. 15 C
11. 144 D
12. 6400 A
13. 024 G
14. 1636 P
15. 75 C

M

16. 240

| really gave him a
piece of my mind
Page 197

You may want to have
students show on a
separate paper how
they arrived at each
answer.
YesWHISTL
ERSMOTHE
No: RWASFR
AMED

Whistler’s mother was
framed

Page 198

You may want to have
students show on a
separate paper a
proof that each of their
answers is a solution.

1. 2 12. 4
2. -2 13. 7
3. 7 14. 9
4, 4 16. -2
5. -1 16. 8
6. -2 17. -3
7. -10 18. -7
8. -5 19. -8
9. 4 20. -4

10. -3  21. 3
1. -2 22, 6
You peso much and
you own it (pay so
much)

Page 199

H -14 P -21
1 12 s 27
O 24 Y 64
Uu 13 € -84
E -11 W -24
R -35 N 43
L -25 M -17
A 34 T 42

The yam is a sweet
potato while the
announcer is a
common tater (a
commentator)

Page 200

There are a lot of peo-
ple in the world who
are still trying to
decide whether or not
splitting the atom was
a wise crack

Page 201

Firepole used for false
alarms

o 4 M -1

A 7 U 9

D 14 P 5

1 -6 R -21

S -8 L -1
-3 F 2

Two white rabbits in a
snhowstorm

I 1" H 12
M 2 R 25
A -15 W -17
O -13 B -4
E -7 T -30
N 24 S 6
Page 202

1. 14 9. 42
2. —-12 10. -72
3. 28 11. 60
4. —40 12. 200
5. —24 13. —-198
6. 45 14. -50
7. -39 15. 180
8. 56 16. 54
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17. -55 20. 38
18. 144  21. 96
19. -9

Rhyme doesn’t pay
(Crime doesn’t pay)
Page 203

Look at that can of

people

He was jumping for
Joy

I -8 S 5

E 9 L -56
K -3 G 28
F 31 H 7

W -6 C -96
R 100 A -35
T -12 P 39
U -24 0 36
N 130 J 25
Y -69

Page 204

The curious young
science student who
sat up all night trying
to figure out where the
sun goes until it finally
dawned on him

Page 205

Old mailmen never die,
they just lose their zip
Old chemists never
die, they just fail to
react

Old burglars never
die, they just steal

OrerpONITMTTITBZEOCME-1<0
w
s

Page 206

Some farmers are sell-
ing something they call
pirate corn because it
costs a buck an ear

(a buccaneer)

Page 207

You may wish to inte-
grate the puzzles on
problem solving
(pages 213-220) with
this puzzle and with
the following puzzles
on equations.

Each has a point
The Nobelly Prize
His boss chewed him

out

S 5§ D -1
M -2 Y 9
T -7 P -8
u 12 Cc 18
N -4 F -3
A 10 o 7
W 6 B 14
1 3 E -5
K -15 H 4
L -6 R -1
Z 8

Page 208

A dumb criminal
In favor of the metric

2
@
28
o
3

C 44

IcZ>»>om<0D
ON | | I hWaw
“Nyoowo O9&N
N O
ST oO<o-Tr
©

23
24
N
(=3
©

CONOO RN~
I
&
\‘

O~"MIMOVB~P>PIZro
I
N

Page 210

Quarter that joined the
March of Dimes
I 4

-7

1

3

6

-2

-4

7
age 211

13/5
-21/2
—-2/3
11/4
—5/M12
13/14
10
-51/2
7172
10. -1
11. 7/15
12. -51/4
13. —45/8
14. 3/16
16. —-1/5
16. 7

He had trouble getting
a date

Page 212

You might suggest
that students use a
ruler to connect the
dots. Blanks are pro-
vided for the solutions,
to help students avoid
skipping a solution
when connecting the
dots.

-3
=1
-6
8

2
18
-5
-13

S-Ho1M$MOUCOIT

CENPONAONS TCZOBTOM

1. 3 10. —-14
2. 6 1. 1
3. 4 12, =7
4, -2 13. -3
5. -9 14, 18
6. 13 15. —21
7. 5 16. -7
8 -8 17.10
9. -2 18. 3
Page 213

Circular centipede
under a beach
umbrella

6



o 18 H 20
S 5 R 28
E 26 1

H 16 L 13
w 3 C 23
I 10 H 9

A 24 T 17
G 15 R 25
E 8 H 12

It was the highlight of
his career

Page 215

1 24 S 15
E 21 T 14
A -10 W 600
T -12 R 4200
Y 70 K 272
I -240 D 80
A 48 R 1800
T 453

It was a dirty trek
(dirty trick)

Page 216

1. 8 8. —32
2, -4 9. 6296
3. 1 10. 27
4, 5 11. 555
5. 54 12. 96
6. -3 13.78
7. 16 14. 119

They both have the
same middie name
Page 217

9, 36

11, 33

20, 27

14, 24

13, 18

8,17

10, 58

15, 27

. 7,26

10. 32

1. 12

It's twirly (too early)
Page 218

. 4,28

8, 21

30, 12

29, 38

5,44

93, 20

31m, 44 m
11, 59

. 24,6,15

10. 10, 20, 19

11. 4,36, 39

12. 30°, 70°, 80°
When he's hanging by
his teeth

Page 219

Eileen Dover
Rusty Hinges
Adaline Moore

L 3 I -7
v -2 Y 1

CENOORON S

CENDOB LN

G -4 A -—1
D 6 S 10
M 2 U -15
R -5 o 12

T -9 E 4
H 8 N -1
Page 220

The famous rodeo
rider who would do

anything for a buck
A 3 G 4,9
B 1 H 58
cC 5 I 19,10
D -2 J 1,3
E 7 K 82
F —4

Page 221

1. N 6. P
2, A 7. R
3. H 8 V
4. E 9. B
5. O 10. T

To prevent bat breath
(bad breath)

Page 222
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o
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18. J

He wondered why he
was feeling so jumpy

Page 223

b
—t
TOTPOPCCMIZTNSIXOMOOCOrZ

23. E
24, L
25. C

Chickens use fowl
language
Page 224

It was living on spins
and needles (pins and
needles)

Why Did They Try To Build A House On

M RO

,
Orgo’s Head?
OO ADCNOONOCT N DN NN

Solve any inequality below and draw a straighl

A SN AN RN AN,
ling connecting it 1a the nequality

that describes the soiution set The hne will cross a number and a letter The number

tells you where 10 put the ietter in the boxes at the bottom of the page Keep working

®63+1x<15
® & +25< "31
@10+ 2= "52
®15>6x -9

@ 48 <20 - 14x
® "60=9% +3
@ 18~ 10x < 22
@7<x-8

® x> -8<64
G 17>"7x~ 45
@ ax-42<0
@9 44 = ~8x -~ 44
@ ax+12>"24
@ "17s"6x + 25

and you will discover the answer to the title question

PRE-ALGEBRA WITH PIZZAZZ

224 o Crestive Publicasors

Page 225
The cross-eyed col-
lege professor who
seemed to have
absolutely no control
over his pupils
Page 226

. IF

oNompb
(o]
P4

13. DENT
(an accident)
Page 227

You may wish to have
students express
some of the unions in
the left column as
compound inequalities
using the word “or” (e.g.
{xIx>2o0rx<—1}).

1. D 8. V
2. O 9. E
3. W 10. T
4, | 1. L
5 G 12. N
6. A 13. S
7. P

Page 228

You may wish to have
students express some
of the intersections in
the left column as com-
pound inequalities
using the word “and”
(e.g9.{xl x>-2and
x < 3}) or, where
appropriate, in com-
pact form (e.g.

iy
(=]
DITMT oI

{
1
2
3.
4.
5
6
7

Where in earth have
you been?

Page 229

You may wish to have
students rewrite exer-
cises 2, 4, 6, and 14
in compact form (e.g.
{x1 -3 <x<2}).

1. G 8. M
2. N 9 |
3. H 10. E
4, T 11. B
5. U 12. S
6. O 13. A
7. L 14. P
Someone eating
alphabet soup
Page 230

| never knew we both
lived on the same
block

Page 231-232
Numbers are not
printed along the x-
axis and the y-axis, as
it is felt students may
benefit from doing this_
themselves. An over-
head transparency of
this page may prove
helpful in getting stu-
dents started.
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Page 233
Coordinate grids suit-
able for graphing
these functions are
provided on page 234.

1. 10 26 S
6 9 T
0 3 E
-2 21 D
-10 15 H
2. 3 32 L
0 12 E
-4 29 A
-6 28 N
-9 35 O
3. 6 1 T
3 24 L
0 13 E
-6 20 N
-9 16 O
4. -10 2 H
-6 7 N
0 25 E
4 4 Y
6 8 T
5. -9 27 O
-4 31 A
1 11 R
11 17 U
6. 8 23 |
-4 19 A
-7 5 W
-10 10 H
7. 3 3 L
0 6 E
-5 2 M
-6 36 N
8. 10 18 S
6 14 T
0 34 E
-8 30 G

They went three
thousand miles on a
galleon (on a gallon)
Page 235
Coordinate grids suit-
able for graphing
these functions are
provided on page 236.
1. 10
3
-2
-5
-6
-5
-2
3
10
2. 12
5
0
-3
-4
-3
0
5
12
3. -9

MO -HOmM>»-1AmMoOOmMmW—ZI>»m

2
3. (71,2
4

-2 A
3 H
6 S
7 E
6 U
3 B
-2 C
-9 T
4, 1 N
1 w
-5 E
-7 H
S

R

K

11

Because he wanted to
kiss behind the ears
Page 237
It is not intended that
students graph these
functions, but rather
that they be exposed
to a variety of more
complex functions.
1. 6
0
-1
-2
2. 9
-7
28
-124
3. -3
-15
-35

N
()

-24
-8
-6
He could never get his
calves together
Page 238
1. (2,1)

2
<OOUIGZOCHA<OI—mMIMCMIMO>»r mM-Omw-aAInmr
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5. (0,2) (-5,1) Page 244

(1,2/5) (2,3) 1.
6. (—6,2)(1/2,—1/5)

(-1,0) (32, -1)
Cowboys like to horse
around
Page 239
L 6 R 13
F 15 V 5
A 10 O 16
U 3 M 7 2. 6,210, 001, 000
T 12 H 17 3. 6
E 18 B 2 4. 12
S 8 1 14 5. One vial of water
Y 1 N 11 in one box, the
D 9 C 4 other 11 vials in
They could never find the other box
another man of his 6. 9999/99 .
calibre 7. They are the first
Page 240 letters of the

number words
(one, two, three
... hundred).

Since the graph of
each equation is a
straight line, only two
solutions are needed.
The simplest solutions
are of the form (x, 0)
and (0, y).

She lost her whey
(lost her way)

Page 241

You may want to pro-
vide students with
copies of page 233 (or
print it on the back of
this page) for graphing
these systems of
equations.

The old cow who
finally kicked the
bucket

ONOPRON=SPJIOTMOOW>

[{]

10.
1.
12. S

They start on a small
scale

>PDr<ZO0-HAZITmMmO o
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